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1 : Whatisthe name of artery? | shell &bl dTH
FATE?

A Facial | Bf&3Tel

B Cardio | Fifsar

C Brachial | STraer
D Temporal | CICED

2: What does the symbol refer? | Udle &1
geftar g2

S We

A : Physical hazard | eMIRe SNTEH
B : Biological hazard | Sifde @RT

DCN110121

Ergonomic hazard | wifAfAs @
D : Noise and vibration | ¥ 3iR HUT

3 : Whatisthe term of the outermost layer of

earth? | G2 Y G STEL Il T FIT gl STl

A Lithosphere | TUTHS ST
B : Atmosphere | EIT«’EI}ET»I’
C Hydrosphere | gT83IEHhIIR
D Thermosphere | ZHEHRR

4 : Whichisthe most accepted method of

avoiding accident? | Wﬁmﬁmw
AT T AT &2

A : Wearing safety equipment | Y& 39hI0T
g

B : Doingthingsin onesown way | =it st

39 A E AT
C : Performing with highly skilled working

practice | W?QWWQ?WW‘\’W

il 3HFATH_
D : Observing safety precautions related to job,

machine and working place | AT, 7L 3R
HRIEY Y He e GI&TT HTaeITieidy T Jicelichel
CRGI

What is class D fire? | class D 38T AT &7?
Oil and fats | deT 3R a@r

Flammable liquids | SaeteT2iTer alel
Combustible metals | aE?-I'QﬁT*I"ETIFT
Energized electrical equipment | EICIGH

%a?mww

O O m™m > un

6 : Whatis ABC of first aid? | wrafae Rafercar
T ABCFATE?

A : Aid, break, control | HalIdT, IR H IGRELI
B : Avoid, bleeding, control | afr, Eﬁﬁ?@%",
IGRENS

C : Airway, breathing, circulation | EIT{ID'FI'I?EF,
aTH, TREROT

D : Accident, bleeding, circulation | ZSEEEFIT,
(AT, IREEROT

7 : Whatis the percentage of oxygen in
atmospheric gases? | Wmﬁm
wm‘?reraﬁo_cm%‘»

A 78.03 %

B : 20.99%

C : 15.88%

D : 1241%
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8 : How occupational disease caused in
industrial environment? | mWﬁ

TS STANT & deT €52

A : Negligence | dIT9Rarar

B : Lack of knowledge | Tl ST T

C : Improper handling of machines | et v
FFegfera esfear

D : Persons exposed to substance or process |

aere 1 9fshar & §udh H 3 aret g fard
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9 : Whatisthe designation of 420 x 594 mm size D : Unidirectional dimensioning | 3T5cTeT
paper as per BIS? | @'W*WMO x 594 AT

TR 3TTHR & HRTST T USATH FIT &2

A Al 13 : Whatis the name of scale? | Tohel &l oITH
B A2 %?

C A3 FAT &7

D A4 5

10 : Whatis the part of a circle bounded by two
radii on its arc? | 3791 ATT 9X &I F3=a GEIN E\3)

TTTT TTTT T TT T IoTT T

Teh g T AT Fa18?

A Circle | g

B Sector | AFeX F
C Segment | BIMHT

D Semi-circle | 9F-Tehel

11 : Which symbol represents double leaf
double swing in window? | T&SHI 7 i AT I

9l UiY 39l f&g91 a1 wfafafca searg?
Diagonal scale | et damaT

v /\r % % 777
Comparative scale | F_ﬁﬂ'l?ﬂﬁ?ﬁ?:l'l?ﬂ

¥e80 42 0

1009 &r 04 Q2 b4 0

Plain scale | STEIROT YHATAT
Vernier scale | afera SAT=T

O 0o ®w >

A .
B
14 : Whatis the name of part labeled as x? | X
#9426 SERLIIA NN\ ESXSS‘}<X>QZZZQ % &9 H oldol fohT ITT $T19T T AT FAT &2

¢ D
12 : Whatis the name of the dimensioning
arrangement? | TaHTeheT STTEAT T ATH FATE?
70
e 9
T T 4
X 40 40
3 o B ~%
| " | d s ‘e Plug | coraT

A : Chain dimensioning | ’B‘I:@T»IT%JTIW
. Parallel dimensioning | HHTITAR fa# TRt
C : Aligned dimensioning | TR A&t

Fuse head | UFJ(\H%‘S’
Base charge | ST ATt

Priming charge | mﬂiﬂﬁ

O 0o w >
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15 : Whatis the name of dressing of stone? |
e T ST T ATH FAT 72

A Dragged finish | g?l's'ﬁ?ﬁ'ﬂ

B Furrowed finish | TR fihferer

C : Reticulated finish | Yfeghele fhfarer

D Hammer dressed finish | 85X 393 fthferar

16 : Name the arrow pointed in spacing of

drawing sheet. | 31531 2ffe & IR H TGU T AR & r
ATH ST |

I §
B § B
~ T+ T+ [« T+ T« [ + T

A Trimming edge | fefHT Tt
B Border | AT
C Orientation mark | 3TRUERIT AT
D Frame | T
17 : What the arrow head denotes? | dIX AT
far T getars?

A Battens | ScaT
B : Strips | FecH
o Ebony edge | SaI=iT Tol
D Holder | TesY

18 : Whatis the part marked as x? | XHETH

RIfEAd AT FAT 8?

A Screw | €%
B Head | X
C Blade | =3
D Linkage | shar

19 : Whatis the angle between the stock / head
and blade in T- square? | T- TFaIT & Tl / [T

3R sz F ST FTRIUTFATE?

A : 30°

B : 45°

C : 60°

D 90°

20 : Whatis A4 designation for untrimmed size
of drawing sheet? | 31847 2fie & f=TT e aTel A4
G eATH T TR FAT 57

A : 450x625mm

B 330 x 450 mm

C : 240x330 mm

D 165 x 240 mm

21 : Whatis the material for given symbol? |

T T ydies A FeRIT FAT &2
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A Stone | 92X

B Partition block | feTTSTeT selleh
C Cone | ?i?

D Brick | €

22 : Which is the object for given symbol? | f&@
T Gclleh & fOT a&g FA18?

VA

A : Rolling shutter internal | 3TdRes UTeleT 2T
B : Sliding door internal | 3T TelTa3aT

C : Sliding door external | STELT TS TSIT GIATS
D : Rolling shutter external | ST ATeIaT AT

23 : Which BIS code no is recommended for

folding of drawing sheets? | S’I???T ofie I A

T forg S13mSTy s i AwRer Hr oy §?
A : IS11664-1989
B : IS11664-1987
C : 1S11664-1986
D : IS11664—1981

24 : How many vertical folds come under ‘A0’
size trimmed drawing sheet? | ‘A0 ' 3T I FHer

gS 35T M & HAAT fohat FTAER Hies
3md g7

24a : Whatis the untrimmed size of A5
designation drawing sheet? | %mwgé’/xs oATH
oY STST M1 ST Tl TR AT &7

A : 450x625

B 330 x 450
C : 240x330
D 165 x 240
25 : Whatis the size / height in mm for material

list and dimensioning in drawings? | E@TQﬁEﬁ'
arHA T o ferw TR 7 fasTeRe ot 3 /

ﬁéwz%
A 9to 10
B : 7to8
C : 5toé6
D : 3to4

26 : Whatis the discription of E1 hidden
outlines? | E1 @3 T3¢ clSsT ol fAeielg FAT 82
Dashed thin | 9ol 39
. Chain thin | 9dell T
C : Dashed thick | #leT3®
D : Chain thick | BT et

27 : How the dimensions can be read in aligned
system of dimension technique? | 3TTHAT &r

HTITH dehelieh & TTE JOTel H 8 TeT 51T
Hehell §?

A : Left hand edge of drawing sheet | S’IS?T efic
& 10 T & fohedR &

B : Right hand edge of drawing sheet | S’IS?T efic
F TR BTy F e Y

C : Top to bottom | FUX & =

D : Bottom to top | s & FUX

28 : Whatis the description of ‘G1’ in centre
line? | &g Y@T &/ G1' FIT §?

A : Chain thin| 9dell A>T

B Dashed thin| Idel 38

C : Dashed thick| #leT 39

D Continuous thick | eRTTAR AET AT
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28a : How the unidirectional system dimensions

are placed in engineering drawing to read? | Teh

feefrr yotrely A SN faaer g & [aArR &a

FAB?

:  From the top of the drawing | E@TQ'TW@
From left side to right | m‘é’mﬁa‘éw
From the bottom of drawing | s'l?;;?Ta'TFﬁ?T?f
From right side to left | EIE“»’W@E’I%’W

O 6 w >

29 : Whatis the size / Height in mm for sub -
titles of drawing? | 31331 & 39-2feh & forw fAefr

3THR / TS FAT?
A : 3-5

B : 6-8

C : 9-10

D : 11-12

30 : Whatis the scale used generally in MAPS ?
| 3T AR TR MAPS # TeheT YT T 82

A : 1:108

B : 1:107
Cc : 1:10°
D : 1:10°

31 : Whatisthe R.F, if an actual length of
distance 5 m represented by 25 mm length? | IS 5

Frex 1 gt i arediaes oars 25 fAHA H ofars @

e fTd 8 to 3TRUT, FAT &2
A : 1:2000

B : 1:200

C : 1:20

D 1:2

32 : Whatis the name of given scale? | flgTarw
YA FT ATH FATE?

D c
10 j X
9 Tk
8 /h viii
7 /g vil
6 /f vi
5 /° v
4 /d v
3 /c ili
2 /b il
1 i
a
A B
A Plain | HTETOT
B Comparative | JelellcHs
C Vernier | afelR
D Diagonal | fd&rot
33 : Which scale is used to construct angles in

absence of a protractor? | Yleerex &l Jqafedfad &
10T TATaA & TIT fohd AT ST 39T R T SATeT
e?

Diagonal scale | faeroT d&TaT

Comparative scale | F_ﬁﬂ'l?ﬂﬁ?ﬁ?:l'l?ﬂ

Chord scale | Shrar YTy

Plain scale | arer AT

O 0o w® >

34 : Whatis the given scale? | T3 T YA
FATE?

o S5

0 0 = © L " L] 0
b b b L oo s e Lo L b o b oo oo o L e L L

| | | | | | | | ) | | | | | | |
© ® [P ® |[® wo| 10 1= 10 @ o 170 [0 90 | 200 210
2 = o . 104 122 140 158 178 o F |212

A Plain scale | grer AT

B Comparative scale | @F{WW

C Diagonal scale | ot SaTar

D Vernier scale | iR AT

35 : Whatis the classification of igneous rock? |
39T TCCTA T FITTHIUT FIAT &2

A : Geological | Nﬁiﬂm
B : Physical|3ﬁﬁ$



Draughtsman Civil — Semester 1 - Module 2 : Basic Engineering Drawing
Reviewed and updated on: 015 November 2019 Version 1.1

C : Chemical | TEAfAS
D : Practical | ¥ Feshor

36 : Which lime is used for construction of
masonry? | RIS & fAAT0T & forw mﬂﬁ?ﬂ
W%&Tm%?

A : ClassD

B : ClassC

C : ClassB

D : ClassA

37 : How many grades the ordinary port land

cement is available as per IS specification? | 3-11%'@1?
o TafoIERreT & 3THR AR Gicels HHC &

ﬁmﬁﬁgm%?

A 2 grades

B 3 grades

C 4 grades

D 5 grades

38 : Whatis the percentage of cement water

proofer in powder form for all water refining

structure? | T ST AT TITT & [T II38T
W#mﬁtmmwﬁemw%?

A 13 to 15%
B 11to 12%
C 06 to 10%
D 02 to 05%

39 : Whatis the projection if the receding lines

are drawn to % scale? | e 3Tadt 3@ % YAt |
aﬁ@as’ra’rqﬂqw g?

Cavalier projection | Faferax werqor
Cabinet projection | Fiaie gerqur
Clirographic projection | [FeRIanfthe weqoT
Axonometric projection | TFAIIIHTCH
Er?ﬁ'CI'UT

O 0O w >

40 : Whatis the part marked as x? | X FTH

AR HeTFAT 82

A : Blocking course | SelifenaT I
B : Cornile | Piforel

C : Cortel | ®1EA

D Lintel | 3Gl

41 : Whatisthe part marked as x? | Xh §TH

\
|

Corbel | Elflé?—l'

Blocking course | SelifenaT I
String course | @Tm
Frieze course | ﬁﬁl’r‘ﬁ'\‘fr

\u

O 0o w >

42 : Whatis the part marked as x? | X & & H

Rfaa smerFar g
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C : Dragged finish | 3913 fthforer
D : Polished finish | Giferes ftrfarer

A Corbel course | RS P

B Cornice course | P HIT

C Blocking course | SelifenaT I

D String course | @Tm

43 : Which rock has a main content of silica? |
ﬁmmﬁﬁﬁwwmw%?

A Argillaceous rock | 3-11??1'&'?4221?{

B Siliceous rock | faTerrTHI T

C Calcareous rock | el X2l TCCTeT

D Foliated rock | ®BIfITCS AT

44 : Whatis the classification of marble? |
HITFRFR T FITTeheoT FT &2

A Metamorphic rock | Ktnaﬁﬁa‘ga?r
B : Foliated rock | Bifelues aceret

C Sedimentary rock | ToTSC! G2k

D Igneous rock | W@H

45 : Whatis the name of stone dressing finish? |

Tl 3T rfarer s AT FaT 82

A : Boasted finish | d1¥cs fhferer
B : Dragged finish | 3913 fthforar

46 : Whatis the colour code for brick materials?
| &W%%ﬁrmaﬂgw%?

Vermilion | SR egeT
B Cobalt blue | Ws_ql'\

Payers grey | 9y
Harbors green | &9 T

o O

47 : Whatis the name of the symbol? | Iciteh ST
ATH FAT§?

//F\\\

bbb bbb b b b

RN RIIEN RN RN RIS Y
\—//

A Cutting | Eh?'lé’

B Embankment | JeaeT
C Culvert | gﬁqu

D Bridge | Jel

48 : Whatis the name of the scale that is
denoted by 5 : 1? | 3 Thel I ATH FAT§ o1 T 5: 1

@raafrmm%‘l
Full scale | Wﬁfﬂ'l?ﬂ
B Plain scale | ITeT ST

C : Reducedscale | WﬁﬂTg’ﬂTﬁmﬂT
D : Enlarged scale | aﬁ’gﬂ'ﬁ?ﬂﬁ

49 : What is the name of the test that to
determine the durability or weathering quality? |

GIGTUT &7 ATH FAT § i TATR-Ica IT 37987

&)
A Impact test | sTﬁT#E' T

B : Smith's test |T&HY TdigToT

C Crushing test | SATRI3T greToT

D Crystallization test | fhEcelehoT TXI&TOT
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49a : Which quadrilateral has all the sides are
equal and angles are not at right angles? | Topg

TSt A T 3T AT § 3R 0T HABIOT TN
Fl?r%‘?

Rhombus | T H®RIOT

Trapezoid | a?;ra_isr

Rectangle | 3TId

Rhomboid | fTas&eRIoT 3Md

O 6 w >

50 : Whatis designation of drawing sheet used
in 700 x 500 x 15 mm size drawing board? | 700 x

500 x 15 THHY TR & a1 a1S A TgercT 3157 AMe

I UCATH FAT§?

A : A0

B : Al

cC : A2

D : A3

51 : Whatis the maximum degree can be
measured in circular protractor? | JATR AT, H
yﬁm%ﬁmﬁmﬁrmm%"?

A 360°

B 270°

C 180°

D 390°

52 : Whatis the process in manufacturing of

bricks if the clay is made lose and any ingredient to

be added to it? | aﬁa‘gaﬁaﬂmmaﬂwﬁé
3T e ol SHH SIST SATAT §, AT ST o T ATOT ShT
Qﬁmg‘l—cﬁ?

A Weathering | 3987

B Cleaning | Fl'qv'lé'

C Tempering | SFIRaT

D Blending | seifSaT

53 : Which rock has main content of calcium

carbonate? | ﬁmmﬁ%ﬁ%maﬂaﬁtﬁ@
Wﬁ?ﬂ'%”

A : Argillaceous rocks | mzrazaﬁr

B : Siliceous rocks | FafelrtdT aceret

C : Foliated rocks | BIfelTes TccTat

D Calcareous rocks | ShelhRIL T

54 : Where the rear view is placed in first angle
projection? | WqﬁWWWﬁW\J
@I E?

A : Rightside of right side view | aéma@ﬁ
FIaTS 3R

B : Bottom of elevation | ﬁ'lé’?l#lﬁ

C : Leftside of right side view | a'l?“?;ﬁ?a??‘\’qﬂ'?
CIEKIIR

D : Topofelevation| & ﬂléﬁm

55 : Where the planis placed in third angle
projection? | mﬁquﬂWﬁﬁT\y
@I E?

Below elevation | Tellaelel o =T

B Above elevation | Telldele & U
C Left of elevation | ToIIARI & §TU 19T
D Right of elevation | TRl & STy 19T

56 : Whatis the property of material to absorb
water vapour from air? | a’rzrﬁa?vrawcra?r

aa%ﬁiﬁaaﬂﬁésﬁvqaﬁﬁﬁ%mwgp

A Hydroscopicity | msﬁrmﬁﬁé‘r

B Water absorption | STel 37@2NyoT

o Permeability | IRfATTaferEr

D Durability | TgsTefferdr

57 : Whatis known as the capacity of material
to permit water to pass through it under pressure?
| EST A GTelY & JeRaA BT AT &3 o frw
AR &Y &7HAT & T H FIT ST ST 82

A Durability | feraaeT

B Permeability | IRIATTIToEr

C Porosity | EXYAT

D Ductility | eriTeTdeT

58 : Which testis conducted on stone to study

minor constituents grain size? | Hmﬁﬂfﬁéﬁa'lﬁ
& TR T HETTT Flel & [T T2 TR el AT
gLT&ToT fohaT ST 82
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A Freezing | ShTfoiar

B : Smiths | &HY

C Microscopic test | FTSshIEhITIh II&TOT

D Hardness | SaRdT

59 : Name the process of removing about 20 cm

depth of soil to a certain area for manufacturing of

brick? | 3¢ & fAAOT & faw v ARTT & &
TATEY T AITHIT 20 THT IERTS FI gl T FTohdT

T ATH dATST?
A Unsoilinglﬂﬂﬁgﬁﬁ
B : Tempering | €FaRaT
C : Blending | seifSaT
D Cleaninglﬂ'q?l'é'
60 : Whatis marked as x in brickwork? | éfaé?
FxF e HFr RRATE?
1
[ I [ s .2
T r=>x
| I ]
[ | [ | ML

A Cornice brick | Eﬁﬁﬂ'é?

B Bullnose brick | aTvIFﬂGI'éE'

C Cant brick | érdé-cr

D Round ended brick | 733 T3S T

61 : Which testis conducted to know the
classification of lime? | <[ T GaTTehTOT SiTeTel &
forT snleT |1 T80T fohaT ST 87

A : Balltest | el TYeToT

B : Visualtest | faqmqfrm

C : Impurity test | chﬂﬁ'aqff&TUT

D : Workability test | ghfafardr adretor

62 : Whichis the test done using vicat

apparatus? | Tdhe 3UHTUT ST ITTNIT Feh hied AT
qﬁmﬁmm%?

Fineness test | BISad ULI&TOT

Compressive strength test | ATHT T TTC
Soundness test | €afel gI&TOT

Tensile strength test | _x000D_ de QI
qfraTUT x000D_ 1 - 2%_x000D_ gTS3IthlTaeh
H#HT_x000D_ 21 & 25_x000D_ Hethe ahT TaRIeT
e

O 0o w >

63 : Whatis the percentage gypsum added in
manufacture of cement? | THE & THATOT F fohcteT

gfaerd foeas Ser ararg?

A : 7-10%

B 5-7%

C : 3tod%

D 1-2%

64 : Which cementis more suitable for the

construction of chemical plant and furnace? |

T oo TIF 3R HCET o TAHATOT & forw spler &
e 31f8eh 3ugFa &2

A : Expanding cement | ToEUT=SdT HIHT

B : Highalumina cement | mu&q@m%ﬁﬁt
C : Extrarapid hardening cement | TFEST
grsfeier HiFe

D : Hydrophobic cement | a@ﬁﬁﬂ?m

65 : Whatis the proportion of cement water
proofers for water tanks in paste form? | I ®TH

qreAT <y Efehat & foT didie alex e &1 3fegard
FATE?

A 1to 10

B 11to 15

C 16 to 20

D 21to 25

66 : Which cementis more suitable for

construction of abutment and piers? | TgeHe 3R
Ot & To#ToT & forw aler &1 Hiie 31fereh 3ugera
g7

A : Highalumina cement | 3Td Wjﬁ?ﬂ%ﬁ'ﬂ’d
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B : Rapid hardening cement | T’fﬁgméﬁmrﬁﬁt
C : Modified port land cement | :Fﬁ%cms‘s'
Gicels HHT

D : Sulphate resisting cement | Hothe IraATedT
HFe
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67 : Whatisthe name of the part labelled as x?
| X & §9 F oIdol fohU ITT $T19T T T3 FAT &2

A : Pith | O

B Bast | IT¥C

C Sap wood | @'Criil:s'

D Heart wood | B‘Ié'g’s’

68 : Whatis the name of form labelled as x in

bricks masonry? | é?ﬁﬂ'lé’ﬁ'xa?mﬁmﬁ?ﬂ'
T BIH I ATH FIAT 57

X

Header | ?BT

Quoin closer | FdIe Fellolk
Queen closer | FdIeT FellolX
Quoin stretcher | FdTeT T¢TAX

o 0O w >

69 : Which type of paint is applied for iron work
under water? | 9Tl o 316X g o 1A & ToIv fh g

TR ST Y ST STl g2

Asbestos paint | T&S¥ed 9T
Cellulose paint | ﬁ@l{\?«ﬁ?qﬁ
Aluminium paint | Uﬁlﬁﬁ'ﬂﬂ'qﬁ'
Bituminous paint | %@'ﬁ-l?m'elﬁ'

O O w >

70 : Whatis the name of stone joint? | JeR &
SIS HIATH FATE?

A Lap joint | ?TcraTsE

B : Buttjoint | El'c"ﬂ'{l)ﬁ*?r

C Tabled joint | celS

D Tongue and groove joint | awugaga’rs'

71 : Whatis the name of brick? | étwamw

A : Kingcloser | fhaT FellolX

B : Bevelled bat | S8 d¢

C Queen closer | FAT FelTok

D Mitered closer | #TSES FalloR

72 : Whatis the name of the wall? | GIaR T
SATH FATg?

™

™=

o A I ¥
A
iy

!
!

T
:
5y

!

6
5)’;?

K
o

)
| 1". RSN
i’ \
by

i

™

i

’’’’’’’’’’’’

A : Stone facing with backing | T&IeT Bi&eT



Draughtsman Civil — Semester 1 - Module 3- Masonry
Reviewed and updated on: 01t November 2019 Version 1.1

SfeRer o @rer

B : Stone facing with rubble backing | T&leT
TTR3T T&TeT SfehaT o T

C : Brick facing with concrete backing | Tl
13T TS eI SIfehdl o AT

D : Facing of brick works and backing of ashlar

masonry | éﬁlﬁ@'ﬁﬁ&ﬁ'{ﬂ'ﬁmﬁﬂﬁﬁ
afeher

73 : Whatis the name of tool used for setting
‘angle in brick masonry? | éﬂ' ﬁl?ﬂé' H HioT HY
Afear & AT Sgerd IUHIOT @ AH FIT g7
A : Bevel | S9d

B : Plumb rule | ois &l
C : Masons square | H TFARR

D : 1meter‘U folded rule | 1 #eX ‘U '®less
ol

73a : Which rigid board is known as pressed
board? | fFT FAR S FI TS NS & T H AT
ST E?

A : Plywood board | WE@?E’I?

B Compreg board | FEOIT SIS

C : Fibre board | WIS‘&ITEI’I?

D Laminated board | Affses s

74 : Which surfaces are recommended with
cement paint, emulsion paint, oilpaint and silverate

paint? | HHC Ue, HeRwT Ue, H\Eﬂﬁ?ﬁ@w
e & AT FioT HY ATgT T TR IHT T SATch &2

A : lIronsurface | oig FT Tdg

B Plastered surface | HHd el Hdg

C : Wood surface | oTharl FT Tdg

D Metal surface | U@@TW

75 : Whatis the term used for covering or
killings of all knots in wood surface by red lead? |

SITeT T GaRT oTeha &hl Aclg H T gefY arat &l
geTel & Torw fohd erse 1 3UeT fohar SITaT 872

A : Finishing | RfATRYaT

B Knotting | sArfear

C Stopping | T&ITAaT

D Cleaning | lq'q?lé

76 : Which metal consists of copper and tin? |
T 3R Rt R erg A A @1

A : Bronze | T

B Brass | 9Ydel

C Dow metal | 3ig Acd

D Nickel silver | fo¥erel Tmer

77 . Whatis the part marked as x? | X T H

RIfgaa smerFarg?

A Coping | I

B Parapet | IRT9T
C Throating | ZTEaT
D D.P.C

78 : Whatis the name of brick? | S¢ T ATH FAT

&?
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Cellular clay brick | WWW
Hollow clay brick | @&l &Fef folan
Hollow concrete brick | @& ShshIc Tseh
Perforated brick | %féﬂé?

O O w >

79 : Which is the market form of timber with
parallel sides having thickness less than 50 mm and

its width exceed 50 mm? | 50 fRH & HH Aers
qTel GHATATAR ATSST oh AT Tehal T SToTR &9 FT

%ﬁ?gﬂiﬁrzﬁaéso e & st &2

A : Plank | Sl

B : Pole |9l

C : Deal | St

D Bulk | STeeh

80 : Whatis the process of removing moisture
present in freshly felled timber? | Wﬁlﬂg@'
TSt H FIS[G THT T Gl chl Fshar T §?

A : Hardening | grsfaer

B : Stiffing | &cfhar
C : Sapping | 8%
D Seasoning | #FHTAT

81 : Whatis the artificial seasoning while timber

immersed in a solution of suitable salt? | 39gsd
T Heh o el # olehs! &l el THAY HiFH AT
FATE?

A : Chemical seasoning | TARITeIeh HsTfaiar

B : Electrical seasoning | mm
C : Water seasoning | arex Hratfeiar

D : Kilnseasoning | foheet Hiotfaiar

82 : Whatis the defect due to seasoningin

timber? | oTehaY H HISTTeI9T & SHRUT gleT T &Y
g?

A Cup | &9

B Bow | &F

C : Split | cae

D Warp | arg

83 : Whatis the use of thin sheets of wood

varies from 0.4 mm to 6 mm thickness? | TThar T
0.4 TA#T & 6 TAHY I I Alers Fr gdeir 2fie Fr
FIT 39T 82

A : Plywood | Wl'éﬂ's'

B : Fibre board | CFIB_@ITEI’I?

C Laminated board | JdfFaes ag

D Veneers | a8

84 : Whichis the smaller timber block up to
25mm width used for construction of bus bodies

and marines? | g a8 3R 70 & AT & fow
3T T ST arelt 25 TR TS d& iy Sy
m@rwﬁﬂﬁr%"?

A Laminated board | e B [

B Fibre board | CI"TIE':EITEﬁé

C Plywood | Wvl'léﬁa's’

D Block board | sl &S

85 : Whatis the process of surface smoothened

by rubbing with sand paper or pumic stone for
varnishing? | mﬁf@w%%&rﬁgwmw
TN & ATY WISHT AAG I [hadl el ahr 9fshar
FATE?
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A Application of surface | WWH@WT A Header | 3%
B Preparation of surface | HAG P dIRY B Quoin | FATT Fellolk
C Cleaning of surface | Wﬁ"ﬂ"ﬂé’ C Bed joint | a's'\_rﬁsf
D Finishing of surface | gdg $r AR D Stretcher | T¢TWX
86 : Whatis the term used for the pores on the 90 : Whatis the part marked as x? | X3 & &
surface are filled up with boiled linseed oil? | Tdg R AT FT
T 5t o forw 3arel g3 JHerel o fore ygerd ersg
E LT T T T T 1
A Grining | fsar X @||‘|||||||||
B Stoppinglﬁﬁﬁ \ I | [ et = |
C Knottinglﬂﬁ'ﬁ?T %||‘|||||||||
D Sagging | &f3TaT
A Queen closer | FdTT FeATolX
87 : Which metal has content of aluminium B Stretcher |
. retcher | T¢I
alloy 94% copper 4%? | fer& &1 # TogAlas
) > C Header | 85X
T307 eI 949% e 4% &7 Quoin |
D uoin | Fdl=
A : Brass | 9ide
B : Bronze | Sl 91 : Whatis marked as x in masonry? | ﬁ!ﬂ'l'é’ﬁ'
C : Dowbell | ST@e % 3 & 3 T FfEa ¥
D : Duralumin | Wﬂ /X
88 : What for the corrugated sheet form of steel %l | | | | | f/] ‘ [ | |
in mostly used? | T & ATIGR 2 BIe &7 _%[ | | | | | | | l [ | [
31f8eRaR 39T forg fore fRar Strar &2 %lllllllﬁkl_l
A : Structural work | EXTeITcH T 7 T [ [ [ T 1
B Roof covering | ®F HaRaT
C : Grillwork | Frerae A : Stretcher | R
D : Reinforce cement concrete | gafeld dHe B Bed joint | 3’5’373‘6
FSIC C Quoin closer | FdTeT FellolX
D Quoin | FdTeT
89 : Whatis the part marked as x in masonry? |
RIS & x F T H RETT smerFar e 92 : Whatis the stone joint used in stone
masonry? | qFWEﬁfi%lﬂléﬁW TR A SIS
T a?
7 T 1T T T T §
[ [ [ [ [ |
1 [ 1 [ [ |
[ [ [ [ T 1
0 e s s
g 1 1 1 [ [ |
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A Plugged joint | TeldlS

B Rusticated joint | T&EThes 5|U'I??E'

C Tabled joint | 3@«33!732’

D : Buttjoint | §€ JiSc

93 : Whatis the stone joint used in stone

masonry? | W@rﬁaﬁﬁwwwaﬁg
FATE?

A : Saddled joint | 853 HYF

B : Buttjoint | §€ HYF

C : Tabled joint | Tse3 Siise

D : Buttjoint | §€ JSC

94 : Which stone joint is used in arch work? |

3T I H fhg IR & 18 &7 39I1eT v SATdT
g2

A Butt joint | atsﬁs‘cr

B Table joint | ¢so3 Gﬁ%‘c"

C Rebated joint | iiiaégsﬁs‘t

D Joggled joint | STTaTes S8

95 : Which masonry has provision for clamps or

dowels between facing and backing of wall? | T&rg

TS & SraR &1 AT e 3R FHAA F
FAT IT Saed FHI HTTeT §?

A : Stone masonry | W@I’ﬁ?ﬂ?‘{

B : Brick masonry | éﬂ'ﬁFﬂé\'

C : Brick masonry in mud mortar | #S HAIC =

D : Composite masonry | Wﬁﬂ'lé’

96 : Whatis the name of masonry? | iaﬂlé T
ATH FAT 82

OGO
Y < T -
A LS
RO O\

== Mo

Se@ele

é\
-
A Dry rubble masonry | srémﬁlmé

B : Random rubble masonry | Qgﬂmﬁlﬂ'l'é’
C
D

Coursed rubble masonry | FIYS W i%Ia'-Ilg
Coursed rubble masonry 1st sort | FIOS 1st

IECERABEIE

97 : Whatis the stone masonry? | Gc2R hr

RS Farg?
()

<

Coursed rubble masonry | me
. Coursed rubble masonry 1st sort | PIUS 1st
Qe Il TS
C : Coursed rubble masonry 2nd sort | FIS 2nd

Qe Il TS
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D : Coursed rubble masonry 3rd sort | $IES 3rd

e ool FaaTs

98 : Whatis the name of masonry? | i%lo_-llé Al

ATH FIT 82
=

A : Polygonal Rubble masonry | a'gagsrm

[ECIES

B : Coursed Rubble masonry | aﬁ?ﬁ?mﬁlﬂlé'
C : Coursed Rubble masonry 1st sort | FIOS 1st
Qe Tel =TS

D : Coursed Rubble masonry 2nd sort | IS
2nd ¢ & A8

99 : Whatis the stone masonry? | e &l

RS FaT 8

A Ashlar rock | 31RTelX TCCleT

B Ashlar rough tooled | HQIFITWB—T‘E’IT

C Ashlar fine | 31RMeIX WIS«

D Ashlar chamfered | 37ACR AFFS

100 : Whatisthe joint used in stone masonry? |
TeR I =TS A SugFI SIS 8?2

Rebated joint | ﬁﬁ?@'?ﬁ%ﬂ'

Butt joint | € Siise

Tabled joint | EEF_-‘IGIUEE'

Tongued and grooved | E‘.?TU_S'?’JI‘\HEﬁ's'

O O w >

101 : Which stone joint is used for coping? |
FITAeT & v fhd IeuR & Siig &1 39ter foram
ST 82

A Tabled joint | éa?s'sﬁs‘c:

B : Plugged joint | SIS SIS

C Joggled joint | ST SIS

D Cramped joint | $he<8 T8

102 : Which masonry has regular stones of
square or rectangular shape with accurate bed

joints? | ﬁﬂﬁﬁﬂﬁﬁﬁ%ﬁ?ﬁ%%ﬁ
T IAATRR ITHR & AT g gl 82

A : CoursedR.B | IS 3.4

B : Uncoursed Rubble masonry | 3RS WA

s

C : Ashlar fine masonry | H%Wtﬁlgﬂiﬁﬂlg
D : Flint rubble masonry | feie Iaer =g

103 : Whatis the name of bond used in
masonry? | TS # Ygercl SreT T +ATH AT B2

English cross wall bond | 373G g atet

>

B Dutch bond | EREIGE
C : Facing bond | BfEIT S
D Racking bond | T as

104 : Whatis the part marked as x in brick
course? | &Wﬁx?@ﬁﬁ%ﬁﬂm
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FATE?

Rear Wythe | RIT Wythe
Stretcher course | T¢TT HIT
Front Wythe | 9THs aTell
Header course | %BTW

o 0O w >

105 : Whatisthe bond used in masonry? |
TS & I S FAT g
| 1 [ [ ] ]

I N N N

A : Diagonal bond | A&l dfes
B : Garden wall (English) bond | IS Era”
(3735M) Sies
C : Monkbond | Hieh Sics
Single Flemish bond | Tehol FATHLT TS

106 : What s the form of connection in brick
work if the enclosed angle on the side of the wall

should be between 90° to 180°? | 3TR GlAR &
eI TeldaT HIUT90 ° W 180 *h AT BT ar S &h
FIH H FARAT FTFATEIE ?

Squint quoin | T&FdT FdleT

Acute squint quoin | W@WH@H
Right led | T3¢ I3

Obtuse squint quoin | WWH@H

o 0O w >

107 : Which bond consists of alternate courses

of headers and stretchers? | ?ﬁﬁ?@?ﬂ'é’?
denfedeh SIAT H Shisl T SleS 8l o7

A Monk bond | Hish §fes

B : Racking bond | T stes

C Dutch bond | 3T §¢IT

D Facing bond | ST §les

108 : What is the name of bond? | qieg T ATH

A Rat trap bond | it;tcraﬁFs'

B : Brickonedgebond | éE'UGTEﬁ'E

C Flemish (Single) bond | FITHer (Tahel) §1eT
D : Flemish (Double) bond | FITARr (Seel) SETeT

109 : Whatis the name of the defect in timber?

| SThST H 1Y &l ATH FATE?

=

Cup shakes | &9 2
Star shakes | T€R Ak
Radial shakes | 33T A

O O w >
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110 : Whatis the dead load? | 33 A5 &?
Roof | &d

Snow | fgdaTa

Wind pressure | 8dT <hl G&ld

Men and animals | 3T&HT 3R SATAaR

O 6 w >

111 : Whatis the name of tool? | Cel T ATH
FATE?

Va

Shell auger | et 3R

Screw auger | F:Ijﬁ"l?'lT

Post-hole auger | 91Ee glel 3T
Wash boring auger | arer SRET 3R

o 606 w >

112 : What is the name of foundation? | Sid T

Raft footing | ITFC TeaT
Strap footing | I-A;!'qcﬁa TeaT
Rectangular footing | WT@T

Trapezoidal footing | gqla‘fssa Eljﬁ?T

O 06 w >

113 : Whatis the name of the foundation that is
due to heavy inflow seepage and not possible to

excavate the trenches and keep them dry? | 39

ITa T 118 T § ST TRT 916 o (oW, WTSAT hr

@m%ﬁﬁwwm%%mm%p
Pile foundation | WIBT»I’CFB?‘\’H

B Raft foundation | JTFE HI3SLAT
C Spread foundation | T8 id
D Shallow foundation | 3T oiid

114 : Whatis the name of the piles that are
driven at an inclination to resist large horizontal or

inclined forces? | @ﬂﬁam%aﬁwﬁﬂv
el & foIT Uk S[ohTd IR SIMTT 3T ATl I ATH
FATE?

Batter piles | §¢X UTged
Sheet piles | effc UTged
Anchor piles | TehT UTSed
Fender piles | He IiSed

O 0o w >

115 : What is the machine foundation bolt? |
M BI332UT Slec FAT g2

Eye bolt | 3G Siec
Rag bolt | YT diee
Lewis bolt | ﬂé}qw
Cotter bolt | I dleT

O 0o wv >

116 : What s the footing for heavy loaded
column that require greater spread? | I @IS dTel

i3t 35 T T & Fore 37 SR
JHTaRTHAT Bl &2

A : Wallfooting | ATl siig@

B : Sloped footing | arq\?ha
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C : Spread footing | TS did
D : Stepped footing | T8 i

117 : Which type of foundation is
recommended for black cotton soil? | FTell UTH

fATEr & for foher g T =g hr famrier &hr
ST 87
. Raft foundation | IT%¢ A
Strap foundation | Q—jctcraha
Spread footing foundation | ﬁw»?rgé;ha
Stepped footing foundation | TT8 siia@

O 6 w >

118 : What s the formula to find safe bearing
capacity of soil? | iﬁ&:él @TWUIIUI &THAT
[GEINGETCEIR e EE

A : Ultimate bearing capacity + Factor of safety |
HeIAT fTRaT &TH T + & I[0Th
B : F.O.S/U.B.C|Um.3NTH. /.
2
c - |:UBC ]
FOS

D : |:FOS:|2
UBC

119 : Whatisrointhe formula for determining
UBC of soil = ro | fATET & 31l & fAefior &
HROFITE

A : Factor of safety | ﬂT&:ITirUﬂEF

B : Density of soil at depth | ?@éwﬁg‘&raﬁ
Yolcd

C : Ultimate load on unit area | S&TS &1 U
HedIHT 9

D : Resistance of soil / unit area | ﬁl’c}ﬂﬂ

gTaRTer/ SaTs &1

120 : Whatisthe Rankine s formula to
determine the ultimate bearing capacity of soil?

Where ro = Density of soil at depth D | ﬁ-{é’raﬁr
JrediaAe foafier stAar fAuTia e & fore I
T BT AT 2 ST81 ro = IeNTs I A &t
Yolcd =D
A : (1+Sind)?

(1-Sing)®

(1-Sing)?

B :[(1+Sim9)2]
' ((1—Sin9)2j ;
“lassing? ) ©

(L+sing) |
D '@ sing) ) °

121 : Whatis the minimum distance between
building and a tree? | Wﬁ?%*ﬁﬁﬂ'ﬁlﬂﬂﬁ
o FATE?

A : 8m

B : 6m

C : 5m

D : 4m

122 : Whatis the weight range of sand (dry) in
Kg/m3? | Kg/ m3 # I (FET) T IR HAT 1 52
A : 1000 to 1500

1540 to 1600

B
C : 1600to 1700
D 1700 to 1800

123 : Whatis the name of foundation? | g &1
ATH FATE?
<>

Wall footing | aTel sirg

Strap footing | F&'CT#IH
Rectangular footing | TR =ATd
Single footing | f&eTer SAta

O 0o w >

124 : Whatis known as the spread footing for a
single column? | Tehel T & foIT thelTd {-él-l A
& 9 H FIT ST ATAT 82

A : Stepped footing | ¥&Ts i

B : Single footing | ﬁl?'l?‘l'fljﬁ?T
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C : Slopped footing | E'IT:I'\#IH
D : Padfooting | 9T siig

125 : Whatis a spread footing that supports two
columns? | U ShelTd FAT § S &F Tt T THYT
FAT 57

A : Strap footing foundation | lfa'qg?ﬁﬂ
HI3SAA

B : Rectangular Combined footing foundation |
3TN HYeFe YR aHie

C : Wallfooting foundation | GraR &I it

D : Single footing foundation | ﬁﬁ'lﬁ?ljﬁﬂ
B33

126 : Whatis the name of pile? | YTSel ohl ATH
FATE?

) @

A Pre cast concrete pile | 9T hIEC hshic TSl
B : Friction pile | EI"ﬁ'UTCI'IS?—r
C
D

Batter pile | e ISl
End bearing pile | T8 foaRer urger

127 : Whatis known as a structure that is sunk
through water / ground to exclude water during the

process of excavation of foundation? | ;ﬁaaﬁrtgaé
T IfehaT o GIRTT ITeAT Sl STEX et oh Tl T dTedt /
ST & ATETH o dTell T & &9 H ToA15
IS AT E?

A : Cofferdam | I 31

B : Underreamed pile foundation | 3T qFs

gl st

C : Caisson | 8T
D : Strip/ Pad foundation | q-qfr/t\-s';ﬁa

128 : Which method of soil exploration is
suitable for a depth of 3m? | HTBFI’WQH@'
aﬁa%ﬁﬁ%%ﬁa@rm@%iﬁvw%"?
Open excavation | E?ﬁ'@?"lé’

Probing | FTST

Wash boring | arer Aifar

Auger boring | TR siRar

O 0o w >

129 : Which is suitable depth open excavation
method of site exploration is suitable? | Q:ﬁ'???vr

TFHCARRIS T Gell Fars fafer fheel argars &

[EIERECREE
A : 15m
B : 25m
C : 30m
D 3.5m

130 : Which method of Soil exploration is
essential to test soil for the construction of

Dam/Engineering structures? | %ﬁ/gsﬁﬁuﬁﬁ
G134 o fAAToT & fore e fr s & forw
TASE 1 @7 &1 et AT AT HTTLTF 2

A : Sub surface sounding method | O5 Thg
ar3fser fafer

B : Geophysical method | H\Sﬁﬁlﬁ'&ﬁﬁf

C : Deep boring method | 319 SYRer fafer

D : Wash boring method | arer stf¥er fafer

131 : Which method of soil exploration is
suitable to find the depth of bed rock or stratum? |

TACET T Tt 7 it AT cRIT IR Tl AT
TETH T IEXTS T T ATt 3 ToIT ST 872
A : Sub surface sounding method | g ahyg
ar3fser fiafer

B : Geophysical method | S{ﬁﬁ@ﬁﬁ'@'

C : Wash boring method | arer ST fafer

D : Auger boring method | 3R sIRer fafer
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132 : Which method of site exploration is
suitable for a depth of 6 to 8 m range? | Q:I'I??E'ﬁ

GIST T ahisT AT TLHT 6 T 8 FHeX FHI IES & forw
SUgFIE?

A : Test pit | ?@Wqﬂ'ﬁw

B Probing | MfseT

C : Auger boring | 3R &IRET

D Wash boring | areraifar

133 : Which soil observation method belongs to

Seismic refraction method? | fATET & 31dclichat T
o7 ot TRy syl 31T Ry @ W 4
A : Sub surface sounding method | g ahyg
37T fafer

Deep boring method | 319 ST fAfer
C : Wash boring method | arer sifer fafer
D : Geophysical method | ﬂﬁﬁﬁ@'ﬂ'ﬁﬁl’

134 : Which soil observation method belongs to
Electrical resistivity? | iilaél % T clTehel T SpieT HT
fafer faeger gferershar & wafera &2

A Deep boring | 319 ST

B Wash boring | arer AIfar

C Geophysical | ${#ifciehrar

D Sub surface sounding | T TthE AT3TSaT faer
135 : Whatis the maximum safe bearing
capacity of hard rock without defect (say in T/m2)?

| QY & =T o Teeret #r TR dH gefara
ﬁuﬁwm(vmzﬁ)w%?

A 250

B 270

C 300

D 330

136 : Which method of shut piles are driven in
the ground and therefore the bearing B.C of soil is

increased? | ITSl &bl STHTST H HaTford et I
HleT o fafar AT Fre.caerrg?
A : Drainage of soil method | ,{sr\l\ﬂ 31\'1I'CF{-I\II$01

AYS

B : Continuing soil method | WFTSFI’W
C : Compacting soil method | Wﬂuﬁﬂ'
AYS

D : Grouting soil method | UJ'Bﬁ?THU'I??TvI'ﬁQE

137 : Which method of improving B.C of soil is
useful for bearing stratum is met at greater depth?

| TAEEY T B.C T SR TelTed T 31T I W
et Y AT 319=ATS STl 82

A : Grouting method | IIT3fear fIafer

B : Compacting soil method | WWTHU'I???I'

AYS
C : Increasing the (Depth) of foundation method

| ST T ITGRTS TgTe T TaTer
D : Drainage of soil method | 3l B-ﬁCFHTsd
AYS

138 : Which method of Soil exploration is
suitable for testing cohesion less soil? | #aT

3HAYOT T et AT INHN HH TR & G870 &
fere s &2

A : Auger boring method | 3P siRer fafer
B : Sub surface sounding method | 99 Tha
ar3fser flafer

C : Deep boring method | 319 SYRer fafer

D : Wash boring method | arer stf¥er fafer

139 : Which method determining bearing
capacity of soil by Rankine s formula? | ¥ &

I SaRT TAEE & faaiar e7erem 1 frefRor
e dTell hiet T fafer g2

A : Method of dropping a weight | Teh dalel
BIsa 1 fafer

B : Method of loading | oi18 &<at T fTafer

C : Arithmetical method | 3ierfora fafer

D : Analytical method | fa2eivuTTcHa= fafer

140 : Whatis the general value of factor of

safety range to find B C of soil? | iﬁa\él F foafRar
&THT T WioTel o ToIT thareX 31T AWET T AT
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FATE?

: 0.25-0.40
0.40 - 0.80
0.80 - 1.00
2-3

OO w >

141 : Whatisthe super imposed material load

in Kg/m2 for office and churches? | FrRIT 3R
Tif o feTT Kg/m2 # ST a1 R S4TES

RTINS FATE?
A : 400
B : 350
C : 300
D : 250

142 : Whatis the weight range of brick in
Kg/m3? | Kg/m3 & ST &Y goiad WA FAT§?
A : 1400 - 1440

B : 1440-1550
C : 1600-1920
D : 2000-2100
143 : Whatis the recommended super imposed

load material in Kg/m2 for public building and
dance hall? | GTdSITIeh 39T 3T SH &I & fow

Kg/m2 # 37o]Rif8T &1 1S G $uIs HERI olls

FATE?

A : 500
B : 450
C : 400
D : 350

144 : Whatis the weight range of dry earth in
Kg/m3? | Kg/m3 # Sk 1A hr aofet TAT fahctalr

&

A : 1000 - 1200
B : 1200 - 1300
C : 1300 - 1400
D : 1410-1840

145 : What s the weight of plain cement
concrete in Kg/m3? | Kg/m3 & FIS THT Fshie &l

146 : Whatis the recommended super imposed
material load in Kg/m2 for residential and hospital

buildings? | AT 31 3T dTel 7T & oIl Kg
/ m2 F IERTA ST 7T YR SUHS HRI e

A FATE?

A : 400Kg/m?

B 250 Kg/m?

C : 300Kg/m?

D 350 Kg/m?

147 : Whatisthe recommended super imposed

load in Kg/m2 for work house and book stalls? |

I 778 3R GEcleh TTeil & foIT fohoilarmer / v 2 &

ITAT R IS ATl ofls FT &?
A : 800

B : 900

C : 1000

D : 1200

148 : Whatis the weight of steel in Kg/m3? | Kg
/ m3 & TES T aoT [T 872

A : 7250

B 7500

C : 7850

D 8000

149 : Whatisthe recommended super imposed
load in Kg/m2 for heavy Workshop and factories? |
ST 2T 3R FRATAT & forw Kg/m2 7
IIRITAT YR SUHS HERIS WS F AT &2

A : 500

B : 550

C : 650

D : 750

150 : Whatis the name of foundation, if the
foundation s depth is less than (or) equal to its

width? | =T ST T8 AT §, 3R siid ST IS
3T ASTS F SRS (M) A FH &7

A : Deep foundation | gL A

B Will foundation | faef ofia

C : Pier foundation | TR W33

D Shallow foundation | 32T g
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151 : What is the name of foundation? | siig T
ATH FATE?

A Single footing | ﬁnwrgﬁ%w

B Stepped footing | @@W

(0 Slopped footing | F—I’I’Vs'g'?ﬁ?T

D : Wall footing without step | TS=IT &9 & aTel
pfea

152 : Whatis the centre to centre distance

range between the beams in timber grillage

foundation? | eTahal & faleTol BI352T H A1 o
e e, O gl gt foheTail 82
ot

T

>0
A 35to40cm
B 40to 45 cm
C 45to 50 cm
D 50to 60 cm

153 : Which type of foundation footings
rectangular / trepezoidal in plan? | T H [ e

YR T AT ISR / SUSIISSA 8lar a?

A : Strap footing foundation | Q-Q'CI'EFQ?T
BI3S2eT

B : Slopped footing foundation | WT‘TS'EFQ?T
CIC)

C : Combined footing foundation | Q:I'g'q'_cf
9IICTel siid
D : Wallfooting foundation | ElaR Fr g

154 : Which type of foundation used in olden
days for the construction of bridges and tanks? |

oit 3T ET 5 Fovaon & For ey Rt o e
YR T SATd ST 3TN fhar ST 82

A : Combined footing foundation | Q:I'{?I:'q'_cf
qrIeIe i

B : Continuous foundation | Idd 3TYR

C : Spread footing foundation | t}ﬁ?rgé;ﬁa
D : Inverted arch foundation | 3¢ HgUS &I
EIC)

155 : Which foundation is suitable, if the Safe
bearing capacity of soil is very low and it is required
to distribute heavy concentrated load over a large

area? | m@mw%}ﬁmﬁw
fSarRer T 9gd e & 3R 78 Th 9 AT W

A FHigd AR faaRa e & forw 3maeas g2

A : Raft foundation | e i

B : Inverted arch foundation | 3¢ HgUd T
CIE]

C : Combined footing | Egerc ITIGTT

D : Grillage foundation | 3Ielst w1332

156 : Whatis the name of foundation given in

Plan’? | Tl & U 91T i@ T AT FAT g

A : Cantilever foundation | Ferellay g
B : Continuous footing foundation | FHef3r
BieaT Hr3seueT
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C : Combined footing foundation | W
qrIClel g

D : Spread footing foundation | tholr §é’ A

156a : Which foundation has 80 cm & pipe is
embedded at plinth level connecting to foundation
bottom (above 5 cm) with an internal of 1.5 m

approximately? | fop& siia & 80 T+ @ UIgT & Y
1.5 HIeY & &lid el (5 A & FIR) S5 drel
Iy TR W UFIsSs B2

A : Combined footing foundation | H‘gﬁ—cr
YTIET slid

B : Strip/Pad foundation | qg‘&r/ﬁg;ﬁa

C : Grillage foundation | frerst w382

D : Pile foundation | IT8eT BI3520T

157 : What is the name of foundation? | si/g T
ATH FATE?

//\

GF. LEVEL

1 TS Rt T B B 00 TS GO RS [acn) G A DN (00 DOG G |
§ KV ECEN B W P [N N P COTW PN TS W TEN D X (e

Strip / Pad foundation | @/%Fﬁﬁ
Stepped footing foundation | @@W

Strap foundation | T siia
Benching foundation | S silg

158 : What is the name of foundation? | Siid T
AT FATE?

A : Benching foundation | 5 g

B : Strip/Pad foundation | cE\._cﬁ'/ CELGIC]
C

D

Strap foundation | T siid
Pier foundation | TR ®I33e=T

159 : Which pile anchor down the structure
subjected to uplift due to hydrostatic pressure /

over turning moment? | gISIEC e gard / 3if8s
HIS o HRUT AIAT o i1 hisT AT YIS STTAT
ST ?

Friction pile | EI'Q'UTQ'IB?»T

End bearing pile | T8 fegRer arger

Tension pile | €T UTSel

Compaction pile | SIHIRLIT TSl

O 0o ®w >

160 : Which pile is used to protect water front
structures against impact from ship / floating

object? | STETST / FAIfeaT 3iTeatare & YT &
TETH STol TXTAT3T T T&TT el o folT fohd aTS el
T 39T fHaT ST 82

Batter pile | S UTSel

B Fender piles | e UiSed
o Tension pile | é%rrrmga
D Anchor pile | T 9TSel

161 : Which foundation is preferred, if heavy
inflow seepage and not possible to excavate the

trenches and keep them dry? | it IT oiig T
STAfAEAT &1 ST &, Ife 7R varg & R 3k
ISl Sl GaTs el 3R 3¢ FuT W11 T7d 6T
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g?

A Raft foundation | T%F€ Ara

B Pile foundation | UTSel BI3520T

C Grillage foundation | f3rerst w1382
D Cantilever foundation | ShéTeira A

162 : Whatisthe name of pile? | YTSel &bl ATH
FATE?

ANATARERR
nnnnn
P
M

\

\
Friction pile | EI'@'UTQ'IE',?—T
Compaction pile | W&HW
End learning pile | @WW
Batter pile | QETQ'IBT*T

o 0O w >

163 : Whatis the name of pile? | YTSel ohl ATH
FATE?

|
|

End bearing pile | @WW
Compaction pile | WHW
Friction pile | WW

Sheet pile | ¢fic UrSel

O 06 w >

164 : Whichis the group of Raymond piles? |
IS UTSeH 1 HHE sl AT E?

A : Cased cast in situation concrete pile | TS

T ST [ URIe shshie Trsel

B : Uncased cast in site pile | WW%
Higc qigel

C : Precast concrete pile | WT-ahIEC hshic BIER
D : Nonload bearing pile | et oS feaRer

qigel

165 : Whatis the name of pile? | YTSel bl ATH
FATE?

G L
RN RN

Friction pile | EI'Q'UTQ'IB?»T
Anchor pile | T 9TSel
Compaction pile | PIFIHAT TSl
End bearing pile | @WW

O 0o ®w >

166 : Whatis the name of pile? | UTSel bl ATH
FATE?

< 1>

C
*C

A : Friction pile | El'éfUTQTs'F—r
B : Underreamed pile | 37T J1HS Uisel
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C : Anchor pile | th'l'g';ﬂ'
D : Batter pile | e UISeT

167 : Which pile provide secure against the
horizontal pull from sheet piling? | Qﬁﬂ'qlsﬁmﬁ

ﬂﬁaw%%waﬁammm%?
Friction pile | EI'@'UT\TIEE'

Tension pile | ?.'?FTWIET»I’

End bearing pile | EWW
Anchor pile | T ITSel

O 6060 w >

168 : Which type of pile is termed as simplex
pile? | fhT PR & TS ol [&Tlard UTS o Shgl
ST E?

A : Cased cast in situation concrete pile | €S
HIEC 3T AU Hshic TSl

B : Uncased cast in situation concrete pile |
3TAHES PIEC 3oT ST TSl

C : Nonload bearing pile | ﬁﬂﬂﬁgwm
D : Timber pile | ST dgel

169 : Whatis atemporary structure, to remove
water and soil from an area and make it possible to
carry out the construction work under reasonably

dry condition? | Teh 3T BT FAT§, ST Teh
8 2 Y T TR Y ey 3R R g
Rufa & dga fAaAToT v e asa g ?

A : Cofferdam | FIHLETH

B : Caisson | hdel

C : Pier foundation | TO¥IT ®I33AT

D Strip / Pad foundation | q‘cfa/a's’a'-ﬁ_q'

170 : Which foundation is suitable, if no firm
bearing strata exists at reasonable depth and the

loading is uneven? | Sis &1 ofig 3Ugerd B, TS IS
FOR Rrafiar T 3R Tears TR it 18t & 3R
SNTSIT AT 81 ?

A : Raftfoundation | IT%Fe i

B : Grillage foundation | f3IeTet wI3sereT

C : Combined footing foundation | qq'ga»—cr

qrIGI s
D : Pile foundation | ITSeT BI3820eT

171 : Which foundation is suitable, if the water
table is very near to G.L and may defect the other

types of form? | aﬁc—rr%ﬁ;hasq'gm%,uﬁ:m?ﬁw
TR GL F 9T 8 3R 377 YR T I WART &l ?
A : Pile foundation | ITScl BI3S2AT

B : Raftfoundation | T%Fe g

(o Grillage foundation | f3relst BI382reT

D Inverted arch foundation | 3¢ HgU &I
g

172 : Which piles are driven at angle to resist

the large horizontal / inclined forces? | a3 &ifasr/
SIohTdl aTel ol T faRIET &l & ToIT 10T R aleT
UTS el SI9MU STy 82

Batter pile | SeX UTSal

B Anchor pile | T ISl
C : Uplift pile | 3T9foIoe UTSel
D : Compaction pile | PIFIRAT IS

173 : Whatis the name of foundation? | g &1

A : Wallfooting foundation | amgﬁﬁ?ﬁha
B : Combined footing foundation | H’ﬂ'&?—f
9rIeTe i

C : Strip or Pad foundation | qgamﬁgaha
D : Strap footing foundation | Q-é'q‘fﬁ?T
HI3S2eT
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174 : Whatis the term that the horizontal
members are parallel to the wall in scaffolding? |

AT H EIaR & HATATAR &lfcrol TEET o TolT Qrsg,

A Putlog | W

B : Ledgers | oSy

C Transome | ST
D Guard rail | IS T

175 : What is the shoring? | &1oT &Y NRT &2

Raking shore | YfaT faray

Single flying shore | F&3TeT TS aT fheIX
Double flying shore | 38l FATSdT fhalX
Dead or vertical shore | 33 T FeaTer fFeIr

O O w >

176 : Whatis the shore having the distance
between the parallel walls is 9 m to 12 m? | foheT

feheTRT & FATATR SRt & o T g 9 HleT 4 12
:FhET%"?

Raking shores | ¥fahaT & ety

Single flying shores | f&3Ter FeltgaT b
Double flying shore | WW@TW
Dead or vertical shore | 38 IT F¢aTeR faheaIX

O 0O w >

177 : What s the scaffolding used for painting,
pointing, while washing and maintenance work? |

&iet 3R TER@Ta o 1A & GRTeT G, T eet
%ﬁvmﬁmmﬁwmw%‘?

A : Steel scaffolding | TETel AT

B Trestle scaffolding | E,RFW

C : Cantilever scaffolding | Shicelar F=aTeT

D Suspended scaffolding | TEISS HTT

178 : Whatis the term generally used for the
work such as arches and domes? | IHIRW

HETS 3R [ae; oI 1 o [T SEAATS Fohar STt
aTeT QTG AT 2

A : Moulds | q?el:g_c,'\'

B Stripping | ﬁ—lﬁ?T

C : Centering | Shigd

D Form work | B I

179 : Whatis the piling method carried out for
trenches about 10 meters depth in soft grounds? |

ST HeTAT 3 STITIHIT 10 HieX IS aTell WIS &
ﬁ'trtrlgi%mﬁ%%?

Sheet piling | 2fe arsfeier

Stay bracing | T Sf&aT

Box sheeting | Srerg eNffear

Vertical piling | S1dad argfelar

O 0o ® >

180 : What is the name of part marked as x? | X

& H REAT AT FIAF FATE?

z 5 \

A Ledger | IS

B Standard | Teuss
C Putlogs | W
D Toe board | |

181 : Whatis the name of part marked as x? | X
& ¥ H Rfgad AeT A Far g?
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184 : Whatis the name of part marked as x? | X

& & H RfETT deT S AT FATR?

===

A : Putlog | EailTH A : Needle beam | SifSer i

B Standard | Tiugs B Crib support | fopa guIe

C Braces | Sf&oT C Bearing plate | TSR Tl

D Transom | I D Jack | St&p

182 : Whatis the distance between the (in 185 What is the name of part marked as x? | X

single row) standards in single scaffolding? | Harer & TU H AT RTFT A FTE?
FaTe 7 ([HaTer O #) ¥Uss H T Hr gl Farg?

A : 20m X
B : 17m /|
C : 15m i ‘ - ’
D : 12m ' ;/ ’
183 : Whatis the name of part marked as x? | X 1 // |
F ¥9 H RIEAT 6T FT ATH FAT 8?2 1 )
[ NEEDLEBEAMSTEEL |
| . A : Cribsupport | foha Tare
r—ﬂ—\ B Jack | )
1 o Needle beam | sfifSer et
1 D Bearing plate | foaRer cele
186 : Whatis the depth of trench while box
S sheeting carried out in timbering in loose soil? |
A Jack] . el e & oo 3 aierg Nfer oy v @rg
B Bearing plate | fSaRaT cole aﬁr?re'rr%’w%"?
C Crib support | fshe 91 A : 4m
D Needle beam | FIf3er 1 5m




Draughtsman Civil — Semester 1 - Module 5- Temporary Structure
Reviewed and updated on: 01 November 2019 Version 1.1

187

What is the name of part marked as x? | X

F &9 H RAETT HRT ST AT FATR?

A Poling board | CIGEIGIE

B Wallings | arfeiar

C Sheeting | eiffeaT

D Strut | T&E

188 : Whatis the name of part marked as x? | X
F &I A REAT AT FIAF FATE?

A Sheetings | 2fifeaT

B Strut | T&&

C Wallings | aTfeiar

D Poling boards | qifelT s

189 What is the name of part marked as x? | X
F ¥9 H RIETT 6T FT ATH FAT 82

Temporary struts | 37EARY T&&
Sheetings | efifeaT

Polling boards | Qi g
Strut | &€

O 0o ®w >

190 : Whatis the name of member that
supports the boards in the centering of arches? |

AT S ohe; H dIST I HBRT o ATel HGET T ATH
FATE?

A Turning piece | magsngars'r
B Props | 9TcH

C : Ribs | =g

D Laggings | eifdied

191 : Whatis the name of part marked as x? | X
& &9 H RfgAq AT R AT FATE?

X

Boards | EIE]
Prop | 9T

Turning piece | Fﬂ'§r§3-lT§EIET

Arch | AgS

O 0o v >
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192 : Whatis the name of part marked as x? | X
& & A AT AT R AT FATE?

_=
< 7
ﬂ Z
7
| é
= 7
A Dead shore | 38 ThaIRT
B Needle | SISl
C Floor support | FAR TUIC
D Braces | sSIT&T

193 : Which scaffold is suitable; if the
construction work is to be carried out for upper

floors? | ﬁammm%ﬂﬁwm
& fore faAToT S fova ST 82

A : Single scaffolding | Tehol HdTeT

B Independent scaffolding | Tad T FTT

C : Suspended scaffolding | G¥ISs FATA

D Needle scaffold | sfifSe #FATT

194 : Whatis the name of scaffold, if it is
formed with steel in special types of couplings and

frames? | AT T ATH FAT &, 379X Ig [3AY YK
& TfeiaT 3T I 3 TS & TTY T §?

A : Patented scaffold | 9¢ FATT

B Brick layers scaffold | éEﬁtR?fﬂ?ﬂo‘-r

C : Independent scaffold | T HATT

D Cantilever scaffold | ShecIToraX FATA

195 : Whatis the name of scaffold? | HdTeT ol
ATHFATE?

= =
=]

‘ w i

Bricklayer scaffold | fsieh o #TeT
Cantilever scaffold | FecIToray HAT
Independent scaffold | AT HATT

Double scaffolding | Sdel AT

O 0o v >

196 : Which scaffold is suitable, if proper hard
ground is not available for standards to rest? | lsT

AT HUT SYYF &, TR AT o [T 3T Hhor
STHIA 3T g1 g7

Cantilever scaffold | FecITolay HAT
Independent scaffold | TTdT HATT
Bricklayers scaffold | fsieh oIR FaTeT
Suspended scaffold | IS HTT

o 6o v >

197 : Whatis the name of part marked as x? | X

& & A RfgAT AT R AT FATR?

\/

A : Ledgers | ST
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B : Crossbrace | ST
C : Standards | T&USS
D : Diagonal brace | TAeoT S&<T

198 : Whatis the name of timber piece used to
give rigidity to frame work in timbering? | ol&hal &
T3 T FATATH § i1 oTha! & 1A A e doh ot
& foIT FORAT AT 8?

A : Strut| T

B Bracing | ST

C : Sheeting | efiféar

D Poling boards | qifT g

199 : Whatis the approximate depth of vertical
sheeting adopted in timbering in soft ground? |

A STHIT 7 oThal o ©d & Wl FEaTeT Tre ar

IS FATE?
A : 10m
B : 12m
C : 15m
D : 17m

200 : Whatisthe name of part marked as x? | X
& T H RAETT HRT I AT FATR?

DC1506H1

A Poling board | qifelT as
B Wallings | aTfeldr

C Strut | T&&

D Sheeting | efffear

201 : Whatisthe name of part marked as x? | X
& ¥ H RIfgad AT ST AT FaAT 8 ?

A Strut | e

B Wallings | aTfelar

C Poling board | CIGEIGIE

D Sheeting | effear

202 : Whatis the name of part marked as x? | X
& & H RITEAT HIIT T ATH FIAT 82

A Sheeting | iffeéar

B Wallings | aTfelar

o Strut | TeC

D Poling board | CIGEICIE

203 : Whatis the minimum period for the
removal of props to beams and arches for a span of

6m in centrering / form work? | W/Wﬁr
6 HT T 91 & forw &t 3R Age 1 gl & T

eI H AT AT E?
A 10 Days
B 14 Days
C 17 Days
D 20 Days
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204 : Whatis the name of part marked as x? | X

F &9 H RAETT HRT ST AT FATR?

A Braces | sif&aT

B Strut | T&C

C : Ribs|Reg

D Ties | <lsH

205 : Whatisthe name of part marked as x? | X
& &Y H RAITEAT HIIT T ATH FAT 82

A Ties | C<IsH
B Centre block | HeT sdlish
C : Ribs | =g
D Strut | T&&

206 : Whatisthe name of part marked as x? | X

& A REAT AT FIAH FATE?

A Strut | T&&
B Brace | 8
C : Ribs | Reg
D Lagging | ofaed

207 : Whatis the name of part marked as x? | X
& &9 H RfgAq AT R AT FATE?

A Laggings | eif¥ied
B Brace | §&
o Strut | TeC
D : Ribs|Rem@

208 : What is the name of part marked as x? | X
F &I H RfETg deT ST ATT FATE?
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B : Laggings | aifdieg

C : Ribs | ReH
D : Strut|¥ee
209 : Whatis the maximum suitable distance

between the two adjacent parallel walls for single

flying shore? | T&3Ter FerTgaT foheIX & foIw &y
3ol FHATATAL SIaRT o STl JTfeehe e 3ugerd

g FATE?
A : 5m
B : 9m
C : 15m
D : 18m

210 : Which shoreing is suitable, for existing
foundations to be depended? | ﬁE@Fﬁaa?ﬁl'U

hleT AT foheRT UG 87

A : Deadshore | Hdd<

B : Flying shore (Single) | FelTgdT foheTRT (Tehel)
C Flying shore (Double) | W@TW(W)
D Raking shore | Iehar foraTy

211 : Whatis the name of shore shown in

elevation? | Telldere & fe@TT 31T fohaA T AT
FATE?

Flying shore (Single) | FelTSaT fohaTRT (Tehel)
Flying shore (Double) | FeITSaT fhellX (35T
Dead shore | Hd dc

Racking shore | YT foher

O 0O w >

212 : Whatis the name of figure? | H’@%W
ATH FAT§?

FLOOR] || FLOOR
FING / |

FLOOR| FLOOR
A /

FLOOR| FLOOR

Raking Shore | IfehaT fraTrar

Flying shore (Single) | q—TvI'I???TﬁwT-I'ITI' (Tehel)
Flying shore (Double) | W@TW(W)
Dead shore | ddc

O 0o ® >

213 : Whatis the name of part marked as x? | X

& ¥ H RAfgAd AT T AT FAT B ?

FLOOR| FLOOR
Z 7
FLOOR| FLOOR

TP ==
Z z
X

FLOOR| FLOOR
A Folding wedges | ®ITesdT dotel
B : Cleat | Fallc
C Straining piece | F&'ﬁmtﬁﬂ'
D Needle | TS

214 : Whatis the name of part marked as x? | X
& &9 H RfgAdT AT R AT FATE?
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z
am 7
o |l
A Sole plate | &rel Tel
B Hoop iron | '@'\'Cl'm
C Rakers | 3&d
D Wall plate | arel Tl
215 : How to rectify if settlement of existing
foundation has taken place? | aﬁmaymw
& I1AT g1 it il GEIRT ST
A : Bytimbering | ﬁﬁﬁﬂa\al!l
B Under pinning | BET\TIéﬁI?T
C Single scaffolding | Tehel HdTeT
D Independent scaffolding | Tad FATT

216 : Which shoring is suitable, if the lower part
of wall has become defective? | it T M

3G §, IR SR T o¥erell FEaT T g1 arr

g?

A Flying shore (Single) | FelTSaT fohaTRT (Tehel)
B Flying shore (Double) | FeITgaT fhelTX (38T
C Dead shore | Fd dc

D Raking shore | IpaT fFar
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217 : Whatis the name of damp proofing
method? | 13 fthaT TaTer ahT &Ta 7T &7

7

GL

A : Treatmentto basement | HE'@'IT-TQ'T%I'U
3UAR

B : Treatment to external walls | STgT GIART &
IGAEREIS

C : Treatment to sloping ground | EEIT:I’\GI?fIFI'EFI'

Sollel

D : Treatment to expansion joint in flat roof |

THTS B H TFIULA SIS o fol¥ 3TaR

218 : Whatis the treatment to protect the
building against termites to remove stumps, roots,

logs and waste? | T&9, ST3I, AT 3R FR I el
& T &1A® 8 AR T 6T el o olT 3TaR
FAT8?

A : Soiltreatment | FCT 39IR

B : Structural treatment | ERAATcHS 3TTR

C : Pre construction treatment | q‘\éﬁ?‘:ﬁ'UT
3UAR

D : Postconstruction treatment | gree fasToT
EREIES

219 : Whatis the structural member that should
be constructed with fire resistant material and well

separated from heat of the building? | I8 it AT
TATCHS HEET & Tordt 3mmar wfared |rereft &
ary AT fohar srer anfge iR sARa T ot &
3T ARE W 3TeleT gleT AR T?

A : Wall openings | arel 39faar

B : Floorsand roofs | w AR o

C : Walls and columns | §rar 3R T

D : Building fire escape element | 3T & &I
fAehelel aTelT dea

220 : Whatis the name of part marked as x? | X
& ¥9 H RAfgAd AT T AT FAT R ?

A Lime concrete | EE-!TW
B : DPC| Y

C Drip | %‘q

D

RCC slab | 3IREIT Tl

221 : Whatis the name of part marked as x? | X
& & H RfgAq AT R AT FATE?

///////

7 e (o P e 3 ) ) e e S o 1
4 H

300
A Brick jelly | é??l?ﬁ'
B Hot bitumen coating | IH PITdR HITCI
C Lime mortar | ﬂ(\ﬁ'WHIEII
D Mind puska | :mstc;gm
222 : Whatis the material used for quick setting

highly elastic and superior work? | 3caT8Is AGR
IR IER FA & forw calka afder & forw 3uter
T STt aTell ATHAT AT 82



Draughtsman Civil — Semester 1 - Module 6- Treatment for Building
Reviewed and updated on: 015 November 2019 Version 1.1

Barium plaster | SRIF TemEex
Acoustic plaster | €afaieh TalTEeX
Gypsum plaster | ToTeHH TaeX

Granite silicon plaster | 3)0'-”33 GIREIC

o 6 w >

223 : Which plaster material is used for making

the room sound proof? | X I eafet Ut T
%%WWWWWWW‘E‘?
A : Burium|® _Jﬁ??ﬂ:f

B : Asbestoscement | TTa¥ed HHT

C : Acoustic | &afais

D Granite silicon | Wm

224 : Whatis the cement ratio used in guniting

method of DPC? | DPC o 31fe1d9T HUS & vy AHe

Wwwmm#

A 1:2

B 1:3

C 1:4

D 1:5

225 : Whatis the common wall thickness for fire
resistance? | 37T A & foIw Ear i 3maHaR
W ACTS FATE?

A : 45

B : 40

C : 30

D : 20

226 : Whatisthe defect in painting seen as
glossy patches? | Uf&aT H AR ST & ®T H e@m

mﬁwa’r‘sra:m%?

A Blistering | fsereeRar
B Flashing | FoIfRuaT

C Sagging | &f3TaT

D Fading | fSaT

227 : Whatis the defect in painting that loose
small portion due to poor adhesion? | gfear H &7

2y § S WU 3T & hRUT B 58 &l Srefr
I SaTe?

A Flaking | FolfehaT

B Flashing | FoIfRraT

o Blistering | feer&eRar
D Sagging | AT3aT

228 : Whatis the stage of anti termite
treatment done before laying the floor entire
levelled surface s are treated at rate of 5 litre of

emulsion/m2? | Cl":%i'aﬁq‘\ﬁd{s FgATT A T
gl &1 315 UT-E1Hh Eledic &Y 37aEAT i 5 alle
sTH_QIFr/?FﬁZ Frex @ 3uaRd AT AT g |

A Stage 1 | @RUT 1
B Stage 2 | T@OT 2
C : Stage3 | T3
D Stage 4 | T¢oT 4

229 : Whatis the defect in formation of bubbles
on painted surface due to water vapour? | STel dI™q
& SROT AT Telg TR ool Tellel 7 FATSIN §?
A : Fading | ®f3aT

B Bloom | se[H

C : Blistering | fsarFeRar

D Flashing | FIfRvaT




Draughtsman Civil — Semester 1 - Module 7- Arches and Lintels
Reviewed and updated on: 015 November 2019 Version 1.1

230 : Whatis the part labelled as x? | X & T H B : Stonelintel | 9cUT T folee
ST TR Irar AT FAT B C : Wooden lintel | elehal T felcer
D : Reinforced brick lintel | Wﬁﬁéﬁ' folcel

234 : Whatis the name of the arch? | IR &7
ATH FAT§?

=y,
Lz

7

A : Crown | $hl3e g,
B : Extrados | UFECTEIT A Ogee arch | 3113fr 3T
C : Voussoirs | arEATRIT B Tudor arch | @5?3—1’@
D : Outer curve of an arch | Teh 3T<T & ST c Pointed arch | ﬁﬁgmﬁ%?ﬁ
dsh D Florentine arch | q’TvﬂQE'IBFT}I'IéF
231 : Whatis the name of arch having four 235 : Whatis the arch constructed over a
centers? | awé;a’ra’léraﬂ%rwamw%? wooden joist or flat arch? | olhal o SIIES AT Tl
A : Elliptical | &€ et 31T R ATAT 3TF FAT 82
B : Venetian | AahfRaer A : Stilted arch | Eces AgUE
C : Segmental | @eHco B : Pointed arch | T80T AT
D : Equilateral pointed | Wﬂﬂm‘g C : Relieving arch | Relifdor AgRe
D Horse shoe arch | eﬁqzmz‘r
232 : Whatis the term for perpendicular
distance between intrados and extrados? | TSI 236 : Whatis the lintel? | foicaT T &?
3R TraeTSId & 1 olaad gl T FHEelldl 5?2 -
A Kay |5 II’/\EIIIIIIIIIAIIIII/IIIIII
B Pier | TR Ble—— A L4 TOL?
SPAN
C Rise | TSl
D Depth 3I€2I§ y .
Pth| : Brick lintel | 8¢ & foicel

233 : What is the name of lintel? | Toicel &7 ATH
Stone lintel | Tc2R T foicd

Reinforced cement concrete lintel | JeTelcd

A

B : Steellintel | Tl &r foieeT
C

D :

237 : Whatis the name of part marked as x? | X
& ¥9 H Rfgad AeTar A Farg?

A Bricklintellé?,'a?l'iaaa
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L F

Key | ST
Voussoirs | daIFATIY

Extrados | UER—E'I?{UIF
Soffit | EIfthe

o O w >

238 : Whatis the name of the part marked as x?
| The x & &9 F RIFEAT HTeT T ATH FATE?

)
71N
\‘\\Qs

AR
N

i

"
A\

AT
Q&

Y
A

(L L LR
‘i\
N

&
TR

Soffit | TIfthe
Intrados | 3_;1?';@
Extrados | UEIRI?;W
Rise | {Tgal

O 0O w >

239 : Which arches is also called as lancet

arches? | ThT AEUT &I IGT AT 3 gl SATAT
g?

A : Semi elliptical arches | 37 SRR R Ag
B : Venetian elliptical arches | IEGIREGE

ErIgaThR A

C : Relieving arches | Rellfder Agaer
D : Pointed arches | WW

240 : Whatis minimum range on wall provided
for timber lintel bearing? | &har & felce & falT &r
I YR I ~geTaTH AT 7 52

A : 5-8cm

B : 8-13cm

C : 15-20cm

D : 25-30cm

241 : Whatis the centre to centre distance of
stirrups at end in R.C.C Lintel? | 3TRETEY foileol &
37T & 8gd o ahg; A ahe; bl g AT 2

A : 10cm

B : 15cm

C : 18cm

D : 22cm

242 : Whatis ratio of CC used in RCC lintel? |
ITREET f el 7 Yo HHC Shshle T 3HeTdTd 4T

e?

A : 1:2:5

B : 1:2:4

C : 136

D : 1:4:6

243 : What is the name of member, in centering

of arches, a thick wooden plank shaped to the
curvature of arch and it is supported by props? |

AT o he, H &I T ATH FAT g, Teh ALY oJhar
&Y AT S 3T Y FehaT Y AR ST & 3R s
TERT 9T hiar g?

Ribs | Red
B : Laggings | feRd
C : Turning piece | chetar 9
D : Brace |sd
244 : How many centres are in tudor arches? |
g A H et g €2
A : 3
B : 4
C : 5
D : 6
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245 : What is the minimum period for the
removal of props to beams for a span of 6 min

formwork? | hIEdS H 6 HeX & Ure F fow greg

I 17 A §Tol & [T = geTc A AT AT g?
A : 15Days

B : 17 Days

C : 21Days

D : 25Days

ANSWERS :

1:B; 2:D; 3:A; 4:D; 5:C; 6:C; 7:B; 8:D; 9:B; 10:B; 11:D;
12:C; 13:B; 14:D; 15:B; 16:A; 17:C; 18:B; 19:D; 20:C;
21:B; 22:D; 23:C; 24:B; 24a:D 25:D; 26:C; 27:B; 28:A;
28a:C 29:A; 30:C; 31:B; 32:D; 33:C; 34:B; 35:A; 36:C;
37:B; 38:D; 39:B; 40:A; 41:D; 42:B; 43:B; 44:A; 45:C;
46:A; 47:B; 48:D; 49:D; 49a:A; 50:C; 51:A; 52:D; 53:D;
54:C; 55:B; 56:A; 57:B; 58:C; 59:A; 60:A; 61:A; 62:C;
63:C; 64:B; 65:A; 66:C; 67:A; 68:C; 69:D; 70:C; 71:A;
72:B; 73:A; 73a:C; 74:B; 75:B; 76:A; 77:A; 78:D; 79:A;
80:D; 81:A; 82:A; 83:D; 84:D; 85:B; 86:B; 87:D; 88:B;
89:A; 90:B; 91:B; 92:B; 93:A; 94:C; 95:D; 96:B; 97:D;
98:A; 99:C; 100:D; 101:B; 102:C; 103:C; 104:B; 105:A;
106:D; 107:C; 108:A; 109:A; 110:A ; 111:C; 112:D;
113:A; 114:A; 115:B; 116:D; 117:A; 118:A; 119:B;
120:A; 121:A; 122:B; 123:C; 124:D; 125:B; 126:A;
127:C; 128:B; 129:A; 130:C; 131:A; 132:C; 133:D;
134:C; 135:D; 136:B; 137:A; 138:B; 139:D; 140:D;
141:A; 142:C; 143:A; 144:D; 145:A; 146:B; 147.C;
148:C; 149:D; 150:D; 151:D; 152:A; 153:C; 154:D;
155:A; 156:B; 156a:B; 157:D; 158:D; 159:C; 160:B;
161:B; 162:B; 163:C; 164:A; 165:D; 166:B; 167:D;
168:B; 169:A; 170:D; 171:A; 172:A; 173:C; 174:B;
175:B; 176:C; 177:D; 178:C; 179:A; 180:A; 181:B;
182:D; 183:A; 184:B; 185:C; 186:A; 187:C; 188:D;
189:A; 190:B; 191:C; 192:B; 193:D; 194:A; 195:B;
196:A; 197:D; 198:B; 199:A; 200:A; 201:B; 202:C;
203:B; 204:D; 205:B; 206:A; 207:B; 208:C; 209:B;
210:A; 211:C; 212:C; 213:A; 214:A; 215:B; 216:C;
217:B ; 218:C; 219:D; 220:B; 221:B; 222:D; 223:C;
224:B; 225:D; 226:B; 227:A; 228:C; 229:C; 230:A ;
231:B; 232:C; 233:B; 234:B; 235:C; 236:D; 237:A;
238:A; 239:D; 240:C; 241:C; 242:B; 243:C;, 244:B;
245:C;
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1 : Whatisthe work carried to fix national and

state boundaries? | IS 3R I T HTAT3AT Hr
T A o felv T 1 FomaI ATt 87

A : Contouring | a’@\'ﬁ?T

B : Levelling | oiafeiaT

C : Topographic mapping | FQJW
EICICEL)

D : Surveying | GdeToT

2 : Whatis the length of one link in metric

chain? | xﬁﬁmaﬂaﬁm%@rmﬁ%w%?
A : 10cm

B : 15cm
C : 20cm
D : 25cm
3 : Whatisthe name of the setting out the work

on the ground? | &RTdel IR HIY HI TATRAT ket
HTFATATH 82

A : Location survey | TUT J&T0T

B : Preliminary survey | TR FdeTor

C : Topographical survey | Fﬂﬂ'@ﬁ?ﬂé&ﬂw
D : Engineering survey | ST Rar HJeToT

4 : Whatis the principle of survey? | TJ&T0T &1
fegraFare?

A : Traverse | ?}.T:R{T

B : Triangulation | epIofiertor

C : Work from whole to part | CI3 HET  3aad
HT IR P

D : Work from part to whole | 3-13'&3@93’ HTIT
HT IR P

5 : Whatisthe method referred in chain

surveying? | SIS @deTor # fAfdse fafrFar g

A : Inter section method | 33 BF2AT AfET

B : Trilateration method | ';Té' ferexers fafer

C : Triangular method | Berofy fafer

D : Polarco-ordinate method | WW

fafer

6 : Whatis the length of metric chain? | Fﬁﬁ?
HE T T olelTS AT 5?

A : 5mand20m

B : 10mand15m

C : 15mand20m

D 20m and 30m

7 : Whatis the chain of 100 feet long generally
used for taking offset in chain surveying? | SIRI&

gdeToT F 3T o & fav 3mHdR W sEaATeT
aﬁmlooﬁtmﬁaﬂaaﬁﬂﬁr%?

A Gunter s chain | 3TeX SR

B Revenue chain | ToT&d SR

C Metric chain | ¢ ST

D Engineer s chain | sshﬁmaﬂa

8 : Whatis the name of the equipment? |
3T T ATH FAT 82

A : Steelrod | TETel s
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Wooden peg | gg?rﬁw
Off set rod | 3TH AT IS
D : Rangingrod | IfSiaT I

9 : Whatis the surface that is normal to the

direction of gravity at all points? | gg Pl AT A8
%mﬁmﬁgﬁwmﬁﬁwaﬁﬁanw%?
A : Levelling | oiafeiar

B : Horizontal surface | &ffast dg

C : Horizontal line | &¥fa<t @

D : Levelsurface | §Hdel Hdg

10 : Whatis the line that lies on a level surface
and is normal to plumb line at all points? | g il

oY 3@ § I Ueh gt T Gdg 9T e & 3w gy
ﬁgaﬁwmmasﬁrum—er%?

A : Levelline | oiddl oISl

B Vertical line | F&aT8T Y@r

C : Datum line | 3¢H ST

D Horizontal line | &Yfcret {@T

11 : Whatis the limit of error in 20m chain as
per IS? | TSTH & 3TAR 20 HIT ST A I T
AT FATE?

A : £3mm

B : £t5mm

C : £6mm

D +8 mm

12 : Whatis the term for error that occur due to

faulty adjustments of device such as chain may be

too long or too short? | 3f& o forT erec TR S
SIS SR 3URTOT & G Ut HATAISTST & &HIROT &l
%mwmmmﬁw%‘?

A : Natural error | mﬂﬁ'

B : Personalerror | Wgﬁ'

C : Artificial error | fﬁﬂ'g’%

D Instrumental error | SWUT'EI"%

13 : Whatis the limit of error for 30m chain as

per IS? | Hlé'ﬁ'\q'é?ﬁ?:l;\':lﬂmm E’ﬁﬁ'?ﬁ?g’%ﬁ

AT FATB?
A : t2mm
B : t4mm
C : £t6mm
D 8 mm

14 : Which type of tape is commonly used for

measuring offset? | 3T F AT F AT
AT g YehR & T T 3UAN9T AT ST 872
A Linen tape | foiedaT €0

B : Steeltape | T T

o Invar tape | 3=diX T

D Metallic tape | ﬂ'@é’é’q

15 : Whatis the error that arise due to variation
of temperature? | ATIHTT T [HeAdT & HROT
3cUoot glat aTell IfE AT E?

A Natural error | Wg’%

B : Personalerror | Eﬂmaﬁ

C Instrumental error | W?ﬁf

D Artificial error | fﬁlﬂg’%

16 : Whatis the length of metallic tape available

in feet? | W?Nﬁﬁfﬂ?—@éw%‘?

15 feet and 30 feet | 15 e 3iT 30 Hie
30 feet and 45 feet | 30 fire 31 45 fre

C : 45feetand 60 feet | 45 e 31K 60 fe

D : 50feetand 100 feet | 50 e 3{T 100 Hre

17 : Whatis the lateral surface distance
measured from the chain to object? | ST & ared

Tclg T &1 T T A T AT ST &2
A : Offset | 3wde

B Long off set | ST 3THAT

C : Short off set | oI 3T T

D Oblique off set | 3NfseTan 31T A

18 : Whatis the term that the distance
measured at right angles to the chain line from the

object? | g Ieg FIT § i & & S @M dh
HHRIOT I ATIT SATAT g2
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A Short off set | BICT 3T e

B Long off set | o&<T 3ThAc

C Oblique off set | 3Nfeera 36 e

D Perpendicular off set | S9ad 3% AT

19 : Whatis the offset that is measured other

than right angle to the chain line from the object? |

gg 3ThAc FIT § ) iTsotee § e ST W
HHPIUT & TATAT e 10T ATITAT &7

Short off set | Bl 3T AT

Long off set | ST ATRAT

Oblique off set | 3feeTeh 3iTH A
Perpendicular off set | Sead 3% A

O 6060 w >

20 : Whatis the term that is normal to plumb
line at all points? | I8 hisT AT Ql@'%’x‘fﬁﬂaﬁﬁg}ﬁ
T TS TSl & folT ATATT &2

A : Levelsurface | HHd Hdg

B : Datum surface | S¢H Tdg

C : Horizontal surface | afasT adg

D Vertical surface | dad @dg

21 : Whatis the mark established between GTS
bench marks by various government departments,

PWD and other engineering agencies? | ICIECG
AR RS, Ageegd T 31T SRRt
ol garT Shéved S A & S efia
Rea Farg?

A : Change point | clﬁa?cl?fﬁg

B : Arbitrary bench mark | 31feedy s=r AR

C Permanent bench mark | T 8 AT
D : Temporary bench mark | 3EARIY ST AR

22 : Whatis the bench mark established for
short duration and the work should be resumed

from these bench marks? | e 37afer & forw

T o AP 7 § 3R o7 57 AT & 1o oY
O & fohaT STt Tnfee?

A : G.T.Sbench mark | G.T.S S #ATH

B Arbitrary bench mark | fqedr dT A

C : Permanent bench mark | TARAY S AR

D Temporary bench mark | 37T S AR

23 : How the chainis adjusted if the chain is
found to increase in length than the standard

length? | e AT olalTS T Tofell H ol H g o
TS ST & A ST T Y FARNTST R STar 82
A : Byremoving some of the rings | iw_tﬁm
T geTehl

B : By straightening the bent of links | FHiSATH
75 e

C : By adjusting the links at the handle | 85T T
foieh oy AT ok

D : By inserting the new rings as required |
3'|Id?€l°f7dlog(-ll~{ U Soeof STelehy

24 : Whatis the length if metallic tape available

in meter? | e €T 27 #HeX & 3uclst § Al elaTs

FATE?

A : 5mand10m
B 10m and 15m
C : 15mand20m
D 15m and 30m
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25 : Whichis location attraction in compass

survey? | HEUTH FAGTOT H fohad cliehel 3T¢arleT
glarg?

A : Steel Structure | SEUT TITAT

B Building | SAR

C Trees | U8

D Hills | TgTar

26 : Whatis the direction of magnetic needle
always pointing? | Eﬁ%ﬁﬁﬁﬁﬁé@l’%@ﬁﬂ%?
A : East | Tﬁ'

B : West | gfeas

C : South | gf&yoT

D : North |3

27 : Whatis the name of instrument? | I &T
AT FATE?

Pentagraph | YeTaTH
Planimeter | ColaiiHIeY
Tachno meter | ¢l HIeX
Speedo meter | TATEr HreX

o 0O w >

28 : Whatis the type of compass as per the
system of graduation made? | ASFTRT T JUTTeIT

o TR FEUTH T TR FAT 2

Magnetic compass | gd—dcﬂ‘lq hFITH
Trough compass | % h&aTrH
Prismatic compass | [T Searg
Surveyor s compass | AT T HFEIH

O 0o v >

29 : Which method is used for plotting a
traverse survey in compass? | Wﬁtﬁﬁm
detor & forw fara ygufar a1 3uier fhar Srar g

A : Byincluded angle method | TR hIoT
farfer gamr

B : By paper protractor method | W@@W
farfer gamr

C : By Rectangle co-ordinate method | 3TTId -
3Etae fafar ganr

D : By graphical adjustment method | RETcH®

AT fafr gar

30 : Whatis the error if the compass is affected
by external influences? | FFITH H JTELT TG &

THTTA Bl O T 3 82

A : The pivot being bent | ﬁ?l’gé’%ﬂ'

B : Local attraction | FI’IW&@EF?IFT

C : Inaccurate levelling | HQ@W



Draughtsman Civil - Semester 2 Module 2 : Compass Surveying
Reviewed and updated on: 015 November 2019 Version 1.1

D : The vertical hair being thick | FEATER g
T HAICT élﬂl

31 : Whatisthe error if the magnetic needle of
a compass not being straight? | If¢ &g &1
ga@waé%ﬁ%fr?r?ra’rwsr%%?

A : Instrumental error | Wﬂﬁ'

B : Manipulation error | Hﬁ'ﬂﬁ%lﬂgﬁ'

C : Sightingerror | ?{f?c:szrg%

D External influences | STT F8TTE

32 : Which method is more accurate in plotting
a compass survey? | FETH FI&I0T H TAfaT &
fore sla @ fafer i aden g2

A : Parallel meridian method | HHTATAY
ARfeT= Aty

B : Included angle method | 37T 0T fAfer
C : Paper protractor method | Y Yrearex afer
D : Rectangular co-ordinate method | 3P
HI-AStaAe fafer

33 : What angle is differed due is local attraction
at a particular place detected in fore and back

bearing line? | B 3R 9 IR T o157 & TT 31T
ThaT Ty TUTH WX dilehol 3¢ AT I fhd HIoT

AR 37T 3T ST 2
A : 45°

B : 90°

C : 180°

D : 270°

34 : Whatis the true bearing, if the magnetic
bearing of the line is N 37° W and the magnetic

declination is 2°E? | T faaRer Far 819t Ife ot

T Yoehid fITRaTN 37 ° W & 3R Aeaifesh
é?:ﬁi%lﬁ%l?r 2°ER?

A N 35°W

B S35°E

C N39°W

D S39°N

35 : Whatis the variation of declination occured

due to magnetic storms such as earth quakes and

the amount of variation may be even 1° or 2°? |
YaehTy T4aiTsT Sid foh 81ehT 3R eehd hr ATAT 1 ° 7
2 ° g Y ShTclI2led H FUTea] gam

A : Secularvariation | WW

B Annual variation | ¥ ®ITR

C : lrregular variation | JTAITAT AR

D Regular Variation | & ®IIcaR

36 : Whatis the variation, in the magnetic
merdian swings like a pendulum in one direction for
a long period and gradually comes to rest and then

swings in the opposite direction? | ga@u
ARSI # Teh T2 7 Ygefe ol g Teh el
Frarter & Fore eve & 31 N 3T et &5
ToIT 31mar g 3R AR faadia feger & eger wearg ar
FTecX 19T ?

A Secular variation | WW

B : Annual variation | ¥ ®ITR

C Irregular variation | IAIAT TR

D Daily variation | &feier ®ITAR

37 : Whatis the compass with the graduations
are marked as south with 0° and north with 180°? |

Tt SaraTe AU T 0 ° & |1y STaToT H 3R

180 ° o ATY 3R # g fohar srar g
A : Trough compass | €% hFITH
Magnetic compass | TFahTg AT

B
C : Surveyor compass | IR ey
D Prismatic compass | TISHT Searg

38 : Whatis the direction indicated by an
imaginary circle passing around the earth through

the place north and south pole? | 3 3R gfaror
¢d o ATEH J G2l o IRT 3R A e dred
maﬁaamaﬁré?réﬁanw%?

True meridian | ?ﬁﬂ%ﬂﬂ

Arbitrary meridian | feecd aRkfsaa
Magnetic meridian | Wﬁﬁ%’ﬂﬂ
Assured meridian | A feaa AT

O 0o v >
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39 : Whatis the compass that has graduation
marked as 0° on North and South and 90° on East

and West? | WWWQH@I’WW
gfaToT # 0 ° AR g 3R aRe# 7 90 ° W AT
BRI IGINE

A Trough compass | €% h&FaTH

B : Magnetic compass | gd—slel?lq hFITH

C

D

Surveyor s compass | TR ey
Prismatic compass | TOSHT Seara

40 : Whatisthe sum of the interior angle of a
pentagon? | '~it4{1jo1 o 31T HIOT T JRT FAT &2
A : 260°

B : 360°
C : 440°
D : 540°

41 : Whatis back bearing of AB if fore bearing of
AB=63°30? | AB = 63 ° 30 &I Y [SIRT gl T

AB T 3 [IRITgIcAT 87

A : 243°30°

B : 116°30

C : 242°30

D : 115°30

42 : Whatis the magnetic declination, if the

magnetic bearing of the sun at noon is 354°? |

YFIhIY SehicleIRlel 4T §19TT , T, AITeX o HHY

& o1 geehra f9aRar 354 ° 82
TN ; ‘MN
!
,-a-—!‘e.:s
.f!
w—é%gns
s
A 5°W
B : 5°E
C : 6°E
D : 6°W

43 : Whatis the value of back bearing of the line
AB when the fore bearing of the line is 85°30 ? |

ST 3W@T T B fTIRIT 85 ° 30 &1, A I1ST AB &

S SR T FAT AT &7
A : 215°30
B : 240°30
C : 265°30
D : 300°30

43a : Convert W.C.Bearing to quadrantal bearing?

| W.C. & Farge foafer & sgor

160°30'=WCB

A:RB=N12°30'E
B:RB=S19°30'E
C:RB=S30°30'W
D:RB=N70°30'W

43b : What is back bearing of AB if fore bearing of
AB =N 32°30' E? |AB ST B f9aRaT AB= N 32 ° 30
'ETar AB I e feaRergrefr »

A:N32°30'W

B:S32°30'W

C:N32°30'S

D:S32°30'E

43c : Whatis the included angle of line AB =N 20°
30’ E & line AC=N85° 30" E? |[AB=N20°30'E &

STSsT AC = N85 ° 30' E 3 37T hI0T FAT &7

DON224732

A:60° 00
B:62° 00
C:65°00
D:67°00

43d : Whatis the angle between the lines OA and
OB if their respective bearings are 32° 30’ and 148°

00? | IfE OA 3T 0B & & AT fARET 32 ° 30
'3{X 148 ° 00' § T OA 3iX OB & &I ST HIVT FAT & ?
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43e : What is the true bearing, if the magnetic
) A bearing of the line is N 37° W and the magnetic
3290 .
" declination is 2°E? | € feaRer T greft, afe amser
& . .
Ko ol gorehrd fogRar N 37 ° W & 3R Aoaifesh
) ST 2 “ E§?
v, § A:N35°W
A ge115°30 : B:S35°E
Bran 11630 C:N39°W
F0= D:S39°N
C:a=120°30
D:a=125°30
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44 : Whatis the name of the instrument? | I
HTATH FAT8?

ol
A Clinometer | [Felaiide
B : Abney level | TSai ofdel
C : Dumpy level | SFUT Jdel
D Telescopic alidade | eforEpifUa tfoiss
45 : Whatis the name of method in which

tracing paper is used over the drawing sheet to

solve the problems? | HHTAT3T &I T A & fIT
37597 ¢fie IR ST IR T 3TNeT ey Sy A a7
ATH FATE?

A : Bessel s method | 989 fAfr

B : Traversing method | aaﬁmﬁﬁr

C : Trialand error method | qﬁWﬁTg’%
fafer

D : Tracing paper method | &f&eT 9ux fafer

46 : Whatis name of the level which does not
required any protection from the sun? | 39 oldel

o1 +ATH T § TS0 G A 1S GR&TT T 3Taegehel
H%‘r%‘?

Auto level | 3ifer gl

Tilting level | feoITEaT ofaeT

Dumpy level | 39T olgel

Wye (y) level | ST (y) ofael

O O w >

47 : Whatis the name of the error that the
fittings of table and tripod being loose? | 'EI,'%EFI'

FIT AT § Top arforenr 3R faars & fefear delr &t
T g?
A : Errors of manipulation | ﬁﬁl’gﬁ'@lﬂ@'gﬁ'ﬂ

B : Errors of sighting | HI%iEJI Fr ﬂoiézli
C : Errors of instrumental | 39e0T &I Eloiézl‘l
D : Errorsof plotting | CelITeaT I Eloiézl‘l

48 : How you will test the plane table board that
the upper surface of the board should be perfect

plane? | 31T ToleT Sool SIS ST GETUT Sl hidl foh
SIS TSI TAE TET ol glell AT T?

A : Checks the straight edge in all directions |
T feRmm3tt 3 IreY TFaAr Fr ST ek

B : Setup and level the plane table over a station

| ¥ F¥ah 3T T TEUT R Tl el T FHA
Hh

C : Ifthe bubble is not central position, the error
by keeping packing between the underside of the

board | A oo Fi AT G &, A S H

ATl & ofrer Afehar T@eR e AT ek
D : Correctthe edge by filling and again test |

GIRT IETOT & e FHh

49 : Whatis the colour of road metalled bridge?
RELEEICEEIRT ER
Burnt sienna | WWUTEFI'
. Burnt timber | Hﬁgé'm
C : Crimson Lake | Th&HET o
D : Prussian blue | &l ATell

50 : Whatisthe term name for tracing the
drawing by means of ink (inking) with order of

tracing? | 31eITUT & 3TTCRT o AT TITET (1Teh)
HTEIH Y 3137 I ¢H FA o [l Qe T ATH FAT
g7

Technique of tracing | ST Fr deheiten
Method of reproduction | JTeTeT T fafer
Sequence of tracing | WWW
Should be traced in tracing cloth | EFCI?EI?T

a_\':l'ch{o-l H ST ST AR T

O 0o v >

51 : Whatis the name of term that in this
method of survey it is less costly than other types of

survey? | QRWWW%%W@%
uetIfcl # TE 3o YR o HI&TOT hl Jolell H A
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AGIE?

A : One of the advantages of plane table survey
| Tl Sl TS o WIS & H Th

B : One of the disadvantages of plane table

survey | WWH&W%Wﬁ@W

C : Survey can be done in dense wood areas |
HAGTUT Tl STehal o &A1 3 fohdT ST ThdlT &

D : Great skillis required | 31T Sirer T
HTERTHAT &

52 : Whatis name of the survey in which field
work and plotting are done simultaneously in the

field? | 3 TI&TUT T ATH FT & fordH Hies
AR calfeaT ueh a1 Hies # fhu S 82

Chain survey | IsT TJ&T0T

Compass survey | &dTH TJeToT

Engineering survey | 3’31|i?|aiia| Fdefor
Plane table survey | ToleT Coof FdeTuT

O 0o w >

53 : Whatis the method of survey? | TJ&T0T &1
frsiadrs?

Radiation | TafeRoT
Resection | R&erereT

Traversing | gﬁﬁﬁT
Intersection | $eX TaTeT

O 0O w >

54 : Whatis the method of survey? | Gd&ToT I
aferearg?

Radiation | TafeRoT
Resection | R&arereT
Traversing | aaﬁ?T
Intersection | §eI AT

(=2 o T -~ B

55 : Whatis the name of triangle formed by
joining the ground points? | Eﬁﬁ'%ﬁg&ﬁ'&ﬁ
TAETeRT oot TY3YST T AT T 82

A Great triangle | 3181 FFepioT

B : Scalene triangle | %WEW

C Isosceles triangle | waﬁa@ﬁaﬂw

D Equilateral triangle | Wﬂ?ﬁﬁﬁw

56 : Whatis the name of method? | TAfer &1
ATH FATE?

Sy

A Two-point problem | a’rﬁg@rw

B Three-point problem | Eh?rﬁzg@rw
C Tracing paper method | giﬁal Io¥ fafer

D Graphical method | TMThahel [aTer

57 : Which survey is most suitable for filling the

various details between the stations fixed by

triangulation? | @éﬁﬂﬁammﬁrﬁﬂﬁaﬁ%ﬁ
& a1 faffe= faavor & forw sler ar adetor aea

RS

A Levelling | eiafeiaT

B Chain survey | AT TeToT

C Plane table survey | ToleT SaeT AJeToT
D Compass survey | FHEqrT FIETOT

58 : Whatis the method of survey? | TA&TOT I
I Farg?
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A Radiation | fafeoT

B Resection | R&erereT

C Traversing | E’\Hﬁﬂ

D Intersecting | 32?@3:%17{

59 : Whatis the name of method used in plane

table survey similar to that of compass survey or
theodolite? | HF9TH FA&TUT AT FAANBIeNse
HHTE ToloT ool HS&TOT H TgercT Tafer o A1 1

&?

Radiation | TafeRoT
Resection | R&erereT

Traversing | a_crﬁ?T
Intersection | $eX TaTeT

O O w >

60 : Whatis the name of the process of putting
the plane table with some fixed direction so that
the line representing a particular direction on the
plan is parallel to the direction on the ground? |

Colel TaTeT oh TehdlY TATRereT frem o &y ety &

GTShaT T T ATH & dTfeh ArateAT I fordlT gy

feam 1 yfafafica w3 arel t@r AT R fegen &

HHATATR &7

A : Centring the plane table | Tolel ¢ T

FgoT

B : Orienting the plane table | ToleT ool &l

HIRTeE &wTeTr

C : Orienting by back sighting | tﬁ@é’@lﬁgﬂ'
ARG

D : Orienting by magnetic needle | Wﬂé

SNy NRTfear

61 : Whatis the colour of compound walls? |
Hgerd SR ol {7 AT 82
A : H-green | Td-g

B Indigo | airel
C : Burntsienna | 38X SIT3eT LT T
D Burnt blue | §=¢ afelT

62 : Which place the plane table set up for
prepare a road map? | U8 HT IR =T o ToIT

Colel TaoT o fohdl FUTeT O FATTA T ST 872
A : Centreof road | Q:BEFWQT;T

B : Leftside of road | W*E’I’é’%ﬂ?

C : Rightside of road | Wa?a'lém

D : Alongany one side of road | 93 o fohdT
Teh fehed X & 1T

63 : Whatis the colouring building benchmark?
| @Tﬁwmw%‘?
Burnt sienna | 3TgX SIT3+T 13T T
: Burnttimber | Gl?ﬂ'gém
C : Crimson lake | fhHT ol

D : Prussian blue | gl sATell

64 : Whatis the method with three known
object points and its plotted position on the
drawing sheet are taken for solving the problem? |

AT AT 3ifeatere dise & a1 fafer aam & 3R grsar
effe IR sHHI Taile Fr Fufa gaear #f gof FA &
%U?s?m‘s’%‘ﬂ

A : Lehmansrules | oigHe & fAae

B : Mechanical method | ITf3e Afer

C Traversing method | ¢afder fafer

D Trial and error method | W&TUTWE!,%

65 : Whatis the name of problem? | HHEIT sl
AT FATE?
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A B c A B c
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y 1 A 1 Vi
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\/ AL

P
P P

Two point problem | a’rﬁg@rw
Three point problem | Eh?rﬁgﬁww
Bessel s method | seH hr fafer

Trial and error method | qframaﬂwg%

%Uﬁw>

66 : Whatis the name of method? | Taf&r &1
ATH FATE?

Bessel s method | SHeH &I fafer

Two point problem | Eﬂ'ﬁ?&ﬁw
Mechanical method | T3 A&

Trial and error method | WH'UTB-T"\"E%

%Uﬁw>

67 : Whatis the method with any two of three
known objects points and its plotted positions on
the drawing sheet are taken for solving the

problem? | TFHETIT ST &l e oh ToIT S1SIT T T
foraY 8ft JreT AT 3iTsoiare dised 3R 38 Tolic
fpw aTT vat & wry fafer = g

Lehman s rules | dgH & s

Bessel s method | SeH &t fafer

Traversing method | WT%@T

Trial and error method | Qﬁ&ﬂ'UT}ﬁ'\"?ﬁf

%Uﬁw>

68 : Which method of plane table survey the
figure represents? | ColeT Sool JA&ToT T it T

fafer smepfer el &2

A Resection | fafeRor
B Traversing | aaﬁ?T
o Radiation | fafeoT
D Intersection | $eI TaTeT
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69 : Whatis the name of level designated as self
aligning level? | T TXQUT ofadl & ¥ H ATfAT
AT T ATH FATB?

A : Tilting level | fearfear claer

B : Autolevel | 3iteY gt

C : Dumpy level | 3HUY ofdel

D : Wye(Y)level | G (Y) el

70 : Whatis the name of the levelling
instrument? | WTWWWWT%?

S —

Hi

Dumpy level | SHUT oael
Wye (Y) level | @/ (Y) oldel
Tilting level | feaITeaT oiaer
Auto level | 3ifer g

O O w >

71 : Whatis the name of the levelling
instrument? | ofaloiaT SEZHE T ATH FAT & ?

A Dumpy level | YT ofael

B : Wye(y)level | AT (Y) ofael
C
D

Tilting level | feafeer ofaer
Auto level | 3iTeT dgel

72 : Which column is used, the first entry in the

level book page? | ﬁaﬁaﬁﬁquaiﬁm
R 9T o1 3UeT foha ST B

A : Foresight | WTTQTI—&';ET

B : Back sight | Sioh HTSC

C : Intermediate sight | H?«'q_d?ﬁﬂ'l'g}?
D : Height of instrument | 39ehIUl @';wé

73 : Which branch of surveying deals with the
measurements in vertical plane? | Fdeqor Fr i

Y T FEETER Toled H AT § HTd &2
. Chaining | TfIaT
B Levelling | ofafeidT

C : Compassing | FFITTHIT
D : Planetabling | ToleT e oldT

74 : Which line is normal to plumb line at all
points? | T fag31l R ahleT A STS=T Coldl STS=T &
foT g 82

Level line | oidel oISl

. Vertical line | F¢aTeR ¥@r

C : Curvedline | WWT

D : Horizontal line | &ifas {@r

75 : What bench markis established for short
duration such as at the end of a days work? | fer&Y

F & 3 H H 37 & forw i ar S AR
T forar STaT €2
Arbitrary bench mark | 3Tfeedy &< #1eh
. Temporary bench mark | 37/ERY &9 AT
C : Permanent bench mark | T < AT
D : GTS bench mark | SETTH s AR

76 : Whatis the name of the level that does not
require any protection from the sun? | 38 ofdel T

oI T § T8 G @ ol ot e ot JHraereharr
eI &7

A : Titling level | feaIfear olaer

B Auto level | 3iteY et

C Dumpy level | SHUT oael

D : Wye (y)level | @ (Y) oidel

77 : Whatis the name of the staff used while

the sights are long and the reading viewed through

instrument? | &1 TS oI 8l & 3R 3TaoT
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& ATEIH T US STeY aTel TTH Rl o118 FAT &7
A : Solid staff | SIF FETH

B Invar staff | $edI¥ TCTH

C : Target staff | TRIIC T€TH

D Telescopic staff | CellEehI U TTH

78 : Whatis the name of the staff 3m long and
the band fitted is graduated in mm used for precise

levelling? | 3 #IeX & 3X &3 five fhT aTw
FHAATRIT T ATH G Aafoiar & forw 3uaer frw
mﬁmﬁﬁxﬁﬁm%‘?

A : Solid staff | 1F &%

B Invar staff | SedIX TTH

C Folding staff | BITesIT TETH

D Telescopic staff | el TUH TTH

79 : Whatis the smallest graduated division in
levelling staff? | mWﬁmmﬂjcﬂég
AT FATE?

A : 05m

B : 0.05m

C : 0.005m

D : 0.0005m

80 : Whatis the figure describes? | R guTe
FATE?

A : Reading the staff | TCTH T TGaIT
B : Holding the staff | TCTH I GehsaT

C : Adjusting the level | TR FHTAISIT AT
D Levelling up the instrument | 3Teh0T Sl
HHTT hadl

81 : Whatis the message to indicate the
movement of leftarm over 90°? | 90 ° 9 JIHATT

Frarfa #r AT i & fov Far geerg?
A : Returntoarm | SiTrquT?vﬁé
B : Establish the position | fEfa Tanfd ¢

C : Movemyrightlﬁffd‘l‘@umw
D : Movemyleftlﬁﬁa'lé'msff

82 : Whatisthe process if the difference of level
between two points is determined by setting the
levelling instrument midway between the point? |

1T & it & dfrer b everer o e Rig dp ey
FHRA e @l Aeia s e fmar smar
‘s‘a‘rwm%&?

Simple levelling | &9l efafelar

: Profile levelling | q’ms?»raaﬁw

C : Differential levelling | FSHIfAer slafelar

D : Reciprocal levelling | ¥&YIhel oidfeidl

83 : Which type of the collimation error is

eliminated? | WW@'WQH%’%W
GECIGIRE

A : Dumpy level | SHUT olael

B : Wye(y)level | Wye (y) EX

C : Cooke s reversible level | Wia@a@r
el

D : Cushingslevel | ff‘@lﬂ@l?ﬁr

84 : Whatis the name of the imaginary line of

constant elevation on the ground surface? | STHIT

Tdg W AR Fa18 Y Fredaieh IW@T T T AT
g7

A Relief | Tgd

B Contour line | FHTTT 3@T

C : Contouring line | hERAT ellSsT

D Contour interval | THTA 37Tl

85 : What method of contour is suitable for

small and low undulating area? | AT &I hieT TY
fafer B¢ R e 3 817 & foIv SugFa g2

A : Bysquare method | g fafard

B : By crosssection method | g JarerT fafer
Gant

C : Bytachometry method | %aﬁﬂzfr%%a\am
D : Bylevelling method | aa’rﬁwfaf%ra\am
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86 : What method of contour is suitable for
contouring in hilly areas? | ggTST 8731 & FHT
ToTIeY 35 FOYT Trten 3 ey o0 R SR 2
A : Bysquare method | g fafara

B : By crosssection method | $rE aFeTA TAfer
EarT

C : Bytachometry method | éﬁﬁa%@ra\am
D : Bylevelling method | aaﬁﬁ%ﬁra\mu

87 : What R.Fis select the drawing of building
sites as a topographic map? | {-Hoilelgfach HTATI

& &9 H [AATOT TUT T 3187 T TATAT R.F FT

g?

A 1/100

B 1/1000

C 1/5000

D 1/10000

88 : What measurement are plotted to a plan or

a map? | TodY IS A1 T H 7 A9 fear SArar
g?

A Linear measurement | {&R—T AT

B : Angular measurement | Frofg AT

C Vertical measurement | FEAER AT

D

Linear and angular measurement | ¥f@ 3R
FIofT AT

89 : Whatdimensions are drawn in a plan of

contour? | GHTT &1 AraTAT H hiT T ITATH 872
A : Vertical dimension | F€aTeR 3TATH

B : Horizontal dimension | &fcet 3mameT

C : Inclined dimension | A& 3T

D Parallel dimension | HHTTAR 3T

90 : What levellingis called as in direct
levelling? | STIREC oldafeldl H oldfeldT T T gl
STATE?

A : Plane table levelling | Tl ¢ael olafelar

B : Trigonometric levelling | ECIMIGGIE
saferr

C : Reciprocal levelling | YHTHTehel elafelar
D : Simple levelling | F&9er ofafelar

91 : What will be the difference of level A and B
if the B.S is 3.560m and F.S is 2.860m? | gig B.S

3.560m 3T F.S 2.860m & aT A 3iR B & olgel & &1

A gem?

A : 1.700m

B 1.600 m

C : 1.500m

D 0.700 m

92 : Whatformulais used in arithmetic check in

height of collimation method? | 3UIUT &1 TS
fafer 7 sferarfOrclrar Sitar 7 foner T & 3uter fama
STl 87

A : 3BS-3FS=LlastR.L-FirstR.L|ZBS-3FS

= 3ITdHFR.L - UEATR.L
B : BS+XFS=LlastR.L-FirstR.L|XBS+2F.S

= 3ITdHFR.L - UEATR.L
C : B.S-FS=lastR.L-FirstR.L|B.S-F.S=3ifa®

R.L-9gaTR.L
D : XBS-3FS=Rise-Fan=_LastR.L-FirstR.L|

3 B.S-.SF.S =8 - Bl = 3ifa# 3IR.TA. - UH
3T,

93 : Whatis the height of collimation shown in
figure with R.L 100.00 and B.S taken from A is 2.850

m? | =T & 3gaor it Fars F7ar gefy e 100.00
T AP fORITIMATB.S2.850m &

g

%\4&7 y
A

RL=100.000

100.520
100.850
102.850
103.000

OO w>»
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94 : Whatis the purpose of using theodolite
primarily? | WW@WWWW
ERE AL DI N E

A : To measure vertical angle only | shael
FEATLR 10T I AT & folT

B : To measure inclined angle only | WW
SHIUT I ATYA & foIT

C : To measure horizontal angle only | 3del

SITAST I0T &A1 AT & forT

D : To measure horizontal vertical angles |

SISt FEaTer 1T & AT & fow

95 : Whatis the instrument with its telescope
can be revolved through 180° in a vertical plane

about its horizontal axis? | w@rag-qﬁ?rafrm
SITAIST 3187 & IR H Ueh FeaeR faAT 7 180 °
ATETH T FATT fohar ST TehT 872

Auto level | 3ier g

Dumpy level | &I oidel

Transit theodolite | @ﬁfm

Non-Transit theodolite | #ieT - Eifaie

IBRIEGIE

o 0o w >

96 : Whatisthe name of the part marked as X?
| The X o &9 H TRITETT HIIT T ATH FAT &2

[
A

U=

g

Trivet | ;‘Iéﬂ?
Eye piece | 38 91

Telescope | a,g‘qﬁ?r
Tripod head | ;"I'g';qv'l?s'%_s'

O 0O w >

97 : Whatis the name of part marked as X? | X
& ¥9 H RAfgAd AT T AT FAT R ?

A Level tube | AT T

B Metal case | F—I’I%’EFFEWT

C : Bubble tube axis | 9ol €T &7

D Top of Telescopic axis | TTERITUH 3787

98 : Whatis name of the component? | &ceh ol
AH FAT8?

Il | €9 —

A Telescope | E{{Tsﬁﬂ'

B Dumpy level | chﬁ'ﬁa?l'

C : Wye(Y) level | T (Y) ddel

D Cooke s level | WW

99 : Whatis referred to smallest measureable
unit in theodolite? | FIAISIase H TaA BT AT
Wsméaﬁwmm%?

A Double sighting | Sdcf ATSfEaT

B Least count | 3TeCcHTh

C : Swing | f&aer

D Contouring | EhTS,ﬁ?T

100 : Whatis the method in prolonging line? |
grelifater ase Fr fafer g?
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A : Prolonging line by first method | 9geil fafer

B : Prolonging line by second method | ?{Hﬁ
C : Prolonging line by third method | IR fafer

D : Prolonging line by fourth method | tefy fIafer

101 : Whatisthe method of precisely the
horizontal angle from a single station point can be

measured? | mmﬁmﬁgmﬁﬁaw
Fr S &7 frg R T amar srasarg?

A : Reiteration method | R¢eret fafer

B Recipetation method | Yf&TcereT fafer

C : Radial method | 33T fafer

D Off set method | 3iTRde fafer

102 : Whatis the deflection angle that the angle
measured in clockwise direction? | a8t ShroT

FT & ST IUT ol GIATUTIA TSI H HTIT ST g2

A : Left deflection angle | STT [d&TquT HIOT

B : Right deflection angle | T fa&TquT ShoT

C : \Vertical deflection angle | Fearer faerqur
o7

D : Horizontal deflection angle | &3faer fagigur
o7

103 : Whatisthe name of theodolite with one
of its telescope cannot be revolved through 180° in

a vertical plane about its horizontal axis? | 39T

SAERIT H T Teh o A1 FRAASIaTse 1 A1 F41
g, 30 &IfcoT 3787 & IR H Ueh FLATER Toldd 7 180
° o FATEYH H YH o161 Hehl 67

Auto level | 3iTeY et

Dumpy level | ST ool

Transit Theodolite | gTfote RAIATSIeSE
: Non - Transit theodolite | ﬁﬂ—;‘iﬁlﬂ'

IBEIEGIE

104 : whatis the technical term for the process

of bring the vertical axis of theodolite immediately

over a mark or station point? | @I?IT*I'IEE’@'
FeaTeR ¢l o Rl vt I w2 foig o
@rq%m%ﬁ»mamﬁﬁﬂ—dw%?

Cantering | QR'UT

Traversing | ?:dﬁ?T

C : Non-Traversing | ;ﬁa'-aaﬁ?T

D : Collimation | dIfeIALET

(=2 o T -~ B

105 : Whatisthe term for rotating the
telescope in horizontal plane about its vertical axis?

| 31T FEaTeR 3187 & IR A &ifdst [aATeT 7 &t
Y FAT & oI 7 2ec; &2

A : Cantering | higd

B Revolution | ﬁaﬁ?&gm

C : Swing | f&aer

D Sighting | @TsfeaT

106 : Which method errors due to eccentricity
of the spindles are eliminated by reading both the

Vernier of the theodolite? | Eafeger T sTTITALET
& HROT HieT W Ay Jfear Reiense & gt
iR &l 9gat & FATCT &I STl 62

A : Ordinary method | ETYROT fafer

B Repetition method | Wﬁﬁ

C : Recitation method | Yf&eer= fafer

D Compound method | W%ﬁ

107 : Whatisthe name of traversing that is
used for running survey lines of a closed or open

survey? | aaﬁwao‘ramw%a’rwaamlgﬁ
FAETOT T TALTUT ATSAT T TelTet oh ToIT ITIIT
BRI IGINE

A : Chain surveying | T GdeToT
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B : Compass surveying | HETH HIETOT

C : Theodolite surveying | faaTsIemse TdeToT
D : Planetable surveying | ToleT &deT T O

108 : Whatisthe method of prolongation of a
straight line that result cumulative errors, if the

instrument is not in adjustment? | U Arefr y@r r
GG el ol TATEl T § Toieeh IROUTHET®T
T 1T Bl §, 3R 3UVT HHTANST H 781
g?

A : Prolonging a line by first method | IgelT [aTer
B : Prolonging aline by second method | E{Hﬂ'

C : Prolonging a line by third method | &fr&{r
D : Prolonging a line by fourth method | tefy

109 : Whatis the method used for the
instrument is suspected with improper adjustments
and the error is doubled or reversal of telescope? |

39T & eI I TATIIST & Ffe Sl g1 a1
XA 31T 8 ad FleTa fafer Juier iy s &2
A : Prolonging a line by 1st method | Igell fafer
B : Prolonging aline by 2nd method | ?{Hﬁﬁ@
C : Prolonging a line by 3rd method | Y fafer
D : Prolonging a line by 4th method | Tteft fafer

110 : Whatis the adjustment done to place the
vertical axis exactly over the station? | 3€dTeY 3787

T T2 I TG oh [oIT haT 13T FATASTT FaT
g?

A : Settingup | &faT

B : Centering | awT-E{UT

C : Levelling up | eafeldr
D : Focusing | BIhTGT

111 : Which method is adopted while the
instrument in improper adjustment to establiish the

intermediate point? | mﬂaﬁﬁgﬁﬂﬁ%?ﬁ'@
3o TeIel SYROT HATATST oh GRTeT et &Y fafer
3YATS ST 87

A : Backsight | 9 ITSC

B Fore sight | EFUITQ:I'IEE'

C : Single sighting | T&aTer ATSTETT

D Double sighting | S&Tel ATSfeaT

112 : Whatis the test carried in theodolite to
make the plate bubbles centre to run if the vertical

axis is truly vertical? | qﬁmwaﬂaﬁ
Tellel o T FRAASTrse A shioT a1 gdieqor fhar
ST § A FAT FEATER 3787 arEdd H FEATER 872
Spine test | QITIBT-T?R-T
Plate level test | Tole odel &&e
Collimation test | FITHAT CEE

: Bubble tube adjustment | SsTel I
HATASTA

o 0o v >

113 : Whatis the traversing that a device is used

to fix direction? | Saf&eT T § Toh Uah FEars@ &1
39N fERAT T e & TT FomdT STTem g2

A : Chain traversing | ﬂﬂiﬂﬁﬁ

B Compass traversing | Wﬁaﬁﬂ

C : Theodolite traversing | fﬁ'&’l’s"lﬂﬁl’w
D Plane table traversing | @Hé‘@lﬂaﬁfw

114 : Whatis the major disadvantage of open
traverse? | WWWQ@'@WW?

A : Thereis no check on summation of angles |
HIOT o AT O IS N1 oTeT &

B : Check both linear and angular measurement
| ST Qe 3R rofr AT Y T T

C : Traverse are terminate at the same point |
Teh 81 foig IR ¢ad ! FATe fham ST &

D : Mathematically closed and geometrically
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opened | IO ¥ & §¢ IR ORI §a &
GrelT 7T

115 : Whatis the name of survey done after
balancing traverse? | Wﬁﬂ@ﬁﬁmé?aﬁ
forT aTT Fd&TOT ST ATH FATR?

A : Offset survey | 3iThaeE TdeoT

B : Radial survey | Yf3er gdgTor

C : Plotting a traverse survey | Ueh 3eJ9EA
gdaToT THlfe Fer

D : Bowditch s method | s $r fafer

115a : What s the least count of theodolite

instrument? | FAATSIATSE 39RIOT ST TcUdHTH
FATE?

A:20'20"
B:20'10"
C:0'20"
D:20'5"

115b : What is the one main scale division of
vernier thedolite? | afIaR fAATese A HET

YHTSY T Teh HIET FATE?
A:15 -0"
B:20 -0"
C:22-0"
D:25 -0"
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116 : Whatisthe term referred as fixing of small
timber battens to timber walls with laths and

boards are nailed to it? | BICT oThal hT 9T ahl
TIhar I Erart R enfSat & Sk alel oh T H
ﬁ%&c%mﬁﬁmwaﬂuﬁ?r%?

Rebating | Rafear

Studding | T&f3aT

Mitering | ATSeRaT
Grooving | II;%?T

O 6 w >

117 : Whatis the maximum range of distance

between vertical channels? | F€aTeR JaTall & ST
ohT oI <hT JTRrehcTe AT T &2

[ ]

S B o

]

pre

[ XX XX XX
| XX XX XX

| XX X
L XX XX

P
A 60 - 80 mm
B 80 - 100 mm
C 100-120 mm
D 120- 140 mm

118 : Whatis the thumb rule for breadth of
window? | mﬁa’@é’%ﬁvwmw%‘?
A : 1/5(Width of room + Height of room) | 1/5
(FR T ASTS + FoR Y F4ATS)

B : 1/8 (Width of room + Height of room) | 1/8
(FF F1 TIEES + FR 1 3T1S)

C : 1/10(Width of room + Height of room) |
1/10 (X T TS + HEY H FT1E)

D : 1/12 (Width of room + Height of room) |

1/12 (FFEL HT TS + HAX T FT1E)

119 : Whatis size of window shutter in window
designation “12 WT 12”? | 12 WT 12 [d8r qeaTd@ &
TISHhT & AT T HTHFR FAT 8 ?

A : 1200 x 600 mm
B : 560x1100 mm

C : 1100x460 mm
D : 560x1200 mm

120 : Which type of windows are controlled by
pulling metal weight? | QTIT;TQ'T ToTel T Tiaa ThE

R I fasferar AaRa $rardr g2

A : Double Hung Pivoted Window | S&eT 4T
Raies fasr

B : Casement Window | hd#Hc Rgshr

C : BayWindow | & T@3sr

D : Clere storey Window | #foTelr f@shr

121 : Whatis the ventilator provided in
continuation of Door/Window at its top? | dfceiex

ga / TSI Y 379eY o o) Sy Ty &
gcTeT TohaT STTcT 87

Fanlight | BeTellse

. Sky light | THTS TITSE

C : Dormer Window | 3R 3=y

D : Corner Window | Eﬁlﬁ'ﬁf@%ﬁ

122 : Which window is provided on sloping
roof? | Tellel dTell B IR hleT AT TESHI UeTeT hr

ST &2

Table Window | &&e fa3r

Lantern Window | CICIGRICEC ]
Dormer Window | 3R fasr
Clerestory Window | SFelREerT fasr

o 6o v >

123 : What s the process of sinking the edge of
one piece of timber to another by cutting grooves

across its grains? | STehal o FUX TN I HICHT
ST & Ueh Zohs T QAR Tehat X U TWa T Tfshar
FATE?

A : Housing | 83T

B Moulding | Ffesar

C : Planing | TaTfaiaT

D Chamfering | IHBRAT

124 : What s the name of carpentry joint? |

TSN SV T AT FAT &2
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N

Matched and Beaded joint | f&eITeT 3k digg

Matched and V jointed joint | f&ereT 3R v

Dowelled joint | ldes SIS
Ploughed and Tongued joint | Tol98 3iR €318

- SN G i

125 : What is the name of joint? | SIS &I ATH
FATE?

+ =i
L 3
S Y )

Lapped joint | It8 SIS
Fished joint | fhers i
Scarfed joint | T SIS
Tabled joint | ¢se38 SIS

o 0O w >

126 : Whatis the name of carpentry joints? |

FRYS ST T ATH FAT 8?2

N

A : Buttjoint | SC SIS
B : Splayed joint | TS SIS

C : Rebated joint | Recs IS
D : Fished joint | RS SIS

127 : Whatis the name of carpentry joint? |

FRYT SNST &7 ATH FATE?

AN

Rebated and filleted joint | Rees 31T fth oS

Rebated joint | Rees S5

Rebated Tongued and grooved joint | iia@g
&a1s 3R ez Sise

D : Tongued and grooved joint | €318 3-ﬁT3,]\03

VS

SUESS

A
S
B
C

128 : Whatis the name of carpentry joint? |

FRUST ST &7 ATH FATE?

Shouldered housed joint | N33 §I3H IS
Housed joint | gE3g SIS

Mitred rebated joint | FTSeX §13T SIS
Dovetailed housed joint | 3a¢e3 813 SIS

O 6o v >

129 : Whatis the name of carpentry joint? |

FRUCL SNST &7 ATH FATE?
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Angle halved joint | T3Tel §THS SIS
Tee-halved joint | EI-gTHS SIS
Dovetail halved joint | 3d¢cs 8TH SIS
Bevel halved joint | 9IS &% SIS

o 6060 w >

130 : Whatis the name of carpentry joint? |

FRUCL ST T ATH FATE?

Oblique - Tenon joint | 31ifeeTe - EFIFN:PEIDEI'_CT
Birds mouth joint | ETSQFH'B'QTGﬂ's'

Housed joint | §I3H8 SIS

Mitred and Rebated joint | #TSeY U8 Raes

%UOWZD

131 : Whatisthe name of part marked as X? | X
& & A REAT AT FIAH FATE?

[ ]

— —

Bottom rail | STCH el
Top rail | e el

Lock rail | CIERCH
Frame | %ol

(=2 o T -~ B

132 : Whatis the name of part marked as X? | ?
X o ®F H FATETT $119T T AT FAT 82

— 7|7

— = = [

Hold fast | 8T8 BIEC

Horn | glet
Frame | SheT

Style | ¥cIsol

o 0o v >

133 : Which is used to subdivide a door or
window with a vertical member of a frame? | ST
Teh The oh SEATER TGET o AT Ueh &Xarall AT
Targhr ot ger & et & T sueT v Srar 2

Mullion | ﬂﬁﬂﬂ
B Transom | A
C : Style | ¥cIsdl
D : Lockrail | CIERC]
134 : Whatis a depression / recess inside the
doorframe to receive the shutter? | e 9TCd et
%%rtrawﬁra:mwww%?
Mullion | ﬂﬁ'q?{
B Transom | ';'I@FFT
C Rebate | Ree
D : Sill|cgell
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135 : Whatis the relationship of width of door

and H height of door? | Wﬁmwm
$1 FATS H T FAT T &2

A : H=(Width+1.5m) | H = (23 + 1.5 HeX)
B : H=(Width+1.35m) | H= (85 +1.35
Hiex)

C : H=(Width+1.2m) | H = (31S + 1.2 Hex)
D : H=(Width+1.1m)|H=(TEE+1.1#Hw)

136 : Whatisthe name of part marked as X? | X
F ¥9 H RIETT 06T FTATH FAT 82

/—X
7

Lipping | TorToaT
Batten core | YT PR

Cross band | P s
Panel | ool

O O w >

137 : Whatisthe name of hinge? | &Il &l ATH
FATE?

Counter flap hinge | T3 FelT Tl
Butt hinge | §¢ fgeat

Back flap hinge | S FolT fgeol
Garnet flap hinge | Tﬂﬁ'c."q-ﬁq%\?

o 6o w >

138 : What s the size of opening for designation
“6 WS 12”7 | 9&=ATH "6 WS 12" & foIT @it &r

3R FATE?

A : 600x1200
B : 1200 x 1000
C : 1200x 1200
D : 1000 x 1000

139 : Which window is provided near the top of
main roof? | FE &l o MY & I HleT T &z

eTeT Y AT 872

A : Panelled Window | WW@E@'
B Casement Window | FHaHc f@shr
C : Clere storey Window | #TSTelr &SI
D Table Window | &&eT faaT
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140 : What is the road safety Sign? | #Seh &I

RIeg FaT8?

A Mandatory sign | Jifaar gha

B : Cautionary sign | GTaYTsil &T b
C
D

Informatory sign | FeITcHh Hohdl

Prohibition sign | TS Hehd

141 : Whatis the name of tool? | Cel bl ATH
FATE?

_—

A Wire Stripper | arR f&eux

B Crimping tool | fShT&IRT 3TaRioT

C : Combination pliers | dToTeT EXIAT

D Diagonal cutting piers | ot e e
142 : What s the unit of electrical resistance? |
ﬁaﬂﬁmrﬁrsaﬂéw%?

A : Volt|dleT

B : Ohm |37

C : Watt|dc

D Ampere | TFITX

143 : Which instrument is used to measure

electric current? | ﬁagr—rmafrmﬁra:ﬁtr
ﬁm'éhlch{ul T 3YT4] ﬁ"_QToﬂdl %?
Ammeter | AT

Voltmeter | dieeaTex

Wattmeter | dTcHIC

Ohm meter | 37 HreX

O 0O w >

144 : How many electrons are there in the third
shell of copper atom? | Hﬁa'TWTUIQFWW
H fFd=t selFela &7
A .
B : 13
C : 18
D 29
145 : Whichis a conductor of electricity? |
mﬁwwaﬁﬁ%’»
A Mica | 3Th
B Copper | dTET
C Air | 91
Pl
D Glass | s

146 : Which is a temporary wiring? | 37Uy
araiear sl drg?

A : Casing and capping wiring | 3TTaXoT 3iR
HIT araier

B : CTS/TRS wiring | @IEred / E13TRTH arafer
C : Cleat wiring | FeraRer araRar

D : Lead sheathed wiring | o8 FITeT arIRaT

147 : What is the name of diagram? | 3TRW &l
AH FATE?

g

pas o

®

Layout diagram | SIT3C 3IRG
Installation diagram | TUTIAT 3IRW
Circuit diagram | Iféhe 3IRW
Wiring diagram | arafXaT &l TerRIT

O 0o v >

148 : What s the unit for quantity of electricity?
| TosTely T AT & fow sohrs FAT 82

A : Mho | FgY
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B : Coloumb | pelleEs
C : Volt/Second | @rec/aHhs
D : Ampere/Second | TFURX / B3

149 : Whatis the first aid to be given to stop the
bleeding of the victim? | GIfSd o IFaATT I Ahad
o for & S1er arelr yrafaes Rifrcar Far &2

A : Applying ointment | AXGH oIITTAT

B : Keeptheinjured portion upward | gTdel
REY A IR A 3R G

C : Covering the wound portion by dressing |
3T ganT ara & FE T &hatr

D : Applying pressure over the injured portion |
T 880 I ST SATa] AT

150 : Whatisthe golden hour for victim injured
on head with risk of dying? | Fet o STEH & AU

ﬁwwgﬂ%aé:ﬁvmﬁmmw%?

A First 15 minutes | 9gef 15 fAsie
B First 30 minutes | 9geol 30 [Aae
C First 45 minutes | 9gof 45 fAsTe
D First 60 minutes | 9gol 60 A
151 : Which condition of the victim is referred

as COMA stage? | Df3d &1 forg RRafa s coma
AT gl SATAT8?
A : Unconscious but can respond to calls | Sgrer

CIEGEICEIRCICE TR C b

B : unconscious but cannot respond to calls |
ST olfehel el T STATS T8l & Tehll

C : Breathing but cannot respond to calls | RaTH
AT il T STaTe AT & Thell

D : Lietotally senseless and do not respond to
call | G oG @ HAGTEIeT gl oIc 3T et hl
CEICE Ry

152 : Whatis the use of tool? | 39hIUT ol
SUAET FAT &2

YR >S———0D
Holding the hot substances | I ICTY Thsa
Calling and twisting wires | ﬁﬁ?T}ﬁT%ﬂT

A
B
SIEY
C : Extracting nails from wood | aa»—s?r@ramsr
IGEACE

D : Loosening and tightening of bolls and nuts |
aier 3R 77 et IR Fa=T & forw
153 : Whatis the purpose of switch in electrical

circuit? | T Hidhe 7 T 1 3egeg Fag?
A : Regulate the rated supply voltage | 3¢3
SRt Aot Y R

B : control the amount of current through load |
TS & ATEYH Q TAATA T AT & FIFT

C : Start (or) stop the flow of current | ¥IR&T ()
AT & JaTg Y A

D : Provide the path for the current to flow |

JaTg & oI aada T & fov 927 yere &

154 : Whatis the indication of neon polarity
indicator used for checking AC supply? | AC HTq‘ﬁ
T ST o forw farer arerReT $fEehex 1 Tohd T
g7

A : Both electrodes will glow | GI<il Selaels
THR

B : Onlyone electrode will glow | hael Tah

SIS THF SATTI

C : Both electrodes will be flickering | &l=it

Solerels feAfeAT g glar

D : One electrode will glow and another will be
flickering | Ueh SeloFcIS TS ST 3-ﬁT§§NI
feafear sreem

155 : Which instrument is used to test the new

wiring installation? | WWW\@QHW
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TIETUT et o ToIT foh & 3TRIOT ST 3UITIT fohar
ST E?

A Multimeter | FecIHICI

B Ohmmeter | 3T&H HIeX

C Voltmeter | dlecHIct

D Megger | #AIR

156 : What effect of electric current is applied in

ceiling fan? | "ifcier thet 7 Scifdeeh e o1 FaT
HTT ISl ?

A : Heating effect | A9 YHATT

B : Chemical effect | AT THT

C Magnetic effect | i_l;ﬁ@'ﬂ'qm

D Gas ionization effect | 3T TIATRIOT THTT

157 : What is the maximum permissible load for
a light and fan sub circuit as per IE rules? | IE To&#T

& 3eTHN Ueh Yehl2l 3R 92 ek 3 Hiche & faw

HTheTd ITAT AR FATE?
A : 800 watt

B : 1500 watt

C : 2000 watt

D 3000 watt

158 : Which is the polarity of direct current
(DC)? | JcT&T &R (DC) T el ahleT T 872

A : Phase (L) and Neutral (N) | g (L) 3-ﬁT@:§H
(N)

B : Phase (L) and Negative (-ve) | BT (L) 31X

T UTcHSb (-ve)

C : Positive (+ve) and Neutral (N) | EIeITcHSD (+
an) 3 =gger (N)

D : Postive (+ve) and negative (-ve) | ¥elTcHSD (+
ve) 3R FOTcHS (-ve)

158a : What immediate action to be taken if a
person get electric shock? | 3R fordT safad &hr
ToroTelT &1 ST f@er dT T dcshlel HIRATS Hr
Sreefr?

A : Report to your authority | 379 JTFR Fr
Rarc &y

B : Call for the doctor for medical treatment |

Rifhcdes @ Rifhcar & faw e

C : Call other persons for help to rescue true victim
| g NfST F T & FAIT 37 IfFaaT
Hee & farw germd

D : Switch ‘OFF’ the power supply | TersTelT T
3Mgfet t ‘e Y
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159 : What is the name of floor? | HToTel ST
ATH FATE?

el L T T
2"
e, Nty

Marble floor | HITFEFR FT HA
Muram floor | ﬂmtﬁﬂ'
Mosaic floor | ﬂ’l_g\-lﬁtﬁﬂ

Solid ground floor | Waﬂ\ﬁﬁ

o 0O w >

160 : Whatisthe span for provision of
herringbone strutting in single joist timber floor? |

Tehol SIIEC TThal & BT H gReET Eefear &
m?ré;ﬁtrma—'m%?

A 1.0 m

B 1.5m

C 20m

D 24m

161 : Whatis the maximum span for single joist
timber floor? | Tehel SIIEC olahal & BT & folw
TR AH 3aT FATE?

A : 25m

B : 30m

C : 36m

D : 40m

162 : Whatisthe name of part marked as X? | X
& U H RAETT HRT I AT FATR?

o

I

Ceiling joist | HifelaT ST

Wall plate | arel Tl

Common rafter | Pl AT

Herring Bone strutting | %ﬁwaﬁ'?rgﬁw

(=2 o T -~ B

163 : Whatis the intermediate support in
timber framed floor? | oIehal o el H HEITAT

AT FAT &7

A Joist | €eT

B Binders | S8

o Common rafter | Pl AT

D Strutting | T&Tear

164 : Whatis the name of part marked as X? | X
& ¥ H RAfgAd AT T AT FAT R ?

j[x
o ]
4

m m m
4 4 . 4

Strutting | EQ?T

Furring piece | WWW
Air space | aTg T ¥ITsT

Binders | ST88X

O 0o ® >

165 : Whatis the rise range in Jack floor? | K CY

Wﬁmiﬁw%‘?
A 25to30cm
B : 20to25cm
C : 10to20cm
D 30to35cm

166 : Which floor is applied with a thin coat of
cement-cow-dung? | HIHE-IMI-INER & Tdol HIT
a}?m%raﬁﬂmﬂfilﬂﬂ?ﬂém?ﬁ’é?

Murum Floor | HIH del

B Linoleum Floor | TereAiferze der
C Mud Floor | g T %l
D Asphalt Floor | STHY el
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167 : Which is a form of disintegrated rock with

building material? | fa&Tor @rershy & @rer fafea

TCCTeT T Ueh &Y ShisT ATE?

A Flagstone | FelaTEClel

B Murum | #IH

C Mosaic | ?Fﬁ??

D Granolithic | I fdS

168 : Whatis the ratio of cement mortar for
pointing in flagstone laying? | FoldeleT et &
53Tt et & TorT deie AR &7 3T a1 g?
A : 1.2

B : 1:3

C 1:4

D 1.5

169 : Which floor is resilient and noise proof? |
e GT el oTaitel 3T eafel gfaeeh g7

A : Asphalt floor | STFR & HE

B Cement concrete floor | HHE shehie &7 BT
C Rubber floor | T AT B

D PVC floor | Sy teY

170 : Whatis the name of part marked as x? | X

& FUH RAETT HRT I AT FATR?

A Wall plate | giel Tl

B : Bridging joist | ST SR

C Common rafter | PIHT TFe

D Floor boards | FI S

171 : Which system of reinforcement is

preferred in R.C.C upper floor for ordinary loading

condition? | gﬁw@raﬁﬂmmw
afgar Fufa & v R.C.c 39U AfSa & gdg i
ST 8?

One way | Teh TM&EAT

4 way | I dIhT

2 way | &I aR®T

Combined 2 and 4 way | Waﬁﬂﬂ

(=2 o T -~ B

AT

172 : Which floor is convenient to carryout
plumbing and electrical installation without

affecting the appearance? | 39TEAfY T FHTfAT
T e FTorarsit iR faegd sfersarde & faw

e Giamseieh g2

A Rib floor | Rer wel

B R.C.C floor | 3R & &Y AfSrer

C Timber floor | Wﬂ?ﬁmwtﬁﬂ'

D Jack arch floor | S 3T B

173 : Which floor do not require form work
during construction? | faaToT & S fhe wet &y
I3 T T ITTThdT TeT &7?

A : Precast concrete floor | qﬁﬁﬁam'ca:r
&

B : Double flange stone floor | 9l Felol Teld]
&

C : Jackarch floor | SAep 31Tk BT

D : Fillerjoist floor | fFeR ST TR

174 : Whatis the name of layer marked as x? |
X & &9 H RAITTd Rd 117 F18?

S s O K R |
D e ‘

Compacted earth filling | ST EXAT FRTT
Sand filling | 898 Tthforar

Lean concrete | IcTell dhshlc

Cement concrete | HIHET Hshic

O 0o ® >
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175 : Whatis the thickness of plain cement
concrete laid for the brick floor? | é?'q?%?a?ﬁ'ﬂ'

1S WIHC hshle & AlCTs FAT8?

A 5-75cm
B 10-15cm
C 16-20cm
D 21-25cm
176 : What s the proportion of lean cement

concrete used in cement concrete floor? | HIHT
ehshlc o B H Tl HIHAT shehie T HeTdT T

8?

A : 1:1:2

B : 1:1%:3

C : 1:24

D : 1:3:6

177 : Which floor wax is applied as a final coat

of polishing to get glossy surface? | dHHGN Hdg
o el oh TolT GiTerel o 3Tc# i o &9 il
T e AH ST STl 62

A : Mosaic floor | Ao BT

B Terrazzo floor | IS BT

C : Flagstone floor | ET@EFI'CFQT

D Granolithic floor | P wel

178 : Which floor with a concrete base is spread
and levelled with 5 to 8 cm thick lime-surkhi

mortar? | 3T 31T aTell it AT HioTel 5 T 8 JHT
T FE 35 71y Ul 3R T 2
. Terrazzo floor | TS B
Granolithic floor | I wel
Mosaic floor | Aot BT
Flagstone | Fa5dT

O 0O w >

179 : Which floor is used for surface subjected
to heavy wear like dairies and hospital? | ERIEE

3R 3EaTe S R faaw & fore frg AfSoT &1
39T R ST &2

A : Granolithic floor | AT AF et

B Asphalt floor | STAT FT B

o Terrazzo floor | STl B

D Cement concrete floor | e Fshre 1
180 : Whatis the ratio of cement mortar used
to fix tiles on floor? | W?TWE‘I??WEI#@IH?WQ?
fore diefie AR &7 31eura = §?

A : 1:2

B : 1:1

cC : 1:3

D : 1:4

181 : Which floor is constructed with cement

concrete 1:1:3 and aggregates used are limestone,

quartz silt and ballast? | T#HE Fshie 1: 1: 3 3R
T AT TeR, Fareat Mg 3R [Feé &

e weT 1 AT fRaT ST |2

A : Mosaic | Algs

B : Granolithic | Granolithic

C Marble | IR

D : Cementconcrete | §IHT Hshlc

182 : Whatis the name of part marked as x? | X
F ®9 H RITEAT HET T ATH FAT 8?2

Baffile | Baffile

Curtain wall | T8T A
Main wall | ﬁ@'aﬁﬂ'
Sleeper wall | TG T GHAR

O 0o w >
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183 : Which vertical transportation is suitable
for large number of people? | Pl Ty FeaTer
AREE S8 HEIT & oll9i & fIT 3ugeFd 87

A : Stairs | Afear

B Ramp | 39

C Escalator | Telcil HTer

D : Lift | fowFe

184 : What is the range of angle for stair? | Tl
& T HIUT T HATFAT§?

A : 40°to45° | 40°H45°

B : 45°t0o60° | 45°H60°

C : 25°t030°|25°W30°

D : 30°to40°|30°840°

185 : Whatis the name of part marked as x? | X

& ¥ H RfEad AT ATH F AT R?
7
X
Z.
A Going | 8T
B Baluster | STel¥eX
C Handrail | 898 ¥t
D Newel post | sidel IFE
186 : Whatis one end or both ends corners cut
in plan of a step? | ThTH Teh g o CTalled H Th
SR AT AT TBRT T e AT AT § |
A Commode | FHAS
B Splayed | TCIS
C Bull nose | Il AT
D Dancing step | STTHIT T&T

187 : Whatis the name of part marked as x? | X
& ¥ H RIfEad AT T AT FAT 82

x H
A Tread | <8
B : Going | MSaT
o Nosing | s {&aT
D : Scotia | ThIfeT

188 : What is the name of part marked as x? | X

& ¥ H RfgAd AT T AT FAT B2

A Tread | <8

B Riser | qT$alY

C Stringer | i?—'g;'ali

D Going | TﬁS?T

189 : Whatis the combined framework of
handrail and baluster in a stair? | Teh TGl Yo
3R STeIFe A TYFd TRTT FIATE?

A Barrister | SrelEel

B Stair | T

o Landing | oif3aT

D Stringer | i?—@ll

190 : Whatis an ordinary step of rectangular
shape in plan? | JST=IT H TAATRR TR AT Th
AT FGH FATg?

A : Flier | freR
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Going | Tﬂ'g'ﬂT
Tread | <8

D : Riser | {Tlgo}

191 : Which type of stair with the steps are
radiated from one point to upper floor? | et &

A1y fohe GehR T HIET Ueh foig & S’y AfSTer deh
ﬁ@v‘rsﬁr%"?

A : Geometrical stair | STTTHATT HIer

B : Helical stair | 9d&R HTer

C : Half turn stair | 3T HIS il

D Three quarter turn stair | Fﬂﬁﬁﬂ'lé’ﬁl’s’

192 : What s a stair turning through one right

angle? | WWWH@TE@WW@'%
A : Quarter turn stair | WH’I’S’W

B : Half turn stair | 38T #HIS Tl

C : Three quarter stair | ?ﬂﬂ'mm

D : Geomatrical stair | SATTACIT Hler

193 : Whatis a stair branched in two flights at
building? | aeT H &I FITSc H Ueh HIGT i T g

A : Geometrical stair | SaTfadT d@er
B : Bifurcated stair | GIaHTTSIT ST

C : Doglegged stair | CICIRCEERSI[A]

D Open Newel stair | 39T AdeT TGr

194 : Whatis a stair if its flights run opposite
direction and there is no space between the flights?

| afg IS Ferrse fauid fgem # e g 31k
FTSC & ST IS ST9T8 oTa] o, Al Ueh TIG! hisT T &
A : Open Newel stair | 3T9eT sid el T

B Geometrical stair | SITTACIT AT

C Three-quarter turn stair | Fﬁﬂ-ﬂ’fﬂl’éﬁ’s’
|rér

D Doglegged stair | 79T o195 T

195 : What is the name of stair? | TGT T AT
FATE?

fony

Geometrical stair | ST digr
Half turn stair | 38T H1S Her
Circular stair | Wﬂ?ﬁa
Quarter turn stair | Wmm

o 0o v >

196 : What is the name of stair? | TG &l ITH
FATE?

et

11 %

Three quarter turn stair | ?—ﬁﬂ'iﬁiﬂém's'

Half turn stair | 37T8T ®13 HTéT
Quarter turn stair | FaTET HAS AT

A
Hrér
B
(o
D Biffurcated stair | aﬁﬂﬁﬁ'?ﬁa

197 : Whatis the name of stair? | TG &l T
FATE?
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Circular stair | agimwh@r
Bifurcated stair | SIIHTTSTT HEr
Geometrical stair | FfAdT dier
Doglegged stair | SEIRCEER: [

o 0O v >

198 : What s the inclination of Escalator? |
TEheleX ol SIohTd FT 2

A : 45°
B : 40°
Cc : 35
D : 30°

199 : Whatisthe name of stone step? | I
T HE & HeH T ATH FAT 82

Cantilever step | Feclollal e
Spandril step | TdesRe T&T

Built up step | [AfF T Fea

Tread and riser step | €3 3R TS HeH

O 0O w >

200 : Whatis the name of stone step? | 92X
& e H T ATH FAT &2

A : Rectangular step | TIATR shaH

B : Spandril step | TdesRar &I

C : Cantilever step | hoclollaY e

D : Cantilever tread and riser step | Feelollal

23 IR TSR FeA

201 : Whatis the minimum width of a stair? |
5T T T geTcTH <lisTS AT §?

A : 70cm

B : 80cm

C : 90cm

D : 100cm

202 : Whatis the stairs flight having an opening
between two flights? | aﬁa%ﬁ%ﬁ@fﬁa’rméa

I 3T g

A : Half turn stair | 38T #Is Eer

B : Geometrical stair | mﬁmﬁwﬁﬁr

C : Open Newel stair | 39eT sid el Higr

D Three quarter turn stair | Fﬁﬂ'iﬁiﬂé?ﬁl—s’

203 : Whatis the minimum thickness range of
stringer used in wooden stair? | Thal 1 digr 7
TG [EEIR & =T e ACTS 1 82

A : 30to50 mm

B 50to 70 mm

C : 70to 80 mm

D 80 to 90 mm.

204 : Whatis the Height of riser in a stair? | Teh
HEr F TSR 1 FA1S FATE?

A : TotalHeight of floor

Number of riser
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B : (Number of riser - 1) 2 | TSI hl T&IAT - 1)2
C : (Number of riser - 2) | ({3 Fraear-2)
D : Numberofriser-3 | IIEEI@'QT@H-S

205 : Whatisthe number of steps required if
the Height of floor is 3.0 m assume the rise is 15 cm

for a single flight? | aﬁﬁﬁa@r?’m@s.o Hex g,
T Tk & FelTSC o TolT 15 THT dged U 3TaTHh
HEHT T TEAT FAT I ?

A : 21

B : 20

C : 19
D : 18

206 : Whatisthe number of treads if the height
of floor is 3.8 m and assume rise is 14 cm for double

flight? | Tfe BT Hr Fa1s 3.8 Aex & 3 el

FeITSC o TolT 14 THY & ol ¢3 I T&AT F47 gI<fr
A : 23

B : 24
C : 25
D : 26
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207 : Which rafter support extend from eaves to
ridge? | ShleT AT TR Seof ¥ Rl doh TERT YGT=T
AT

Valley rafter | dell TFT

Ridge rafter | Rt TFeX

Common rafter | PIFT TFX

Principle rafter | HEI IFCT

O 6 w >

208 : Whatis a rafter provided at junction of
two slopes? | & STl oh STareTeT U< T YeTeT fohaT

ST 8?

A : Jackrafter | 9feh %X

B : Common rafter | PIHT IAFX
C : Hip rafter | 89 TweX

D Principle rafter | HEI IFcT

209 : Whatis the edge of roof running between
the eaves and ridge? | 3saT IR RT F T ST Fr
FoReTIRT ST g eIt 82

A : Verge | aor

B : Cleat | Fellc

C : Template | CFIoIE

D : Purlin| gfele

210 : Whatis the name of part marked as X? | X
& A REAT AT FIAH FATE?

A : Hip|R9

B Fascia board | HAATAS
C Eaves | Ssal

D : Soffit | @fthe

211 : Whatis the name of part marked as X? | X
& & A RfEAT AT R AT FATE?

T
A

A Dormer | ey

B Fascia | BfAITSS

C Stepped flashing | T8 Tl fRier
D : Soffit | @ifthe

212 : Whatis the name of part marked as X? | X

& &Y H RITEAT HIIT T ATH FAT 82
—X

A : Hip| B9

B Valley | €ITEY

C : Ridge |R&T

D Wall plate | afel Tole

213 : Whatis termed as the inclination of roof?

| Bl & STehTd T AT gl ST 57

A : Eaves | Ssol

B : Pitch | 0T

C : Hip |9

D Gable | ISel

214 : Whatis the name of roof? | &d ol ATH
FATE?
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Ly

Hip roof | f69 &%

Gable roof | AT Th
Gambrel roof | 3TsTel &
Mansard roof | H#S &d

[] L]

o 6060 w >

215 : Whatis the name of part marked as X? | X
& A AT AT R AT FATE?

A Corbel | ider

B Corvice | SIRaA3d

C Blocking stone | sollfehaT TeleT

D Wall plate | arel Tl

216 : Whatis the economical span for collar
beam roof? | B ST T & [oIT STl TS gTc
FATE?

A : 55m

B 50m

C 4.7 m

D 43 m

217 : Whatis the name of part marked as X? | X
F ¥9 H RIETT 67 T ATH FAT 82

X
A : Cleat | el
B Battens | ScaT
C : Purlin | 9fdeT
D Common ratfer | PIHT T

218 : Whatis the name of part marked as X? | X
& & H RfgAqT AT R AT FATE?

X

A King post | a1 aFe

B Strut | ¥¢C

C : Purlin | 9feleT

D Principal rafter | HET TFX

219 : Whatis the economical span range for the
king post truss? | foheT 9iFe e & foT shall @
g1 T 82

A : 5to8m

B 3to45m

C : 9to10m

D 11to12m

220 : Whatis the name of part marked as X? | X
& ¥9 H Rfgad AeT T A Farg?
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A Straining beam | T AT ey
B Tie rod | E'.'Ié'ﬁ's’
C Collar | FroT
D Strut | ¥¢C
221 : Whatis the name of part marked as X? | X
& ¥ H RIfEAd AT T AT FAT B2
X

A Valley beam | dell &7
B Edge beam | TST &1
C Tie beam | E'Ié’é’l?:r
D Intermidiate beam | E‘EII“@QE S
222 What is the name of roof? | & ol ATH
FATE?

i 8

T2

T3

K T4
D< I6

A Barrel vault shell roof | ol afeec AT O
B Bowstring steel roof | WWW
C Steel frame dome | T %TQ‘TJ-TUIEE
D Belfast roof | SeTHIEC BT

223 : What is the name of roof? | & ol ATH

Truncated roof | %ﬁ?%

Belfast roof | SeTHIEC Bl

North light roof | 3T JehIRT B
Bowstring steel roof | SITECIT Tl &

O 0o ®w >

224 : What is the brick size used in Madras

terrace roof? | m@rmﬁé’twmw%?
A : 10x60x20cms
B 12 x65x 20 cms
C : 18x80x25cms
D 15x75x 25 cms

225 : Whatis the name of part marked as X? | X
F ®9 H RITEAT HET T ATH FAT 8?2

DC2AME

A : 2layers of plain cement concrete | are, Hee
Fhshlc 6T 2 T

B : 2layersofB.J.C | &9 Fr2 owd

C : 2courses of brick | §€3¥2 TE:\’?

D : Two courses of tiles | TISed & &l &g

226 : Which flat roof is provided with tie rod? |
TT$ VTS & A1 Tohd Folc S T TGTeT T STeil 87
A : R.C.Cfloor | 3TR &Y &Y te¥

B : Bengal terrace | STl T &



Draughtsman Civil — Semester 2 Module 10 : Roof and Roof Covering
Reviewed and updated on: 015 November 2019 Version 1.1

C : Madras terrace | FGIH HT &
D : Jackarch floor | 3 3T B

227 : How many days are recommended to set
the concrete generally in Madras Terrace roof? |

ST &3 B H 3T dR R hshlc T el &

forw fercte Tt <hr 3regeraT &t Sireh &7

A : 2

B : 3

C : 4

D : 5

228 : How much surface slope is provided in
Bengal Terrace roof? | §3TTeT & & H fohdair
T Tollel JGTeT ahT STTcll g2

A : 5to7cm

B 8to10cm

C : 13to15cm

D 18to 20 cm

229 : What s the Brick Bat concrete thickness
generally adopted for Madras terrace roof? | #GIH

T HT B & oI IR W S ST FHshie T
HICTS T fhdelr oY STl 82

A : 125mm

B : 100 mm

C : 75mm

D : 60mm

230 : Whatisthe centre-to-centre distance of
joist in Brick concrete terrace roof? | éﬁww
H SIIEE ol he,--she Gl AT 52

A : 30cm

B 45 cm

C : 60cm

D 75 cm

231 : Whatis the name of part marked as X? | X
& A REAT AT FIAH FATE?

Collar | e

Tie beam | E'Ié'Eﬂ?:l'
Straining beam | @ﬁﬁTEﬂF
Straining sill | Fclﬁmm

(=2 o T -~ B

232 : Whatis the name of roof? | & ol ATH

Mansard roof | As©d
Deck roof | 3 &d
Gambrel roof | I &d
Gable roof | AT B

o 0o v >

233 : Whatis the name of roof? | & &l ATH

Mansard roof | HES &d
Gambrel roof | 3TsTel &
Hipped roof | I8%8 &
Gabled roof | AT B

O 0o ®w >

234 : Whatis the name of part marked as X? | X
& ¥ H Rfgad AeT A Far g?
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\

A Collar | FieT

B : Purlin | 9feleT

C : Tiebeam | TS AH

D Wall plate | arel Tole

235 : Which truss consists of wooden member

and steel or wrought iron member? | ﬁ”T\‘:I'Q'Hﬁ'
Ahel & T IR T AT NG & TSI gad &7
A : Truncated truss | Eaﬁ_s'?\':l'

B Composite truss | Aol ¢

C : Compound truss | WW

D King and queen post truss | f&aT 31T FeT
Q’IRE?-T

236 : Which truss consists of thin timber section
at its top chord curved? | 8 Y a1 9T
HATAGR Yol ofehs! & TS H ahiel AT el &7

A Truncated truss | %ﬁ%‘s’?}?

B Bow string truss | & T&¢ar &

C Bel fast truss | seT BIEC TH

D Mansard roof truss | ﬁﬂém;‘&

237 : Name the roof truss? | &% $H ol dATH
FATE ?

A : North light roof truss | 3dY JehIN & §H

B : Simple fink truss | f&qer ftheh &
C : Compound fink truss | Wﬁﬁ?w
D : House steel truss | 8138 Tl &

238 : Whatis the maximum slope given to the
flat roof? | THIA T Pl &I STeT aTell TR
ColTeT FAT 57

A : 5°

B : 6°

c : 8

D : 10°

239 : Which roof is useful that is provided on

circular brick? | i T & 39N § S AR 3¢
T GETeT T STl §7

Barrel vault shell roof | S3eT dfee T &d

: Steel frame dome | TETeT T A T[eie;

C : Belfast roof | SAPEE &d

D : Bowstring roof | YeJSThT &l

240 : Whatis the name of part marked as X? | X

& & H RATEAT HIIT T ATH FAT &2
/*X
p—— ;\ l' < 4 s l\. I A3

Lime concrete filling | WWW
Cement concrete filling | HTHE dhshic fhieiar
Sand filling | 3 Tohfelar

Earth filling | 372 fihfofer

O 0o w >

241 : Whatis the slope usually given on R.C.C
flat roof? | 3THTI 9T R.C.C FYUTE &d U FIAT Sollel

fear Srarg?

A : 1inl5|1581
B 1in20 | 20H 1
C : 1in60|60F1
D 1in 130 | 130 H 1
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242 : Whatis the centre-to-centre distance of
battens in Bengal Terrace roof? | TMA TSI H
e-H-dhg Fr gl AT E?

A : 15cm

B 20 cm.

C 25cm

D 30cm

243 : Whatis the centre-to-centre distance of
rafters in Bengal Terrace roof? | §3TTeT <& OdH
Fal T gl FaT g

A 20cm

B 30cm

C 40 cm

D 50 cm
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43d:A; 43e:A; 44:D; 45:D; 46:A; 47:C; 48:A; 49:A;
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1 Which of the following is the basic need of a
human being?

A : Sheet

B : Shelter

C : Huts

D Tree

2 : Which of the following gives major

importance to outside view?

A : Aspect

B : Prospect

C : Grouping

D : Lighting

3 What is the shape of the given plan?

a0 SEE = 20mx20m

20

A Square

B Rectangle

C Oblong

D Circle

4 : Whatis the other name of circulation in the

same floor?

A : Horizontal circulation

B : Vertical circulation

C : Zig- Zagcirculation

D : Winding circulation

5 : Whois having legal interest in land or

building?

A : Leaser

B Mortagee

C : Mortager

D Owner

6 : Which of the following shape of plan makes
home compact?

A Square

B : Rectangle
C Oblong

D Circle

7 : Which of the following standard should
considered in planning?

A : IS codes for planning

B : ISl

C : NBC2005

D Local building - Bye laws

8 : Whois responsible for providing the legality

of the plot?

A : Leaser

B Mortagee

C : Mortager

D Owner

9 : Which room should be situated near kitchen
and drawing?

A : Bedroom

B : Livingroom

C : Diningroom

D : Hall

10 : Which room is provided for learning and
reading in residential building?

A : Drawing room

B Study room

C : Entertainment room

D Work room

11 : Whatis the name of the room?

Be8 | |

o
1
O
s | ! L
— M
B
B
A ——— L—
— I

A Bed room

B Study room

C Dining room

D Multi purpose room

€@ N\IMI Question Bank
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12 : How the economy achieved in building?
A Providing simple elevation

B : Increasing the storey height

C Increasing steps of stairs

D Utilizing large sized component

13 : Whatis the name of the useable floor area
excluding staircase?
A : Circulation area

B Carpet area
C : Covered area
D Plinth area

14 : Whatis the name of the built up area at the
floor level?

A : Plinth

B : Plintharea

C : Plinth height

D : Plinthlevel

15 : Whatis the formula for floor area ratio?

A : (Total area of walls / Total plot area ) x 100

B : (Total area of all floors / Total area of walls) x
100

C : (Total area of all floors / Total plot area) x 100
D : (Total plotarea/ Total area of all floors) x
100

16 : Whatshould be the distance between

building electric supply mains?
A : 10-1.8m

B : 1.0-2.0m
C : 12-20m
D : 15-20m
17 : Whatis the minimum scale of which the

key plan need to be drawn according to NBC -
20057

A : 01:50
B : 1:100
C : 1:200
D : 1:400

18 : Which planis approved and sanctioned by
competent authority?

A : Approved plan

B : Sanctioned plan

C : Keyplan

D : Siteplan

19 : Whatis the name of the plan which gives
location with respect to neighbourhood boundary in

1:100007?

A : Siteplan

B : Keyplan

C : Llayout plan

D : Approved plan

20 : Whatis the another name of dwelling unit?
A Row building

B Residential building

C Commercial building

D Educational building

21 : Whatis the name of horizontally sliced
building viewed from top?

A : Plan

B Section
C : Elevation
D Sectional elevation

22 : Whatis the another name for "Sub-
divisional plan”?

A : Keyplan

B Layout plan

C : Sanctioned plan

D Approved plan

23 : Whatis the maximum number of floors that
can be allowed in residential building as per NBC
20057

A : 2Floors
B : 3Floors
C : A4Floors
D : 5Floors

24 : Which of the following IS code in used for
fire safety?

A : 1S1641-1960

B IS 456 - 200

C : 1S291-1972

D IS 10711 - 1984

25 : Which of the following is used as escape
elements in building for fire safety?

A : Lobbies

B : Strongroom

C : Floors

D : Outerwalls

€@ N\IMI Question Bank
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26 : Whatis the abbrevation for MOEF?

A Ministry of Ecology and Forest

B Ministry of Environment and Federation
C Ministry of Environment and Forest

D Ministry of Ecology and Fire

27 : Which does forest conservation act was
passed?

A : 1992

B : 1980

C : 1972

D : 2000

28 : Whatis the name of the figure given
below?

Stack effect

Wind effect
Mechanical effect
Artificial effect

OO WP

29 : Which of the following position of door and
type of door shutter offer more privacy to room?

A : Centre door - Single shutter

B Centre door - Double shutter

C : Cornerdoor - Single shutter

D Corner door - Double shutter

30 : Which of the following room in residential
building need more air changes per hour, while
comparing to bed room in residential building?

A : Drawing room

B : Master bed room

C : Kitchen

D : Hall

31 : If the area of the building is same, which of

the following building is cheaper compared to single
storey?

A 2 storey building
B : 3storey building
C 4 storey building
D 5 storey building

32 : Which of the following is the important
advantage of orientation of building?

A : Aesthetic

B Reduction in energy bills

C : Improved circulations

D Outdoor projection

33 : Whatis the minimum scale at which a
building plan need to be drawn according to NBC
20057

A : 1:50

B : 1:100
C : 1:200
D : 1:400

34 : Which season gives more lighting to the

building?

A : Summer

B Winter

C : Spring

D Autumn

35 : Whatis the maximum covered area for an
Industry?

A : 40% of the site area
B 50% of the site area
C : 60% of the site area
D 70% of the site area
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36 : Whatis the name of the group institutional
building was classified?

A : GroupC

B : GroupE

C : GroupH

D : Groupl

37 : Which type of building comes in group H?
A : Hazardous

B Industrial

C Storage

D Business

38 : Whatis the name of the part parallel
between boundary and the building?

A : Abutline

B : Setbackline

C : Plotline

D : Plinthline

39 : Whatis the formula for carpet area?
A Total plot area - Circulation area

B Total circulation area - Floor area

C Total floor area - Circulation area

D Total area of all floors - Wall area

40 : Whatis the full form of FSI?

A : Floor Site Index

B Floor Space Index

C Floor Staircase Index

D Floor Storey Index

41 : How many persons require one wash basin
in public buildings?

A : 100

B : 150

c : 175

D : 200

42 : Which building provides sleeping and
cooking facilities?

A : Institutional building

B : Educational building

C : Residential building
D .

Hotel building
43 : Whichis the important roomina
residential building W.R.T NBC 20057
A : Kitchen
B Bed room
C : Hall
D Drawing room

44 : Whatis the normal life period of a
residential building with concrete roof according to
NBC 20057

A : 50

B : 75

Cc : 100

D : 110

45 : Which group in which custodial institution
comes?

A : Educational building
B Institutional building
C : Assembly building
D Business building

46 : Whatis the allowable height of riser in
public building W.R.T to NBC 20057

A : 12cm

B : 15cm

C : 17cm

D : 19cm

47 : Which classification does row building
comes in?

A : Public building

B Residential building

C : Educational building
D Institutional building

48 : Whatis the lead air charges per hour
needed in a restaurant kitchen?

A : 8

B : 10
cC : 12
D 14

49 : Which classification of the building have
highest F.A.R permissible?

A : Residential building

B Educational building

C : Institutional building

D Mercantile building

50 : Whatis the permissible F.A.R for
commercial building?

A : 15
B : 2
C : 25
D : 3
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51 Where does laboratories comes in the
under ground shopping?

A Mercantile building

B Business building

C Industrial building

D Educational building

52 What is the basic detail needed for a design
engineer, while designing assembly building?
A : Areaof plot

B Number of fixed seats

C Location of plot

D Total floor area
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53 : Whatis the full form of CPU?

A Craft Processing Unit (CPU)

B Code Processing Unit (CPU)

C Central Processing Unit (CPU)

D CD Processing Unit (CPU)

54 : Which year does first micro processor was
invented?

A : 1970

B : 1971

C : 1972

D : 1973

55 : Whatis the name of figure?

‘? "t" »’l"."‘!"‘m !

HHHII

i i
O ———
A : Mouse
B : Monitor
C : Keyboard
D Plotter

56 : Whatis the full form of CADD?

A : Computer Aided designing and Drafting
B : Computer Aided Drafting and Drawing
C : Computer Aided Drawing and designing
D Computer Aided Drawing

57 : Whatis the highest dots per inch (DPI) one
can print a drawing?

A : 800 dpi
B : 1000 dpi
C : 1200 dpi
D : 1400 dpi
5

8 : Whatis the full form of GUI?
. Golden User Installation
Graphical User Installation
Graphical User Interface
Geometrical User Interface

OO w >

59 : Whatis the name of the tool bar given
below?

A Draw

B Modify

C Dimension
D Visual styles

60 : Whatis the use of function key F3?

A : OSNAP

B : TABLET

C : ISOPLANE

D SAVE AS

61 : Which of the following software is limited

for AutoCAD installation?
A : Windows DOS

B : Windows 98

C : Windows 03

D : Windows 10

62 : Whatis the lowest RAM in which AutoCAD
19 will work?

A : 1GB
B 2GB
C : 3GB
D 4GB
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63 : Whatis name of the section denoted as 'X'?
A Autodesk® AutoCAD® 2016
AUTODESK" AUTOCAD 2016
Install > Product Information
Product language
English =
A Offset
License Type B Constraction line
® Stand-Alone C : Multiline
_ Use a license on the... D p Iine
O Network
Use a license from my network
66 : Whatis the name of the command in the
Product Information figure given below?
O [want to try this product for 30 days
X - ® [ have my product information
\. :
666 |- | 69696969 |& | 001H1| | &
A Product key
B : Autokey
C Product number _
D Serial number A P line
B M line
64 : Whatis the name of the command from the C Spline.
figure given below? D Poly line
67 : Whatis the full form of UCS?
X X X A : User CAD System
B User CADD System
C User Co-ordinate System
D : User Circle System
X X X
X X
A Star command
B : Array command
C Point command
D Trim command
65 : Whatis the name of the command in the
figure given below?
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68 : Whatis the name of the point marked as

IXI? I[ — |l= . | y
== S

I iR L | Il

Closed Cross Closed Tee Corner Joint Cut Single

@ (11 . I

=

— T S L }} il
\ Open Cross Open Tee Add Vertex Cut All

ﬁ%x P ——

= b e

Merged Cross Merged Tee Delete Vertex Weld All

A Midpoint of dolar
B Midpoint of offset
C Centre point of array
D Centre point of leader line £ i i
A Offset
69 : Whatis the name of the tool bar given B Multi line
below? C Line width
D Line weight
A
0.00 mm 71 : Which command has the options given
0.05mm below?
0.09 mm
0.13mm
0.15mm Tem
0.18 mm LEft
025 B
.Zomm N
0.35mm v
Original: Default }
. N3
New:  Defaut Down
OK Cancel Help
A Snap
A Modify weight B Pa.n
B Li . C Grid
ine weight i
C Multi line D Real time
D Units

70 : Whatis the name of the tool bar given
below?
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72 What is the name of the tool bar marked as Curettet s STANDARD
"'? Ses Font
ACANSGDT Fort Name Fort Ste: Set Curent
I X Bommss ] o
b USER1 [] Use Big Font
(Mand: ﬂzéx S&emme i Height
(omat e s
(] Upside down Widh Factor
bkt |
AGBbCY 2% e
O vetical 0 |
Cance Heb
A Task button A M text
B Snap button B Text
C Option button C Text style
D Menu button D Text colour
73 How this option menu given below opens? 75 Which shortcut key does the work of ortho?
A F6
Repeat MIOVE B F7
Recent Input > C F8
Zoom D F9
@t Pan
=& Cut CTRL+X 76 Which shortcut key does the work of Redo
3 Copy CTRL+C last action?
Copy with Base Point CTRL+SHIFT+C A Ctrl+Z
& Paste CTRL+V B Ctrl +Y
Pasi C Ctrl+ C
D Ctrl + X
,;/ Power Edit
%5 Power Copy 77 What is the use of shortcut key 'H'?
77 Power Erase A Help
™ Power Dimensioning B B hatch
45 Power Recall C Hatch
Quick Select... D Hollow block
B QuickCalc
(8¢ Find... 78 What is the use of the shortcut key ‘M
Options... Text'?
A : Modify text
A Left click B Move text
B : Rightclick (0 Multi text
C Centre click D Menu text
D Clicking F1
79 : Whatis the use of ‘Q’ shortcut key?
74 : Whatis the name of the menu bar given A Quit
below? B Quick calc
C Save as
D "Q" leader
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80 : Which of the following shortcut keys gives

quick calc?

A : Ctrl+6
B Ctrl+7
C : Ctrl+8
D Ctrl+9

81 : Which of the following pointing device is
cheaper while comparing the digitizer?
A : Key board

B Puck

C : Mouse

D Enter key

82 : Which of the following commands has one
major option?

A : Line

B M line

C : Pline

D Polygon
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83 : Whatis the another name for pre-
fabricated structures?
A : Pre-developed structures

B Modular structures
C : High structures
D Site fixing structures

84 : Whatis the name of the prefabricating
method?

A : Flow method

B Fixed method

C : Stand method

D Hand method

85 : Which prefabricated method the units of
moved to various section for process?

A : Flow method

B Fixed method

C : Stand method

D Vehicle method

86 : Whatis the name of the concrete, that are
prepared at factory and erected at site?

A : Pre-stressed concrete

B Post-tensioned concrete

C : Pre-casted concrete

D Post-casted concrete

87 : Whatis the scale used for prefabricated
structure?

A : 1S15913-2011
B IS 15914 - 2011
C : 1515915-2011
D IS 15916 - 2011

88 : Whatis the minimum distance between
centres of any two adjacent rivet holes to the
nominal diameter of the rivet is £ 25mm?

A : Nominal diameter +1.0mm
B Nominal diameter +1.5mm
C : Nominal diameter +2.0mm
D Nominal diameter +2.5mm

89 : Whatis the first stage of prefabricated
structure construction?

A : Testing of raw materials

B Procurement of raw materials
C : Concrete mix design

D Reinforcement preparation

90 : Which part of the prefabricated building
structure aim be constructed at site?

A Roof slab

B : Foundation

C Main beams

D Fillers

91 : Which system facilitates assembling of

minor elements in conventional construction?
A : Open pre-fab system

B Partial pre-fab system

C : Full pre-fab system

D Closed pre -fab system

92 : Whatis the name of assembling structural
components at site?

A : Open pre-fab system

B Partial pre-fab system

C : Full pre-fab system

D Closed pre-fab system

93 : Whichis the production of housing
components using factory mechanisation?
A : Prefabrication

B : Fabrication

C : Construction

D Production

94 : Which system is used with double tee slaps
for precast beams and walls?

A : Load bearing

B Non load bearing

C : Framed structures
D

Foundation
95 : Which of the following concrete require
transportation for placing?
A : Insite concrete

B Post tensioned concrete
C : Precastconcrete
D Pre- stressed concrete

96 : Which of the following is the advantage of
prefabricated structures?

A : Transportation

B Need of heavy duty cranes
C : Deformation of joints

D No need of fastening
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97 What is the advantage of prefabricated
structure?

A Transportation

B No need of heavy duty cranes

C Firm joints

D Mass production

98 Which section provide one monotitic action
between prefabricated units?

A : Composite

B Steel

C Tensile

D Compression

99 What is the procedure to attain complete

action between stem and flange?

A Laced together

B Tied together

C Keyed together

D Cutted together

100 What is the disadvantage in prefabricated
structure?

A : Shorter construction time

B Financial savings

C Reduced site disruption

D Transportation
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101 : Whatis the area of playground for 1000
children?

A : 0.10 hectare

B 0.13 hectare

C : 0.16 hectare

D 0.20 hectare

102 : Which one of the following is the hard
land scape?

A : Plantation

B Types of trees

C : Design of space for people

D Terrace gardens

103 : In which portion of tectonic plates,
earthquake generally occurs?
A : Plate boundaries

B Diversion plates
C : Converging plates
D Middle portion

104 : Which instrument is used to detect and
record seismic waves?

A : Barograph

B : Seismograph

C : Diagraph

D : Hygrograph

105 : Which is known as hypocenter?

A Epicenter

B Focus

C Focal depth

D Epicentral distance

106 : Whatisthe percentage of the structural
cost of the building in the additional cost for the
earthquake resisting structure?

A : About 1%

B : About2%

C : About3%

D : About5%

107 : Whatisthe name of the part marked as
X'?

A Attachment plates

B Lead plug

C Rubber layer

D Stiffening plates

108 : Whatisthe minimum distance to be

maintained for the door opening from the cross
wall?
A : End of the wall

B : 300mm

C : 500mm

D : 1000mm

109 : Whatisthe minimum thickness for making
R.C. Bands?

A : 25mm

B 50mm

C : 75mm

D 100mm

110 : Whatisthe distance between two through
stones?

A : 150to300mm

B : 300to450mm

C : 450to 600mm

D : 600to 750mm

111 : Which one of the following in structure is
the most important factors affecting its earthquake
performance?

A : Workability

B : Serviceability

C : Flexibility

D : Responsibility

112 : Which precaution should be taken for site
selection to prevent earthquake?
A : Nearunstable embankments

B On sloping ground
C : Columns of different height
D Continuity of subsoil
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113 Which shape of building plan is safer for 117 : Which isolation bearings are highly
earthquake resisting building? elastic?
A Square plan A : Wood
B T- shaped plan B Steel
C H- shaped plan C : Rubber
D Plan have length morethan twice the width D Bearing pads
114 What is the name of the part marked as
X'?

1=

[E

1=

X ™~
y y’
A Isolation bearings
B Fixed base
C Base
D Isolated
115 What is the name of the figure?
L\

A Isolation bearings
B Viscous damper
C Friction damper
D Yielding damper
116 Which device act like shock absorbers
between the building and its foundation?
A Damper
B Spring
C Base isolation
D Air bag
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118 : Which material is strong in tensile
strength?

A : Cement

B : Sand

C : Steel

D : Water

119 : Whatkind of material is concrete?
A Elasticity

B Brittle

C Stiff

D Malleability

120 : Whatis the maximum size of particle in
fine aggregate?

A : 275mm

B : 3.75mm

C : 475mm

D : 575mm

121 : Whatis the ratio for M15 grade of
concrete?

A : 1:3:6

B : 1:2:4

C : 1:1.53

D : 1:1:2

122 : Whatis the PH value of water is used for
concrete?

A : 2and3

B : 4and5

C : 6and8

D : 9and10

123 : Whatis the maximum absorption limit for

coarse aggregate under water for 24 hours?
A : 3%
B : 5%
C : 7%
D : 9%

124 : When does the probs of slab is removed if
the span is more than 4.5 m?

A : 7days

B : 14days

C : 21days

D : 28days

125 : Whatis the distance between two yokes
in column formwork?

A : 050m

B : 1.00m

C : 150m
D : 200m

126 : What is the name of the bar shown in
figure?

A Plain round bar
B Twisted bar
C Ribbed torsteel
D Square bar
127 : What s size marked as 'x'?
X
) D
] |
A 4d
B 8d
C 9d
D 18d

128 : Whatis the angle marked as 'x'?

X
A : 15°
B : 30°
C : 45°
D : 60°

129 : Which symbols denotes deformed bar?

OO w>»
® *0 &
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130 : Whatisthe name of the part marked as
IXI?
X
A Steel plate
B Steel bars
C Reinforced bars
D Mesh reinforcement

131 : How many days the R.B slab is kept wet?

A Two to four weeks
B One to two weeks
C One week

D 3 days

132 : Which type of beam has more than two
supports?

A : Cantilever beam

B : Overhanging beam

C : Fixed beam

D : Continuous beam

133 : Whatis the name of the beam shown in
figure?

A B
A Simply supported beam
B Cantilever beam
C Over hanging beam
D Continuous beam

134 : Whatis the shape of the bending moment

diagram over the length of beam carrying a
uniformly distributed load?

A : Linear

B Cubical

C : Circular

D Parabolic

135 : Whatisthe name of the load acting at a
point?

A : Pointload

B Uniformly distributed load
C : Trapezoidal load

D Triangular load

136 : What kind of labour is required for
erection of RCC structures compared to steel
structures?

A : Lessskilled

B : Semiskilled

C : Fullyskilled

D : Noskilled

137 : Which of following is the advantage of
reinforced concrete?

A : Low maintenance cost

B Low compressive strength

C : Low yield strength

D Low shear strength

138 : Which is the disadvantage of reinforced
concrete?

A : Light weight

B Low shrinkage

C : Lowstrength

D Low maintenance cost

139 : Which material is used to increase the
tensile strength in concrete?

A : Mud

B Brick bats

C : Quarrydust

D Steel

140 : Whatis the grade of concrete for the
concrete mix proportion is 1:1.5:3?

A : MI10
B : M15
C : M20
D : M25
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141 : What s the concrete mix proportion for
M10?

A : 136

B 1:.2:4

C : 1:15:3

D 1:1:2

142 : Whatis the initial cost of timber formwork
compared to steel formwork?

A : Costly

B : Moderately

C : Cheap

D : Verylow

143 : Which part of building, the clear cover 25
mm or dia of bar whichever is more is used?

A : Beam

B : Column

C : Slab

D : Foundation

144 : Whatis mass of 10 mm dia of steel bar per
meter?

A : 0302kg
B : 0.395kg
C : 0617kg
D : 0.888kg

145 : Which type of reinforcement 6 mm
diameter mild steel bars are used in walls?
A : Vertical reinforcement

B Longitudinal reinforcement

C : Horizontal reinforcement

D Spiral reinforcement

146 : Where the bending moment is always
zero?
A : Atsupports

B At mid span
C : At1/5o0fspan
D At 1/7 of span

147 : Which point of contraflexure occurs in the
section?

A : Bending moment is maximum

B Bending moment is zero or sign changes

C : Shear force is maximum

D Shear force is minimum
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148 : Which condition the cracking occurs in
concrete?

A : Chilling

B Windy

C : Humidity

D Milder climate

149 : Which reinforcement is used for work of
large dimensions, like massive foundation etc.?

A : Rolled steel beams

B Fabric made by welding
C : Square mesh
D Square bars

150 : Which material is coated at all the faces of
concrete mould?
A : Water
B : Sand
C : Crudeoil
D : Glue
151 : What s the permissible stress for grade Fe
5007
A : 0.33fy
B : 0.44fy
C : 0.55fy
D 0.66 fy
152 : Name of the apparatus.
inem
I
5

]

.\ Hom M

A : Vicat's needle
B : Slump cone

C : Vibrating table
D : Cylindrical moulds

153 : Whatis the recommended slump for R.C.C
work?

A : 25to50mm

B 40to 50 mm

C : 80to150 mm

D 90 to 100 mm

154 : What is the name of the part marked as

x'?
A—Fr— =T
/ L
et
\ ’/’——"
i SN
,// X
~//
c//
—-//
P =t
A Lateral ties
B Spiral reinforcement
C Vertical main steel
D Cover

155 : Which RCC member, bridges two or more
walls or columns and supports the structural
member coming over it?

A : Beam

B Column

C : Footing

D Slab

156 : What is the minimum number of main

bars are provided for transverse reinforcement?
A : Two

B Three
C : Four
D Five
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157 : Which direction in one way slab the main
reinforcement is provided?

A : Transverse

B Length

C : Width

D Depth

158 : Whatis the maximum diameter of

reinforcing bars to the total thickness of slab?
A : 1/5

B 1/7
cC : 1/8
D 1/10

159 : Which slab is supported on all four edges
and the ratio of long span to short span is not more
than two?

A : Onewayslab

B Two way slab

C : Continuousslab

D Cantilever slab

160 : Name the reinforcement provided to
counteract the tensional stress developed at
corners of slab?

A : Main reinforcement

B Torsion reinforcement

C : Singly reinforcement

D Doubly reinforcement

161 : How many vertical bars (minimum
number) are provided for circular column?
A : Four

B Six
C Eight
D Ten

162 : Which of the following method is used for
super structure component?

A : Volumetric or modular construction
B Brick slip

C : Rainscreen

D Render system

163 : Which of the following option is taken, if
the phone line system will be jammed after earth
quake?

A : Text messages

B : Callloudly

C : Callthrough phone

D : Whatsapp call

164 : Which of the following operation need to
be done during earthquake?
A : Standing near the window

B Collet and put together an emergency kit
C : Checkyour gas lines
D Cover and hold on under a desk/table

165 : What will be the compressive strength of
15cm cube after 28 days for a ordinary concrete of
grade M30?

A : 30N/mm2

B : 36N/mm2

C : 40N/mm2

D : 53N/mm?2

166 : Which reinforcement strength is preferred
inR.C.C?

A : Low tensile strength

B : High tensile strength
C : Bondstrength
D : Compressive strength

167 : Whatisthe name of figure shown?
A Twin twisted bar

B Ribbed for steel

C Grip bar

D Plain bar

168 : Which bar the hooks are provided?

A Plain bars

B Hot rolled deformed bars

C Cold twisted bars

D Hard - drawn steel wire

169 : Whatis the percentage reduction of
strength for the 6 month old cement?

A : 20%

B 30%

C : 40%

D 50%
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170 : Whatis the total quantity of coarse and
fine aggregate for 50kg cement for M15 grade of
concrete required?

A : 625kg
B : 480kg
C : 330kg
D : 250kg

171 : Whatis the compressive strength of 150
mm cube at 28 days ordinary concrete of grade
M20?

A : 15N/mm2

B : 20N/mm2

C : 25N/mm2

D : 30N/mm2

172 : Which type of cement available in three
grades should be used for house construction?

A : Ordinary portland cement

B : Rapid hardening portland cement

C : Portland slag cement

D High strength ordinary portland cement

173 : Whatis the clear cover for foundation
slabs and beams?

A : 15mm

B : 25mm

C : 40mm

D : 50mm

174 : What s the density of steel?

A 75.8 g/m?3
B 78.5 g/m?3
C 85.7 q/m?3
D 87.5 q/m?3
175 : What is name of the retaining wall?

WO

A Gravity retaining wall
B Semi gravity retaining wall
C Counter fort retaining wall
D Cantilever retaining wall
176 What is the name of the part marked as
X'?
L N
I
PR ",3 e : L
A Heel
B Toe
C Stem
D Weep hole
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177 : Which structure is constructed for the
purpose of retaining earth or other materials like
coal, ore, water etc.?

A : Load bearing wall

B : Non load bearing wall

C : Retaining wall

D : Wingwall

178 : Whatis the name of the part marked as

LT

[
[ T LT T

|

A Column support

B : Bitumen filler

C Hinge reinforcement
D Foundation

179 : Whatisthe name of the structure in which
components such as beam, column and footing are
monolithic in design and construction?

A : Portal frame

B : Non-portal frame

C : Rigidframe

D : Gabled frame

180 : Whatis name of the structure?

-«
= T
Eeemgaa2sg
==gaacal
== 1L

b

Jrzps

A : R.C.Cframed structure

B : Rigid frame structure

C : Braced frame structure

D : Portal frame structure

181 : Whatis the name of the frame structure?

LN AT

IRRRNINRENN=
[T T T T T

[ == ==
A Portal frame with hinge base
B Portal frame with fixed base
C R.C.C framed structure
D Portal frame
182 : Which diameter of reinforcement bars are

used for heavy foundations, large girders or
counterforts?

A : 20mm
B 25 mm
C : 32mm
D 40 mm

183 : Which type of mixer used for large
guantity of concrete?

A : Hand mixing

B : Batch mixing

C : Tilting drum mixers

D : Continuous mixer

184 : Where does covering of render is used?
A Roof

B Floor

C Outside of the building

D Inside of the building

185 : Whatis length of one ‘U’ type hook?

A : 4d
B : 8¢
C : 9%
D : 18¢
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186 What is the excess length of the one side
of the cranked bar?

A : 0.212d

B 0.414d

C 0.616d

D 0.818d

187 What is the weight / m of 12 mm diameter
round bar?

A : 0.39kg/m

B 0.62 kg/m

C 0.89 kg/m

D 1.58 kg/m

€@ N\IMI Question Bank

Page 22 of 30



Draughtsman Civil- Semester 3 Module 8 - Steel Structures
Reviewed and updated on: 01t November 2019 Version 1.1

188 : Whatis the name of the truss marked as
x'?

A I D
X

A Plate girder railway bridge

B : Lattice tower

C Steel chimney

D Warron truss used in bridges

189 : Whatis the name of the steel section?

BN N N N N Y
NN

-\
B
B
B
-\
B
B
B
B
A H - section
B | - section
C T - section
D Z - section
190 : Whatisthe name of part marked as 'x'?

A Main beam

B Secondary beam

C Web cleats

D Seat angles

191 What is the name of the part marked as

OO w >

Cement concrete base
Base plate

Cleat angle

Gusset plate
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192 : Whatis the name of the connection?

A Framed connection

B Seated connection

C Column to beam framed connection

D Column to beam seated connection
193 : Whatis the name of the connection?
A Framed connection

B Column to beam connection

C Seated connection

D Steel stanchion

194 : Which span the plate girders are used?
: Morethan5m

More than 10 m

More than 15 m

More than 20 m

OO w >

195 : Whatis name of the part marked as 'x'?

",

M
-
M
P
M
taldd

/NN

LN A N NN AR AR AN A R A NN A N NN AT

|
N
v Sy
{;\ b N L /'11

A Clearance
B Flange
C Stiffners
D Packing plate
196 : Which member carries mainly tensile
force?
A : Tension
B : Beams
C : Plates
D : Torsion

197 : Whatis the name of the section?

LD

Tension members
Compression members
Torsion members
Beams

OO w>
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198 : How much the diameter of the hole is
larger than the nominal diameter of the rivet if it is
less than or equal to 25 mm?

A : 05mm
B 1.0 mm
C : 15mm
D 2.0 mm

199 : Whatis the name of rivet head?

A Snap head

B : Panhead

C Ellipsoidal head
D Conical head

200 : Which riveted joint consists of two parallel
rows and rivets where rivets are just opposite each
other?

A : Single riveted lap joint

B : Double riveted single lap joint

C : Double riveted single lap joint

D Single cover butt joint

201 : Which figures refers the conventional
symbol for cylinder screw cross slot?

A

) ==

B

=T |
C
|
D

202 : Whatis the name of the truss?

A Fink truss

B Fan truss

C Compound fan truss

D Compound fink truss

203 : What advantage of cold former steel
members over reinforced concrete and timber?
A : Termite - proof and rot proof

B Economical
C : Shrinking and creeping at temperature
D Less accurate detailing

204 : Whatis the minimum distance between
centres of any two adjacent rivet holes to the
nominal diameter of the rivet?

A : 1.00time

B 1.50 times

C : 2.00times

D 2.50 times

205 : Whatis the main advantage of structural
steel?

A : High strength

B Maintenance cost
C : Slowly erection

D Fire proofing cost
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206 : Whatisthe name of the water obtained
from tube well?

A : Surface water

B : Sub-surface water

C : Ran-off

D : Potable water

207 : Whatis the full form of P.H.E.?
: Public Health Engineering

Plumbing Heating Electrical

Public Health Emergencies

Peer Health Educations

OO w >

208 : Whatis the name of the liquid flowing in
sewer?

A : Sewer

B Sewage

C : Sewerage

D Storm water

209 : Whatis the name of the water coming out
of the kitchen, bathroom, wash basin?

A : Garbage

B Sullage

C : Sewage

D Discharge

210 : Which factor does sanitaty sewage

quantity directly depends on?
A : Rate of water supply

B : Area

C : Population

D : Precipitation

211 : Which type of sewer system are preferred
in India?

A : Partial

B Combined

C : Direct

D Separate

212 : Which device is used to prevent sewer
gased from entering the building?

A : Filter

B : Trap

C : Ventilator

D : Vacuum pump

213 : Whatis the angle between the drains and
inspection manhole?

A : 45

B : 90°

C : 135°
D : 180°

214 : Which pipeline is laid in buildings to take
out the sewage under the ground?

A : Steps

B : Barrel

C : Down tank
D : Sewer

215 : Which material is made by PVC pipes?

A Steel
B Plastic
Cc Copper
D Silver

216 : Which type of trap is used in Indian water
closet?

A : Strap
B : Ptrap
C : Utrap
D : Gullytrap

217 : What s the first stage in sewage
treatment process?

A : Sedimentation
B Screening
C : Filteration
D softening

218 : Whatis the term for water inside trap
which prevents gas from entering?

A : Drain water
B : Water seal
C : Waste water
D : Trap safety

219 : Whatis the name of the appurtenance
that are constructed at suitable intervals?

A : Manholes

B Catch basin

C : Pumps

D Sewer appurterance

220 : Whatis the type of manhole having a
depth greater than 1.5 m is called?

A : Straight manhole

B : Deep manhole

C : Shallow manhole

D : Normal manhole
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221 : Whatis the nominal shape of septic tank?
A : Square

B Rectangle

C Circular

D Oval

222 : Which material is used to make manhole
cover?

A : Castiron

B Cement

C : Wood

D Steel

223 : Whatis the name for all kinds of liquid
waste of a building?

A : Rubbish

B Garbage

C : Ashes

D Sewage

224 : Which plumbing system is common in
India?

A : One pipe system

B : Two pipe system

C : Single stack system

D Single stack partially ventilated

225 : Which pipe system of plumbing work soil
and waste pipe are separated?

A : One pipe system

B Two pipe system

C : Separate system

D Combined system

226 : How many chambers are there in a septic
tank?

A : 2

B 3

C 4

D 5

227 : What should be the minimum diameter of
the connecting pipe in the septic tank?

A : 60mm

B 100mm

C : 300mm

D 700mm

228 : What is the maximum spacing of manhole
sewer size upto 0.3 mf?

A : 20m

B : 30m

C : 45m
D : 75m

229 : Which type of pump should be selected in
order to pump the sewage from a septic tank to the
water treatment system?

A : Vertical slump pump

B Progressive cavity pump

C : Centrifugal pump
D

Screw pump
230 : How does the intensity of rainis
expressed?
A : cm/minute
B cm/hour
C : cm/day
D cm/week

231 : Which gas is mainly produced in septic
tank?

A : Oxygen

B Nitrogen

C : Hydrogen

D Hydrogen sulphide

232 : Whatis the period for sludge digestion in
normal conditions?

A : 10days

B : 20days

C : 30days

D : 60days

233 : Which sewer resist sulphide corrosion?
A : Brick sewer

B Cast iron sewer

C R.C.C. sewer

D Lead sewer

234 : Whatis the average temperature of
sewage in India?

A : 10°C

B : 15°C

C : 20°C

D : 25°C

235 : Whatis the design of sewage treatment?
A 5-10 years

B 15-20 years

C 30-40 years

D 40-50 years
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236 : Whatis the extension for 3D modelling
file?

A : 0.3d

B : 0.3dm

C : 03m

D 0.3dmo

237 : Which command allows you to change 2D

drawing into 3D model?
A : 3D modelling

B : Extrude
C : Cplan
D : Ortho

238 : Whatis the full form of WCS?
. Western Co- ordinate System
World Co- ordinate System
Wide Co -ordinate System
Wrong Co-ordinate System

OO w >

239 : How many types of 3D modelling are in
AutoCad?

A : 1

B : 2

cC : 3

D : 4

240 : How many types of surfaces are in surface
modelling?

A 1

B : 2

cC : 3

D : 4

241 : Which command allows you to change the

direction and origin of construction plane?
A : Plane

B : Splane

C : C-plane

D : O-plane

242 : Whatis the shortcut for grid command?
A : F6

B F7

C F8

D F9

243 : Whatis the shortcut for polar?

A F8
B F9
C F10
D F11

244 : Whatis the key for 3D OSNAP?

A F1
B F2
C F3
D F4
245 : Which key is used to access shortcut

command in IBM compatible computer?
A : Ctrl
B : Alt

C : Ctrl+Alt
D Tab

246 : Whatis the command used to toggle
between isometric planes?

A : Ctrl+E
B Ctrl+F
C : Ctr+G
D Ctrl+H

247 : Whatis the shortcut for design centre

palatte?

A : Ctrl+1
B Ctrl + 2
C : Ctrl+3
D Ctrl +4

248 : Whatis the shortcut to cancel the last
command selected?

A : Ctrl+]
B Ctrl + [
C : Cirl+}
D Ctrl +,

249 : Whatis the shortcut for rendering an

image?

A : RS
B : RSP
C : RP
D : RW

250 : Whatis the shortcut for rendering a
specified part of drawing?

A : RB
B : RC
C : RD
D RP
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ANSWERS :

1:B; 2:B; 3:A; 4:A; 5:D; 6:A; 7:D; 8:D; 9:C; 10:B; 11:C;
12:A; 13:B; 14:B; 15:C; 16:C; 17:D; 18:B; 19:B; 20:B;
21:A; 22:B; 23:B; 24:A; 25:A; 26:C; 27:B; 28:B; 29:D;
30:C; 31:A; 32:B; 33:B; 34:A; 35:C; 36:A; 37:C; 38:B;
39:C; 40:B; 41:A; 42:C; 43:B; 44:C; 45:C; 46:B; 47:B;
48:C; 49:D; 50:B; 51:B; 52:B; 53:C; 54:B; 55:C; 56:A;
57:C; 58:C; 59:A; 60:A; 61:D; 62:C; 63:D; 64:C; 65:C;
66:C; 67:C; 68:C; 69:B; 70:B; 71:B; 72:C; 73:C; 74:C;
75:C; 76:B; 77:C; 78:C; 79:C; 80:C; 81:C; 82:C; 83:B;
84:C; 85:A; 86:C; 87:D; 88:B; 89:B; 90:B; 91:B; 92:C;
93:A; 94:A; 95:C; 96:D; 97:D; 98:A; 99:C; 100:D;
101:B; 102:C; 103:A; 104:B; 105:B; 106:D; 107:C;
108:C; 109:C; 110:D; 111:C; 112:D; 113:A; 114:A;
115:B; 116:C; 117:C; 118:C; 119:B; 120:C; 121:B;
122:C; 123:B; 124:B; 125:B; 126:C; 127:A; 128:C;
129:C; 130:D; 131:A; 132:A; 133:B; 134:D; 135:A;
136:A; 137:A; 138:C; 139:D; 140:C; 141:A; 142:.C;
143:A; 144:C; 145:B; 146:A; 147:B ; 148:B; 149:A;
150:C; 151:C; 152:B; 153:C; 154:C; 155:A; 156:A;

157:C; 158:C; 159:B; 160:B; 161:B; 162:A; 163:A;
164:D; 165:A; 166:B; 167:A; 168:A; 169:B; 170:C;
171:B; 172:A; 173:D; 174:B; 175:D; 176:A; 177:C;
178:C; 179:A; 180:A; 181:B; 182:D; 183:D; 184:C;
185:C; 186:B; 187:C; 188:D; 189:C; 190:C; 191:B;
192:A; 193:D; 194:D; 195:C; 196:A; 197:B; 198:C;
199:A; 200:B; 201:D; 202:D; 203:A; 204:D; 205:A;
206:B; 207:A; 208:B; 209:B; 210:C; 211:B; 212:B;
213:D; 214:D; 215:B; 216:B; 217:B; 218:B; 219:A;
220:B; 221:B; 222:A; 223:D; 224:B; 225:B; 226:A;
227:B; 228:B; 229:C; 230:B; 231:D; 232:C; 233:D;
234:C; 235:C; 236:B; 237:B; 238:B; 239:C; 240:B;
241:C; 242:B; 243:C; 244:D; 245:B; 246:A; 247:B;

248:A; 249:C; 250:B;
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1 : Which system of transportation is the fastest
and provides more comfort for men and material?
A : Railways

B : Airways

C : Waterways

D : Roadways

2 : Which mode of transportation has the

maximum flexibility for travel with respect to route,
directions, time etc?

A : Roadways

B : Railways

C : Waterways

D : Airways

3 : Where did the Central Road Research
Instltute Started?

A England

B Nagpur

C New Delhi

D France

4 When did the IRC was set up?

A 1943

B 1860

C 1934

D 1973

5 Who created central public works
department to look after the work of road?

A Lord William Bentick

B Lord Mayo

C Lord Dalhousie

D Lord Ripon

6 : Which cross slope is given to the top layer of
road in Macadam Construction?

A : 1in20

B : 1in45

C : 1linl0

D : 1in36

7 : Which is the highest point of a cross section
of hlghway?

A : Camber

B : Subbase

C : Carriage way

D : Crown

8 : Whatisthe time required for a driver to

reallse the necessity of applying brakes to the
vehicles?

A Reaction

B : Reflection

C Perception

D Sight distance

9 : Which alternative road is provided to divert
traffic to avoid obstruction?

A : Loop

B Ring

C : Trunk

D By pass

10 : Whatis marked as 'X'?

A Right of way
B : Formation

C Roadway

D Carriage way

11 : Whatis the width of shoulders in roads?

A 0.5mto 1.25m
B 1.25mto2m
C : 2mtodm

D 4m to bm

12 : Whichis the portion of the road
constructed for vehicular traffic?
A : Right way

B Formation

C : Carriage way

D Road way

13 : Whichis the basic requirement of
alignment?

A : Crosses maximum number of bridges
B Short

C : Lengthy straight routes

D Curves
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14 : Whatis the restriction given to lengthy
straight routes while setting road alignment?
A : Minimum

B Maximum

C : Dependson gradient

D Depends on rise and fall

15 : Which survey established the centre line of
the actual highway?

A : Llocation

B Preliminary

C : Reconnaissance

D Cadasral

16 : Which survey is conducted to find the
number of possible alternative routes between two
points?

A : Preliminary

B : Reconnaissance

C : Llocation

D : Detailed

17 : Whichis the classification of road according
to importance?

A : State highways

B Second class

C : Cementconcrete

D Express highways

18 : Whatis the normal recommended land
width of national highway in open area?
A : 24m

B : 25m
C : 35m
D 45m
19 : Which road connects areas of production

and market with state highways and railways?
A : National highway

B : Major district
C : Village

D : Otherdistrict

20 : Whatis the minimum width of shoulders
provided in national highways?

A : 1m
B 1.5m
C : 2m
D 2.5m

21 : Whatis the value of camber provided in the
carriage way of gravel road?

A : 1in30tolin35

B : 1in25t01in30

C : 1inl5to1in20

D : 1in10tolin15

22 : Which camber is provided for earth roads?
A 1in25t0o1in 30

B 1in20to1in25

C lin5to1in20

D 1lin5to1in10

23 : Whichis the direction of rolling in highway
construction?

A : Sides and proceeds to centre

B : Centre and proceeds to sides

C : Centreonly

D : Oneside and proceed to other

24 : Which is an advantage of cement concrete
pavement?
A : |Initial coatis low

B : Tractive resistance is low
C : Rollingresistance is high
D : Lesstime for construction

25 : Whatis the another name of continuous
bay method?

A : Alternate

B : Strip

C : Expansion

D : Traverse
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26 : Which circular curve consists of a single arc
of uniform radius?
A : Compound

B : Simple

C : Reverse

D : Transition

27 : How asimple circular curve designated?
A Curvature of the curve

B Radius of the curve

C Angle substended by an arc

D Angle substended by a chord

28 : Which transition curve is recommended by
the IRC in the horizontal alignment of highway?
A : Spiral

B Lemniscate

C : Cubic parabola

D Summit

29 : Which instrument is used for setting out
curves in angular method?

A : Compass

B : Tape

C : Chain

D : Theodolite

30 : Whichis the linear method of setting out a
simple circular curve?

A : Successive bisection of arcs

B : Two theodolite method

C : Tachometric method

D : Rankin’s method

31 : Whatis the equation for mechanical
widening on curve?
A

B
9.54R

2R

C

]2
2R
D
ni? 14
+
2R 95JR

32 : How much extra width of pavement on
horizontal curves is given for a radius of 21 to 40m
for two lane?

A : 15m
B 1.2m
C : 09m
D 0.6m

33 : Whatis the minimum width provided for
the cycle track in urban areas?

A : 1m
B 1.5m
C : 2m
D 3m

34 : Whatis the minimum shoulder width
recommended by IRC?

A : 1.30m

B : 1.85m

C : 2m

D : 25m

35 : Whatis the value of minimum gradient?
A 1lin14.3

B 1in 20

C 1in 30

D 1in 200

36 : Whatis the minimum sight distance
recommended by IRC for minor roads?

A : 1lm
B : 15m
C : 18m
D 20m
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37 : Whatis the main purpose of providing
camber?

A : To follow IRC specification

B To prevent entry of moisture into subgrade
C : To maintain equilibrium

D To follow specifications

38 : Which shape of the surface drain is most
preferred for heavy discharge in road?

A : Rectangular

B U shaped

C : Semicircular

D V shaped

39 : Which culvert is used if the water opening

is less than 15m? and road crosses the water way on
a relatively high embankment?

A Pipe

B : Arch

C : Box

D : Slab

40 : Which drain is suitable for small streets of
less discharge?

A : Vshaped

B : Semicircular
C : Rectangular
D : Ushaped
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41 : Whatis therise in level of the river water
due to obstruction of bridge?

A : Highestflood level

B Run off

C : Afflux

D Free board

42 : Which is the intermediate support of a
bridge superstructure?

A Foundation
B : Pier

C : Abutment
D : Wingwall

43 : Whichis the temporary pier made in the
river bed?

A : Kerb

B : Scuppers

C : Afflux

D : Cribs

44 : Whatis the minimum distance between the
specified position on a bridge?

A : Bearings

B : Clearance

C : Afflux

D : Waterway

45 : Which foundation is suitable for the
construction of bridge?

A : Pile

B Shallow

C : Grillage

D Inverted arch

46 : Which material is suitable for caisson of
open well type?

A : Castiron

B : RCC

C : Steel

D : Timber

47 : Which is a temporary structure constructed

to remove water or soil from an area to carry
construction under dry condition?

A : Caisson

B Well

C : Cofferdam

D : Box

48 : Which is most common type of coffer dam?
A : Wells

B : Dike
C : Pneumatic
D : Box

49 : Whatis the shape of the wingwall if it is
inclined in plan?

A : Straight

B Return wall

C : Square

D Splayed

50 : Whatis the name of the abutment shown
in figure?

L]

—

Z N

A Straight

B Splayed wing wall

C Return wing wall

D Straight wing wall

51 : Whatis the name of the wingwall if the
angle of splay 90°?

A : Splayed

B Return
C : Straight
D Tee abutment

52 : Which bridge composed of several small
spans for crossing a valley?
A : Aqueduct

B Fort

C : Viaduct

D Deck

53 : Whatis the maximum span of culvert?
A 2m

B 3m

C 5m

D 6m

54 : Which bridge is mostly used for railway
bridges of small spans?

A : Steel girder

B Steel trough plate

C : Suspension

D Steel truss
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55 : Which bridge is shown in figure?

MVU_

A Semi through
B Deck

C Through

D Suspension

56 : Whatis marked as 'x'?

A Clearance

B Approach

C Free board

D Apron

57 : Which is the main characteristic for an ideal

site for a bridge?

A : Stream should be broad

B : Builtupareas

C : Reach of stream should be straight
D : Whirls and cross currents

58 : What plays a great role in fixing the height
of bridge?
A : Design

B : Effect of scouring
C : Highest flood level
D : Type of traffic

59 : Which is provided for the superstructure in
the alignment on curve in hilly areas?
A : RCCgirders

B : Boxculverts
C : Dumb bell pier
D : Column bents

60 : When did spread foundation is adopted for

bridges?

A : Good soil is available at shallow depth

B Depth of water is more

C : Goodsoil is not available at shallow depth
D Tension developed is more

61 : Which foundation is adopted when the
loose soil extends to a great depth?

A : Spread
B Raft
C : Caisson
D Pile

62 : Which foundation is provided for heavy
works at a depth of 12 m to 15 m below the level of
standing water surface?

A : Well

B Caisson

C : Cofferdam

D Pile

63 : Which caisson the ratio of sinking effort to
skin friction is maximum?

A : Circular well

B : Box
C : Dumbwell
D Pneumatic caisson

64 : Whatis the minimum percentage of oxygen
concentration in underground air quality for
tunnel?

A : 12.5%
B 15.5'%
C : 17.5%
D 19.5'%
65 : Whatis the maximum noise levels of

ventilation fans while measure at the closest point
of employee exposure?

A : 90 decibel

B 100 decibel

C : 120 decibel

D 130 decibel
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66 : Who started the development of railways in
India?
A : George stephenson

B Lord dalhousie
C : Lordcurzon
D Lord ripon

67 : Which gauge is adopted for main cities and
routes of maximum intensities?

A : Broad
B : Narrow
C : Metre
D : Wide

68 : Whatis the process for filling the ballast
around the sleepers?

A : Creep

B : Turntable

C : Boxing

D : Coning

69 : Whatis the width of broad gauge?
A : 016m

B 0.762 m

C 1.00 m

D 1.676 m

70 : Whatis the name for raising of the level of
the outer rail over that of inner rail?

A : Creep

B : Cant

C : Boxing

D : Wearing

71 : Whatis the name of the defect in rail due
to abnormality of heavy load?

A : Hogging

B : Wear

C : Creep

D : Kink

72 : Whatis the length of bull headed rail?

A : 16.7m

B 18.29 m

C 18.6m

D 19.2mm

73 : Whatis the name of the steel placed end to

end to provide a level surface for the movement of
trains?

A : Ballast

B : Sleepers

C : Rails
D : Fish plates

74 : Whatis the minimum depth of ballast for
broad gauge?

A : 20cm

B 30cm

C : 40cm

D 50 cm

75 : Whatis the minimum spacing between
sleepers in broad gauge?

A : 200 mm

B : 250 mm

C : 300 mm

D : 500 mm

76 : Whichis a cast iron sleeper?
A Duplex

B Steel

C Pot

D Box

77 : Whatis the standard size of ballast for
wooden sleepers?

A : 25mm
B 40 mm
C : 50mm
D 60 mm

78 : Whatis used for fixing the rails to the
wooden sleepers?

A : Spikes

B Bearing plates
C : Fishbolt

D Rail chair

79 : Whichis used for changing the direction of
engine?

A : Railjoint

B : Turntable

C : Points and crossing

D Terminal station

80 : Whichis used for joining the rail?
A : Spikes

B Rail chairs

C Fish plates

D Bearing plate
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Reviewed and updated on: 01% November 2019 Version 1.1

81 : Whatis the defect of rail with its end or
ends bent in vertical direction?

A : Wear ofrails

B : Hogging of rails

C : Creepofrails

D : Bending of rails

82 : Which direction does rail creep occurs?
A Longitudinal

B Lateral

C Vertical

D Transverse

83 : Whichis used to reduce creeping of rail?
A Bearing plates

B Spikes

C Anchors

D Chairs

84 : Which method is used to repair the worn

out or damaged rails and to built up damaged
components of points and crossing?

A : Bending

B : Hogging

C : Creep

D : Welding

85 : Which area wear of rails maximum?

A : Topofrail

B : Endofrail

C : Innerside of rail
D Head of rail

86 : Whatis the height of embankment above
HFL in the construction of permanent way?

A : 30cm

B : 50m
C : 60cm
D 65 cm

87 : Whatis the process of tightly ramming the
ballest under the sleepers to transmit the load?

A : Packing

B : Laying
C : Boxing
D : Fixing

88 : Whatis the name of the spike is in figure?

=

A Round

B : Screw

C Elastic

D Dog

89 : Which warner signalis first seen by the

driver in railway station?
A : Discsignal

B Home signal

C : Outer signal

D Routing signal

90 : Which crossing the right hand rail of one
track crosses the left hand rail of another track and
vice versa?

A : Acuteangle

B Obtuse angle
C : Square

D Rectangular
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91 : Which underground water nourishes the
plant roots by capillarity?

A : Subsurface

B Surface

C : Flood

D Flow

92 : Which method of irrigation is called trickle

irrigation?

A : Furrow

B : Sprinkler

C : Drip

D : Borderstrip

93 : Whatis the main advantage of irrigation?
A Water logging

B Yield of crops

C Complex

D Damper climate

94 : Whichirrigation method water is supplied
to lower level by the action of gravity?

A : Flow

B : Lift

C : Sprinkler

D : Subsurface

95 : Which crops are sown in autumn in
harvested in spring?

A : Kharif

B Autumn

C Rabi

D South west monsoon

96 : Whatis the relation between duty (D) Delta
(A) and base period (B)?

A : A=(86.4B/D)
B : A=(864B/D)
C : A=(8.64B/D)
D : A=(8640B/D)

97 : Whatis the time between first watering of
a crop on sowing to its last watering before
harvesting?

A : Base period

B : Rabiseason

C : Kor period

D : Crop period

98 : Whatis the total depth of water required
by a crop during the entire period in the field?
A : Duty

B : Base period
C : Delta
D : Crop period

99 : Whatis the first watering before sowing the
crop?

A : Korwatering

B Paleo

C : Delta

D Duty

100 : Which is the graphical representation of
average rainfall between rainfall excess?

A : Hyetograph

B Hydrograph

C : S-hydrograph

D Unit hydrograph

101 : Which catchment area run off will be
more?

A : Fanshaped

B : Tree shaped

C : Fernshaped

D : Circular

102 : Which is the angle that the axis of head
regulator makes with the axis of the weir?

A : 90°to120°

B 90° to 60°

C : 90°to 100°

D : 180°

103 : Which construction is at the head of the
canal to divert the river water towards the canal?
A : Storage head work

B Diversion head work
C : Barrage

D Weir

104 : Whichis called safety valve of a dam?
A Drainage gallary
B Inspection gallary
C : Spillway

D Outlet sluices

105 : Whatisthe name for accumulation of
water in the form of an artificial lake?

A : Spill ways

B Barrages

C : Reservoir

D Groynes
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106 : Whatis the classification of dam based on
use?

A : Detention

B : Debris

C : Rigid

D Buttress

107 : Which of the following is non rigid dam?

A Concrete

B Rock fill

C Gravity

D Arch

108 : Where did the surplus water in weir is
allowed to flow?

A : Gates

B : Crest

C : Spillway

D : Openings

109 : Whatis the life period of thermal plant?
. Less than 30 years

More than 30 years

Less than 50 years

More than 50 years

OO W >

110 : Whatis marked as 'x'?

m\

%%

q ,”’

A Turbine

B Draft tube

C Gallery

D Pen stock

111 : Which irrigation constant and continuous
supply of water is assured throughout the crop
period?

A : Flood

B : Artificial

C : Perennial

D : Inundation

112 : Which crop is grown at a particular crop
season?

A : Culturable cultivated area

B Gross commanded area

C : Culturable commanded area

D Culturable incultivated area

113 : When does hydrograph called as unit
hydrograph?

A : 1cm of runoff from rainfall

B : 3 cm of runoff from rainfall

C : 1 mm of runoff from rainfall

D 3 mm of runoff from rainfall

114 : Whatis the unit for measuring rainfall?
A : cm

B mm

C Feet

D No unit

115 : Which is the main function of diversion
head work of a canal?

A : Toremovessilt

B To control floods

C : Tostore water

D To raise water level

116 : Whichis provided in the diversion
headwork to scour away silt deposited?

A : Fishlader

B Groynes

C : Barrage

D Under sluices

117 : Which is the main factor for selection of
site for a reservoir?
A : Maximum runoff

B : Maximum percolation
C : Wide opening
D : Minimum runoff
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118 : Whatis the name of dam?

A : Rockfill dam

B : Concrete buttress dam

C Earth dam

D Combined Earth and Rock dam

C
D

Turbines
Draft tubes

119 : Which is known as spill way?

A Water spread dam

B Detention dam

C Debris dam

D Over flow dam

120 : Which is the sheet of over flowing water?
A : Head

B Nappe

C Upstream

D Crest

121 : What s the name of the structure placed
in river to increase the depth of water?

A : Barrage

B : Weir

C : Notch

D : Crest

122 : Whatis the name of the impervious

barrier constructed across a perennial river to raise
the water level on the upstream side?

A : Barrage

B : Weir

C : Notch

D : Mouth piece

123 : Which element of hydroelectric power

plant reduce the water hammer pressure formed in
the penstock?

A : Valves

B : Surgetank
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124 : Which canal is constructed to feed two or
more canals?

A : Carrier

B Feeder

C : Navigation

D Irrigation

125 : Which of the following canal is classified
based on nature of supply?

A : Carrier

B : Feeder

C : Navigation

D : Permanent

126 : Which canal carries water for another
canal besides doing irrigation?

A : Carrier

B : Feeder

C : Navigation

D : Power

127 : Whatis marked as 'X'?

7
3 \ % ; 1 il O
U
J(
A Free board
B Canal bed
C Berm
D Bank
128 : Which canal is aligned along a water
washed?
A : Contour
B : Sideslope
C : Ridge
D : Power
129 : Which canalis also known as ridge canal?
A Contour
B Watershed
C Side slope
D Main

130 What is marked as 'X'?
#
. & FSL =]I-a—x B %, .
W R WY
A Free board
B Canal bed
C Berm
D Bank
131 What is also known as canal fall?
A : Canal syphon
B Canal drop
C Super passage
D Aqueduct
132 What is marked as 'X'?

OO w>»

/

—— L | —
v\.

Distributory head regulator
Off take channel

Parent canal

Cross regulator
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133 : Whatis marked as ‘X' ?

X
A Parent canal
B Silt jetty
C Off take canal
D Cross regulator
134 : Which cross drainage work is constructed
to carry canal over drainage?
A : Agqueduct
B Super passage
C : Canal syphon
D Level crossing
135 : Which cross drainage work is constructed
to carry canal below drainage?
A : Agqueduct
B : Super passage
C : Levelcrossing
D Inlet
136 : Which cross drainage work is constructed

to cross the canal and drainage at the same level?
A : Aqueduct

B Super passage

C : Canal syphon

D Level crossing

137 What is marked as 'X'?
=
R T
SUPER PASSAGE

A FSL
B Stream
C HFL
D Canal
138 What is marked as 'X'?

7 'i ]
e

i AQUEDUCT

A Canal syphon
B Drainage
C Culvert
D Trough
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139 : Whatisthe name given to built up area of
building measured at floor level of any storey?

A : Plinth area

B Floor area

C : Circulation area

D Carpet area

140 : Whatisthe name given to area of a
building consisting of verandah'’s, passages,
corridors, balconies etc.?

A : Circulation area

B Horizontal circulation area

C : \Vertical circulation area

D Carpet area

141 : What percentage of plinth area is
provided for horizontal circulation area?

A : 5to10%

B : 10to15%

C : 15t020%

D : 20to25%

142 : What percentage of plinth area of the
residential building comes to carpet area?
A : 40to55%

B : 50to65%

C : 60to75%

D : 70to85%

143 : What percentage of estimate cost is
charged for centage charges?

A : 5tol10%

B : 10to15%

C : 15t020%

D : 20to25%

144 : Which is rough cost estimate?

A Revised estimate

B Annual repair estimate

C Plinth area estimate

D Supplementary estimate

145 : Whichis anitem rate estimate?
A Plinth area

B Annual repair

C Cubical content

D Preliminary

146 : Whatis the sequence of booking
measurements?

A : Breadth, length and depth

B : Number, length and depth

C : Diameter, length and density
D : Length, breadth and height

147 : Whatis the minimum length for bill
guantity calculation?

A : 05mm
B 1mm
C : 1lcm

D 10 cm

148 : Whatis the minimum area for bill quantity
calculation?

A : 1mm?
B 1cm?

C : .01sg.m
D 1m?

149 : What s the unit for excavation in M.K.S

system?

A : m

B : sg.m?
C : cum
D : No

150 : Whatis the minimum cubical quantity for
bill quantity calculation?

A : 1mm?

B 1cm?

C : 001m?d

D 0.1 m?3

151 : Whatis the unit for cement concrete in
M.K.S. system?

A : Nos.

B : m

C : sg.m

D cu.m

152 : Whatis the unit for brick work in cement
mortar for superstructure in MKS system?
A :m

B sg.m
C : cum
D Nos.
153 : What s the unit for steel reinforcement

bars etc in RCC, RB work in MKS system?
A : m

B : Nos.
C : AQuintal
D sg.m
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154 : What s the unit for ridges, valleys, gutters

in M.K.S system?

A : metre
B : sg.m
C : cum
D : Nos.

155 : What s the unit for flooring in MKS

system?

A :m

B sg.m

C : cum

D : Nos.

156 : Whatis the minimum lead for earth work
excavation?

A : 10m

B : 20m

C : 30m

D : 50m

157 : Whatis the minimum lift for earthwork
excavation?

A : 1Im

B 1.5m

C : 20m

D 3.0m

158 : Whatis the measuring unit for soling
layer?

A : m

B : sg.m

C : cum

D : Nos.

159 : How much area of the opening is ignored
for the masonry quantity calculation?

A : 1l.sg.cm

B : 10sg.cm

C : 100sg.cm

D : 1000sg.cm

160 : Whatisthe measuring unit for cornice?
A m

B sg.m

C cu.m

D mm

161 : Whatisthe measuring unit for modern
door and window frames?

A :m

B : sg.m

C : cum
D : mm

162 : Whatis the scale range used for the
preparation of layout plan?

A : lcm=5mto 1lcm =10m

B lcm =10mto 1cm =20m

C : 1cm=.5kmto 1cm = 1km

D 1cm = 5km to 1cm = 10km

163 : Which datais necessary for the
preparation of estimate?

A : Labour
B : Material
C : Fund

D : Drawings

164 : Which estimate is prepared while the
expenditure on a work exceeds by more than 10%?
A : Supplementary

B Revised

C : Annual repair

D Cubical content

165 : Which estimate is prepared while the
original sanctioned estimate is exceeded by more
than 5%?

A : Supplementary

B Extension and improvement
C : Revised

D Plinth area

166 : Which estimate is required for
administrative sanction?

A : Approximate

B Detailed

C : Revised

D Supplementary

167 : How aggregate is specified?
A Size in mm

B Length in mm

C : Height and breadth in cm

D Length in m, section in mm

168 : Which brick wall thickness is measured in
sq.m?

A : 10cm

B 15cm

C 20cm

D 30 cm
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169 : Which brick structure is measured in

A Reinforced brick work
B : Broken glass coping
C Concrete fencing posts
D Brick work in arches

170 : What (%) percentage of steel work is
provided for rivets in steel roof truss?

A : 3%
B : 5%
C : 7%
D : 10%

171 : Whatis the density of mild steel?

A 0.785 g/cu.m

B 7.85q/cu.m

C 78.5g/cu.m

D 785qg/cu.m

172 : What s the plastering area for a pillar?
A : Length x breadth x height

B Section area x height

C Perimeter

D Perimeter x height

173 : What (%) percentage is added as
contingencies in approximate estimate?
A : 1%to5%

B : 5%to10%

C : 10%to12%

D : 10%to 15%
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174 : What s the out-turn of mason
constructing stone arch work?
A : 0.40cum

B 0.55 cu.m
C : 0.80cum
D 0.90 cu.m
175 : Whatis the out-turn of mason,

constructing superstructure with brick masonry?
A : 0.55cum

B : 0.85cu.m

C : 1.00cum

D : 1.25cu.m

176 : What percentage contractors profit is
included in the analysis of rate?

A : 5

B : 10

cC : 15

D : 20

177 : What quantity bitumen is required for
100m? first coat painting on DPC?

A : 75kg

B 100 kg

C : 125kg

D 150 kg

178 : What quantity of stone is required for 1m?3
of rubble masonary?

A : 05cum

B : 0.75cu.m

C : 1.00cum

D : 125cu.m

179 : How many nominal size bricks are
required for 1m?3 of brick work?

A : 500

B : 600

cC : 700

D : 800

180 : What quantity of coarse aggregate is
required for 100m? of 1:2:4 cement concrete?
A : 8md

B 86 m3
C : 88md
D 90 m?3

181 : Whatis printed list of rates of various
items of work maintained by the engineering
department?

A Schedule of rates

B Analysis of rates

C Item rates

D Market rates

182 : Who prepares the schedule of rates?
A : Engineering department

B Contractors

C Private agencies

D Government agencies

183 : How many mazdoor or helper is required
per mason for brickmark?

A 1

B 15to?2

cC : 3

D 4

184 : Whatisthe process of determining the fair
price or value of a property?

A : Valuation

B : Estimation

C : Fixation

D : Taxation

185 : Whatis the value of dismantled material?
A : Salvage

B Scrap

C Market

D Book

186 : Whatis the amount a property can fetch
from open market?

A : Scrapvalue

B Salvage value

C : Market value

D Book value

187 : Whatisthe annual periodic payment for
repayment of the capital amount invested by a

party?

A : Capital cost
B : Annuity

C : Depreciation
D : Outgoings
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188 : Which cement concrete proportion is used ’
for damp proofing first class building? V= —[A FAYEUA -+ At A ]
A : 1:153 2 A1t An) + 28, Ay n-1)
B : 1:2:4
C : 1:2:6 c
D : 1:4:8
189 : Whatis the minimum height specified for V= E[(A +An)+2A +A_ + Ah )+4(A, +A, +... A
) o 301 3 5 -1 2 4
first class building?
A : 33m
B : 3.7m D
C : 38m D
D : 39m V=E[A1+A2+A3+""+A(n-1)+An]
190 : Which cement concrete proportion is used
for damp proofing second class building? 193 : What material is specified for the plinth of
A : 1:15:3 1st class building?
B : 1:2:4 A : Firstclass brick work in cement mortar 1:6
C : 1:26 B Second class brick work in cement mortar
D : 1:4:8 C : Third class brick work in cement mortar
D Sum dried brick work in mud mortar
191 : Whatis the equation for computation of
volume by trapezoidal formula? 194 : Whatis the area by trapezoidal rule?
A
D [ ] Distance {0 (30 |60 |90 |120 | 150 | 180 | 210
V=—]|A,+A,+A,+ _+A_ _+A
S MT2773 n-17 7N (m)
B : Offset |0 |265]3.80(3.75(4.65]3.60 5001580
Vv s [A AR +2(A, A, 4 A ] (m)
=E 1-»- n+ ( 21— 3?_,_,4- n_1)
A : 764.5m?
¢ B : 770.5m?
o 780.5 m?
D [ | ] D : 790.5m?
Vv =-§- Ay +A, +A3 +....+Ap
b 195 : Whatis the area by Simpsons rule?
D [ Distance | 0 {30 (60 |90 |120 |150 | 180 | 210
V=§-(A1+An)+2(A3+A5+. ..... An_1)+4(A2+A4) (m)
Offset |0265(3.80|3.75(4.65]3.60 500580
m
192 : Whatis the equation for computation of ( )
volume by prismoidal formula? A 717 m?
A B 727 m?
D C 959 m?
. . . - 2
V=E[A1-PA2-PA3-P,,,,9-An_1+An] D 1090 m
B
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196 What is marked as 'x'?
i e

A Optical plummet

B Collimator

C Data out connector

D Bottom plate

197 What is marked as 'x'?

A Objective lens

B Collimator

C Optical plummet

D Data out connector

198 : Whatis marked as 'x'?

o= [ e—
T e

A Top Handle

B Collimator

C Optical plummet

D Data out connector

199 : Which instrument is a combination of

EDM, electronic theodolite and micro processor?
A : Total Station

B : Tacheometer

C : Distomite

D : Tellurometer

200 : Which program is used for erecting
perpendicular line to base line?

A : Stake out

B Free station

C : Reference line

D Tie distance

201 : Which program is used for setting out

points?

A : Resection

B Stake out

C : Reference line
D Remote height
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202 : Which instrument is used to findout the

co-ordinates of a reflection and at the same time 209 : In which conditions, the LCD screen does
measuring the vertical angles? not work?

A : Auto level A : Cold

B Total station B : Hot

C : Theodolite C : Warm

D Transmit theodolite D : Wind

203 : Whatis the name of measurement for 210 : Faulty temperature and pressure
distances taken to a prism on reflecting foil most measurement occurs by which source of error in
accurate? EDM?

A : Precise measurement A : Personal

B Rapid measurement B Instrumental

C : Tracking measurement C : Natural

D Angle measurement D Environmental

204 : Which measurement reduces the 211 : Whatis marked as 'x'?
measurement time to a prism between 0.5 and 1's
for both phase shift and pulsed systems?

A : Precise measurement
B Rapid measurement

C : Tracking measurement
D Angle measurement

205 : Which range can be obtained for a
reflector less measurement taken with a phase shift

system?

A : 50m
B 100 m
C : 150m
D 200m

Replector height
Instrumental height
Height of collimation
Slope height

206 : Whatis the formula for principle of
operation of EDM?

A : Velocity = Time x Distance

B Velocity = Time / Distance

C : Velocity = Distance x Time

D Velocity = Distance / Time

o0 w>»

207 : Whatisthe abbreviation for EDM in
surveying?

A : Electronic Distance Measurement

B Engineering Distance Measurement

C : Electro Discharge Maching

D Electronic Direct Mailing

208 : What s the shape of a single reflector

prism?

A : Cubecorner

B Cuboid corner

C : Circular

D Triangular corner
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212 : Whatis the name of the figure given
below?

X
Pcintp
p
r )
origin Xp X

Rectangular and polar co-ordinates
Polar to cartesian co-ordinates
Rectangular co-ordinates

Polar co-ordinates

OO w >

213 : Whatis the name of the figure given
below?

Y |
ylo — — Py
|
v | y=rsin®
\0 |
| .
0 X X
X =rcos®

Rectangular and polar co-ordinates
Polar to cartesian co-ordinates
Rectangular co-ordinates

Polar co-ordinates

OO w >

214 : What is the name of the figure given
below?

P (r,©)
Pole i
O X
A : Rectangular and polar co-ordinates
B : Polarto cartesian co-ordinates

C : Rectangular co-ordinates
D : Polarco-ordinates
215 : Whatis the formula to findout the sum of

interior angles of a closed polygon traverse?
A : (n-2)x360°
B (n+2)x360°
C : (n-2)x180°
D (n+2)x180°

216 : Which are dedicated to the particular
instrument and can store and process surveying
observation?

A : Datarecorders

B : Pocket calculators

C : Field note books

D : Pen-drives

217 : Whichis fitted with a total station capable
of storing 900 to 10000 points?

A : Memory card

B : Datarecorder

C : Internal memory

D Field computer

218 : Whatis the advantage of Total Station?
:  The instruments costly

Does not provide field note

Direct observation of sum not possible

Greater accuracy in area computation

OO w >

219 : Whatis the disadvantage of Total Station?
:  Automation of old maps

Local language support

Full GIS creation

The instrument is costly

OO w >

220 : Which is the total station with latest
technology?
A : Mechanical

B : Semiautomatic

C : Manual

D : Automatic

221 : Which program is used to determine

polygonal distance?
A : Tiedistance

B : Referenceline
C : Freestation

D : Resection
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222 : Which program is used to determine the
position of new station with reference to two
known points?

A : Free station

B : Tiedistance

C : Remote height

D : Reference line

223 : Where is data stored in Total Station?
A : Pendrive

B Data card

C Micro processor

D External hardware

224 : Whatis the advantage of using EDM?
. Precise measurement of distance

Electronic batteries

Expensive

Accuracy affected by atmospheric condition

OO w >

225 : Whatis the disadvantage of using EDM?

A Capable of measuring long distances
B Precise measurement of distance
C Accuracy affected by atmospheric conditions
D Relectorless are single person operation
226 : Which trigonometrical value is correct?
0
A
A O/H=sinB
B A/H=sinB
C O/A=sinB
D H/O=sin B

227 : Whatis the sum of the interior angles of a
closed polygon traverse that has of 8 sides?

A 720°

B : 1080°
C : 1440°
D : 1800°

228

OO w >

Where the open traverse is used?
Topographic survey
Layout of engineering works
Construction of pipelines
Property measurement
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229 : Which country developed the GPS?

A USA
B India
C Russia
D Italy

230 : Whatis meant by GPS?

. Global Processing System
Global Positioning System
Geographic Positional System
Geographic Processing System

OO W >

231 : What s the orbital height for GPS?

A 10,00 km

B 15,000 km

C 20,180 km

D 24,280 km

232 : Which is the common choice of co-
ordinate for specifying position?

A : Latitude, departure and elevation

B : Latitude, longitude and elevation
C : Northing, southing and easting
D : Southing, azimuths and elevation

233 : What s the distance between the UTM
grid lines on topomaps?

A : 100m

B : 1000 m

C : 2000m

D : 5000m

234 : Where the master control station of
control segment located?

A : Hawaii

B : Colorado

C : Diego Garcia

D : Kwajalein

235 : How many operational satellites are
available in space segment?

A : 24

B : 28

C : 32

D 36

236 : Which segment of GPS consists of
satellite?

A : Control

B Space

C : User

D Navigation

237 : Which segment of GPS consists of
receivers?

A : Control

B : User

C : Space

D : Navigation

238 : Whatis an advantage of GPS survey?
:  High precision

Weather dependent

Night operation only

Site intervisibility required

OO w >

239 : Which is an application of GPS for visually

impaired?

A : MOBIC

B : GIS

C : Ramchers
D : Navigation

240 : Which is an application of GPS for visually
impaired in India?

A : Marine GOS

B : Drishti

C : Ramchers

D : GIS

241 : What is meant by the study of something
without direct contact?

A : Remote sensing

B Geographic information system

C : Tachometry

D Ranging

242 : Whatis marked as 'x'?

TRANGMISSION
TARGET ' X

\ ENERGY SOURCE

A Target
B Energy source
C Sensor
D Transmission
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243 : What s the practice of determining the
geometric properties of objects from photographic

images?
A : Photogrammetry
B Positioning
C : Remote sensing
D Orientation
244 : Whatis the another name for exposure
station?
A : Airstation
: Nadir point

B :
C : Zenith point
D : Horizon point

245 : Whatis an advantage of GPS survey?
: Two dimensional

Three dimensional

Weather dependent

Only day tim operation

OO w >

246 : Whatis an advantage of digital signal?
: High cost

Difficult to control

Noise immunity

Nigidity in response to design

OO w >

247 : Whatis the process of getting digital
equivalent of analog signals for processing?

A : Data acquisition

B Data processing

C : Image recognition
D Pattern recognition

248 : Whatis an advantage of digital over
analog signal processing?

A : Digital system is difficult to reprogramme
B : Digital signal processing provides better
control of accuracy

C : Digital signals are difficult to store without
deterioration

D : More ancient signal processing algorithms
can be used

249 : Whatis the advantage of
photogrammetry?

A : Weather dependent

B Covers large area
C : Costlier

D Complex system

250 : Whatis the advantage for in setup of
instrument photogrammetry?

A : Heavy equipments needed
B Weather dependent

C : Lesstime consuming

D Costlier
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